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AR datazt HBSe] AL MBololy AL AYAelE

2 data® FAs] wEgch
2% Yvwz datay 2eElkle g ¥yl

CARD

//BYTIACRE JOE CLASS=D,HMSGCLASS=X
//JOBCAT DD DSN=CATALOG.USERDMD, DISP=SHR

//7STEP2 EXEC PGM=IDCAMS,REGION=3512K
//SYSPRINY DD SYSOUT=% R .
//DD3 DD UNIT=3350,DISF=SHR, VOL=SER=ROSDE8
7/SYSIN DD . = .
DELETE -
YESAN
DEFINE -~
CLUSTER -
(NAME (YESAN) -
VOLUMES (ROSDEB) -~
FILE(DD3) "~
INDEXED -

RECORDSIZE(150 150) -
FREESPACE(10 $0) -
CYLINDER(2 1) -
SHAREOFTIONS(2:3) -
KEY(§5 0)) -
CATALOG (CATALOG . USERDMD)
/%
//8TEF3 EXEC PLIFCLG
//PLI.SYSPRINT DD SYSOUT=% ’ *
F/PLT.SYSIN DD %
* PROCESS S,GS;
TEST : PROC OPTIONS(NAIN),
DCL DIREC FILE QUTPUT RECORD KEYED SEQUENTIAL ENV(VEAM);
DCL JANG FILE INPUT SEQUENTIAL;
DCL 4 IN_REC,

3 KEY CHAR{13),
5 TITLE CHAR(30), -
5 DATA(10) PIC'(8)~9', . -
5 YEAR PIC (8)-9',
5 CHECK CHAR(1),

- 3 FILLE _CHAR(S);

DCL (MORE", YES) BITC(4) INITC('O? B),

NO BIT(4) INIT('§'B);

OPEN FILE(DIREC} JFILECGJANG) ;

ON ENDFILE(JANG) MORE=NO;

READ FILECJANG) INTOCIN_REC);

DO WHILE(MORE=YES);
WRITE FILE(DIREC) FROM(IN_REC) KEYFROM(KEW);
READ FILEC(JANG) INTD(IN ~REC);

END;

CLOSE FILEC(DIREC), FILE(JANG).

END TEST;

0
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1214242442
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DCE=(RECFH=FB,LRECL=150,BLKSIZE=150) ,SPACE=(TRK, (20,5))

DD *
8089
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WJDDORTNEKD
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S .

WLAKDXHDRP TKANTHGODW JDWLDNJS
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=2 1% SOURCE LIST

1. YSPGM 1 roeeveccnrireeennns 67
2. YSPGM 2 ceeeverrreereeeraannn 68
3. YSPGM 2] «ovvemenrenvenennen 69
4. YSPGM3 ceeveeerverevnsonenn 76
5. YSPGM4 ceeeervereemrecninnns 79
6. YSPGMA4] +vrvevecnrercenrannas 80
7. YSPGM 42 «+orerveneensennennns 85
8. YSPGM43 -ccoevrnearanennernnn 91
9. YSPGM 44 ecvvrvrerrensacnnnee 97
10 . YSPGMA45 oercerecerocrnrannn. 103
11, YSPGM 4B -ereerenereencncennns 107
12 . YSPGM 47 -ovveeeeoreercncannnns 112

13.
4.
15.
16.
17.
18.
19.
20 .
21.

22.

YSPGMA48 +eveveerereenrnraennn 118
YSPGMB]L «eeeveveraverenceneen 125
YSPGMBED ceeveeenererennniaees 132
YSPGMB53 creveeveveneeneennene 139
YSPGMB54 coveereecvavanannnnns 146
YSMAPQ  ceceercerervennnnnens 154
YSMAP]  creerersevsrancennn 155
YSMAP2  ceeveeemrmerennnnans 156
YSMAPS  cereeeeveeerrneenens 159
YSMAPY  cecveerecevnvnnnnnnn. 160




B17,86.325,13:34:44,B47.PROGRAM.LIBRARY(YSPGM1)

//7B{7JAFGH JOB  CLASS=J,MS@CLASS=X
//TESTH EXEC CICSPLI,MBR=YSPGM1{

//TRN.SYSIN DD »

% PROCESS GS,NEST, INCLUDE;
YSPGMi: PROC OPTIONS(MAIN,REENTRANT);

DCL 1 COM_REGION,
* SELAKEY
SEL2KEY
SEL3KEY
SELAKEY
INKEY
SAVEKEY
DCL (MORE INIT('A
XINCLUDE YSMAPO,
EXEC CICS HANDLE
EXEC CICS IGNORE
EXEC CICS HANDLE
DO UWHILE(MORE=YES);

PR

CHAR(1),
CHAR(1), .
CHARC(1),
CHAR{1),
CHAR(10),
CHAR(4) ; I
YBY,YES INITC'1'E),NO INITC'O'B)) BIT(1),

CONDITION ERROR(JOBEND) ;
CONDITION MAPFAIL;
AID CLEAR(JOBEND);

STRING(COM_REGION)="' '; NO{I=' *;
EXEC CICS SEND MAF('YSMAPO') ERASE;

EXEC CICS RECEIVE
SELIKEY=NO{I;
SELECTI(NOYII);
WHENC(*§ ')
. EXEC CICS
WHENC'2')
EXEC CICS
WHENC'3 ")
EXEC CICS
OTHERWISE;
END; -
END; 4 Sauialabaiate
JOREND :
MORE=NG; B
EXEC CICS RETURN;
END YSFGNMI;
Ve
14

MAP (' YSHAPO');

LINK PROGRAM('YSPGM4*) COMMAREA(COM_REGION);
LINK PROGRAM('YSPGM2') COMMAREA(COM_REGION),
LINK PROGRAMC'YSPGM3') COMMAREA(COM_REGION);

END MAIN -~-——m- ®/

o




Bi17,86.325,13:34:55,B17.PROGRAM.LIBRARY(YSPGM2)

//BiTJAPGH JOB  CLASS=J,MSGCLASS=X
//TESTH EXEC CICSPLI,MBR=YSPGM2
//TRN.SYSIN DD =
* PROCESS GS,NEST, INCLUDE;
YSPGM2: PROC(P) OPTIONS(HAIN REENTRANT) ;
DCL P POINTER,
1 COM_REGION BASED(F),
2 SELYKEY CHAR(1),
2 SELZKEY CHAR(1),
2 INKEY ‘CHAR(12),
2 SAVEKEY CHAR(4);
DCL (MORE INIT('4'B),YES INIT('4'E),NO INITC'O'B)) BIT(i);
DCL ERRMSG - CHAR(BO); .
XINCLUDE YSMAPY;
EXEC CICS HANDLE CONDITION ERROR(.JOBEND);
EXEC CICS IGNORE CONDITION MAFFAIL;
EXEC CICS HANDLE AID CLEAR(JOBEND),
DO WHILE(HMORE=YES);
STRING(COM_REGION)=' ', NOI=' *;
EXEC CICS SEND MAP('YSMAP{') ERASE;
_ EXEC CICS RECEIVE MAP('YSMaP{');
SEL2KEY=NOI;
SELECT(NOI);
WHENC'1*) SAVEKEY='41211";
WHEN('2') SAVEKEY='§212';
WHEN('3') SAVEKEY='1213’;
WHEN('4') SAVEKEY='1214";

OTHERWISE;
END;
EXEC CICS LINK PROGRAM('YSPGM2{') COMMAREA(COM_REGION);
END; . I Hm——mme— END MAIN e */
JOBEND :
MORE=NQ;

EXEC CICS RETURN;
END YSPGM2;
/%
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/,’* B17,86.325,43:35:07,B47 FPROGRAM.LIBRARY (YSPGM21)

/7B 7JAPGHM JOB CLASS=G,MSGCLASS=X
//TESTH EXEC CICSPLI,MBR=YSPGM21
//TRN.SYSIN DD *
* PROCESS GS,NEST, INCLUDE;
YSPGM2§: PROC(P) OPTIONS(MAIN,REENTRANT);
DCL P POINTER, .
1 COM_REGION . BASED(PJ,

2 SELiKEY CHARCH),
2 SEL2KEY CHAR(Y) ,
2 INKEY CHAR(12),
2 SAVEKEY CHAR(4) ;
.DEL 1 INREC,
2 KEY CHAR(15),
2 TITLE CHAR(30),
2 DATAC16)  PIC'(B)~9',
2 YEARDATA PIC'(8)-9',
2 CCHEK CHARCY),
2 FILL . CHAR(S)
DCL 1 SAVEAREA BASED(ADDR(YSHAP251)> UNALIGNED,
3 FILLERY CHAR(39),
3 REUSE(18),
5 CODEL FIXED RINC15,0),
5 CODEF CHAR(S),
5 CODEO CHARC11),
S TITLL © FIXED BINCiS,0),
S TITLF . CHAR(S),
5 TITLO CHAR(24),
5 DATAL FIXED BIN(45,0),
5 DATAF CHAR(S),
5 DATAD CHAR(9),
5 DATBL FIXED BIN(i5,0),
5 DATHF CHAR(S),
5 DATBO CHAR(9),
5 DATCL FIXED BIN(15,0),
5 DATCF CHAR(S),
5 DATCO CHAR(9);
DCL (MORE INIT('§'B),YES INIT('$'B),ND INITC'O'E)) BIT(H);
DCL LEN FIXED BINCIS) INIT(88),
10MSG EHAR(B0) ;
DCL CAP PIC 99,

- MOVEKEY(18) CHAR(1 1),
(OLDDATA, NEWDATA) PIC'(8)-9",
BLDC4) PIC (B)-9',
YEAR(10) PIC 99,
(FROMY, TOY, GIGAN, PIC) PIC'99',
(START,LAST) CHAR(11),

ZINCLUDE YSMAP2,BTLAST;
EXEC CICS HANDLE .CONDITION ERROR(JOBEND);
EXEC CICS IGNORE CONDITION MAPFAJL NOTFND ENDFILE;
EXEC CICS HANDLE AID CLEAR(JOBEND);
_ KEY=' ;" START=' ',
EXEC CICS STARTER DATASET('YESAN') RIDFLD(KEY) GTER;
EXEC CICS READNEXT INTO(INREC) DATASET('YESAN') RIDFLD(KEY):
FROMY=SUBSTR(TITLE,{,2);
TDY*SUBSTR(TITLE.B,E);
GIGAN=TOY-FROMY+1;
YEARCE)=FROMY;:
DO .I= 2 TO GIGAN;
YEAR(I)=FROMY+I-1;
END;
DO WHILE(MORE=YES);
CALL SENDMAF;
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SELECT(SUBSTR(RUMI,{,4)); -
WHENC'M') CALL MODIFY_RTN;
WHEN('U') CALL BACK_KTN;

WHEN('D') CALL DELETE_RTN;
WHEN('K') START=SUBSTR(NUMI,2,14);
WHENC'I*,'#') CALL INSERT_RTN;
WHENC'Y') TOY=SUBSTR(NUMI,?2,2);
WHEN{'V') DO; CALL READ_RTN(B,11);
TALL READ_RTN(7,8);
CALL READ_RTN(6,7);
CALL READ_RTN(5,6);
CALL READ_RTN(4,5);
END;
. WHEN('E*') MORE=NO;
OTHERMISE START=LAST;
END; .
END;
JOBEND :
EXEC CICS ENDER DATASET('YESAN');
EXEC CICS RETURN;

SENDMAP: PROCEDURE, ‘
CODEO=" *; TITLO=' '; DATAO=' '; DATBO=' '; DATCO=' *'; -
YEAR10=' '; YEAR20=' '; YEAR3O0=' ',

FIC=TOY-2;
YEAR10=PIC;
PIC=TOY-1;
YEAR20=PIC;
YEAR3O=T0Y;
DO I=1 TO 10;
IF PIC-{=YEAR(I) TﬂEN CAP=1;
END;
KEY=SAVEKEY| | START;
EXEC CICS RESETEBR DATASET('YESAN') RIDFLD(KEY)‘GTEQJ
EXEC CICS READNEXT INTOCINREC) DATASET('YESAN') RIDFLD(KEY),
I=1;
o]¢} UHILE(I(19 & SUBSTR(KEY, 1,4)=SAVEKEY &
SUBSTR(EIBRCODE 4,4 ¥7"=RENDFILE);
MOVEKEY (I)=SUBSTR(KEY,5,44);
CODEO(I)=SUBSTR(KEY, S, 11).
TITLOCI)=TITLE;
DATAG(I)=DATA{CAF);
DATRO(X)=DATA(CAP+1);
DATCO(I)=DATA(CAF+2);

I=I+4;
EXEC CICS READNEXT INTOCINREC) DATASET('YESAN') RIDFLD(KEY);
END; ‘ o

START=MOVEKEY(1);
LAST=MOVEKEY(I=1);
NUMO=' *;
SELECT(SEL2KEY),
WHEN('1') EXEC CICS SEND MAP('YSMAP21') MAPSET{'YSMAP2') ERASE;
WHEN('2') EXEC CICS SEND MAP('YSMAP22') MAPSET('YSMAP2') ERASE;
WHEN{'3') EXEC CICS SEND MAP(’'YSMAP23'): MAPSET{'YSMAP2') ERASE;
WHEN('4') EXEC CICS SEND HAP('YSMAP24 ) MAPSET('YSMAF2') ERASE;
OTHERWISE;
END;
EXEC CICS SEND MQP(‘YSHAP25‘) HAPSET(’YSHAPQ').
EXEC CICS RECEIVE MAP('YSMAP25') MAPSET('YSMAF2');
END SENDHAP;

BACK_RTN: PROCEDURE;

e
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KEY=SAVEKEY} | START? : \

EXEC CICS RESETBR DATASET('YESAN') RIDFLD(KEY) GTEQ;

I=4%;

DO UNTIL(I>$8 | SURSTR(EIBRCODE,{,1)=RENDFILE);
EXEC CICS READFREV INTO(CINREC) DATASET('YESAN') RIDFLD(KEY);
I=I+1;

END;

START=SUBRSTR(KEY,S, 11)

END BACK_RTN;

MODIFY_RTN: PROCEDURE;
EXEC CICS ENDBR DATASET('YESAN');
DO I=1 TO 8,
IF TITLLC(ID>@ THEN ,
DO; KEY=SAVEKEY| {MOVEKEY(I); «
EXEC CICS READ INTOCINREC) DATASET('YESAN')
: UPDATE RIDFLD(KEY);
TITLE=TITLOC(I);
CEXEC CICS REWRITE DATASET('YESAN'). FROM(INREC);
END;
IF DATAL(I))8 THEN )
DO; KEY=SAVEKEY| |MOVEKEY(1); ’
EXEC CICS READ INTO(INREC) DATASET('YESAN')
UPDATE RIDFLDCKEY) ;"
IF SUBSTR(NUMI,2,2)7=' ' & SUBSTR(NUMI,2,2)=YEAR(CAF)
) THEN YEARDATA=DATAO(I);
. OLDDATA=DATA(CAF) ;
NEWDATA=DATAD(I);
DATA(CAP)=DATAO(I);
EXEC CICS REWRITE DATASET('YESAN'). FROﬁ(INREC),
IF SUBSTR(MOVEKEY{(I}),4,3)7=* * & i
SUBSTR(MOVEKEY(1),7,2) =* ' THEN
DO; KEY#SAVEKEYlISUBSTR(HUVEKEY(I),1,3)II' '
EXEC CICS READ INTOCINREC) DATASET('YESAN')
UPDATE RIDFLD(KEY);
IF SUBSTR(NUMI,2,2)7=' ' &
SUBSTR{NUMI,2,2) =YEAR(CAP)
THEN YEARDATA=YEARDATA-OLDDATA+NEWDATA;
DATA(CAP)=DATALCAP)~OLDDATA+NEUWDATA;
EXEC CICS REWRITE DATASET('YESAN') FROM(INREC);
KEY=SAVEKEY| | SUBSTR(MOVEKEY(I), 4, 2) 1011 7,
EXEC CICS READ INTOCINREC) DATASET('YESAN')
UPDATE RIDFLD(KEY),
IF SUBSTR(NUMI,2,2)7=' ' &
SUBSTR(NU“I:L.:) =YEAR(CAP)
THEN YEARDATA=YEARDATA-OLDDATA+NEWDATA;
DATACCAP)=DATA(CAP)-OLDDATA+NEWDATA,;
EXEC CICS REUWURITE DATASET(*YESAN') FROM(INREC);
KEY=SAVEKEY | ISUBSTR(MOVEKEY(I),¢,4)11'00° 11"’ *;
EXEC CICS READ INTOCINREC) DATASET('YESAN')
UPDATE RIDFLD(KEY?);
IF SUBSTRONUMI,2,2)7=' ! &
SUBSTR(NUMI,2,2) =YEAR(CAP)
THEN YEARDATA=YEARDATA-OLDDATA+NEUWDATA;
DATA(CAP)=DATA{CAP)~OLDDATA+NEUWDATA;
EXEC CICS REWRITE DATASET('YESAN') ?ROH(INR&C):
KEY=SAVEKEY; .
EXEC CICS READ INTOCINREC) DATASET{(’YESAN')
UPDATE RIDFLD(KEY);
IF SUBSTR(NUMI,2,2)7=' "' &
SUBSTR(NUMI, 2,2) =YEAR(CAP) {
THEN YEARDATA=YEARDATA-OLDDATA+NEUDATA;

J
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DATA(CAF)=DATA(CAF)-OLDDATA+NEWDATA;
EXEC CICS REWRITE DATASET('YESAN') FROM(INREC);
END;
END;
IF DATBL(I)>0 THEN
DO; KEY=SAVEKEY| IMOVEKEY(I);
EXEC CICS READ INTO(INREC) DATASET('YESAN')
UPDATE RIDFLD(KEY);
IF SUBSTR(NUMI,2,2)7=' ' & SUBSTR(NUMI,2,2)=YEAR(CAP+1)
THEN YEARDATA=DATERO(I);
OLDDATA=DATA(CAF+4) ;
NEWDATA=DATRO(I);
DATA(CAP+1)=DATKO(I1);
EXEC CICS REWRITE DATASET('YESAN') FROM(INREC);
IF SUBSTR(MOVEKEY(I),4,3)7="' ' &
SUBSTR(MOVEKEY(I),7,2) =' ' THEN
DO; KEY=SAVEKEY]||SUBSTR(MOVEKEY(IL),%,3}{}"' ';
EXEC CICS READ INTOCINREC) DATASET('YESAN')
. UPDATE RIDFLD(KEY),
IF SUBSTR(NUMI,2,2)7=' ' &
SUBSTR(NUMI, 2,2) =YEAR(CAP+1)
THEN YEARDATA=YEARDATA-OLDDATA+NEWDATA;"
DATA(CAP+1)=DATA(CAP+1)-OLDDATA+NEWDATA;
EXEC CICS REWRITE DATASET('YESAN') FROM(INREC);
KEY=SAVEKEY | | SUBSTRC(MOVEKEY(I),4,2) 101§’ ',
EXEC CICS READ INTO(INREC) DATASET('YESAN')
UPDATE RIDFLD(KEY);
IF SUBSTR(NUMI,2,2)7=' ' &
SUBSTR(NUMI, 2,2) =YEAR(CAP+1{)
THEN YEARDATA=YEARDATA-OLDDATA+NEWDATA;
DATA(CAP+1)=DATA(CAFP+1)-OLDDATA+NEWDATA;
EXEC CICS REWRITE DATASET('YESAN') FROM(INREC);
KEY=SAVEKEY | | SUBSTR(MOVEKEY(I),§,1)(1'00"'}1}"' ',
EXEC CICS READ INTOCINREC) DATASET('YESAN')
UPDATE RIDFLD(KEY);
IF SUBSTR(NUMI,2,2)7=' ' &
SUBSTR(NUMI,2,2) =YEAR(CAP+1)
THEN YEARDATA=YEARDATA~OLDDATA+NEWDATA;
DATA(CAP+14)=DATA(CAP+1)~-OLDDATA+NEWDATA; 4
EXEC CICS REWRITE DATASET('YESAN') FROM(INREC);
KEY=SAVEKEY ; .
EXEC CICS READ INTOCINREC) DATASE¥ ('YESAN')
UPDATE RIDFLD(KEY);
IF SUBSTR(NUMI,2,2)7=' ' &
SUBSTR(NUMI , 2,2) =YEAR(CAP+1)
THEN YEﬂRDATA=YEARDATQ‘OLDDATA+NEUDAT“i
DATA(CAP+1)=DATA(CAFP+{)-OLNDATA+NEWDATA;
EXEC CICS REWRITE DATASET(SYESAN') FROM(INREC) ;
END; ' .
END;
IF DATCL(I)>0® THEN
DO; KEY=SAVEKEY| IMOVEKEY(I);
EXEC CICS READ INTOCINREC) DQTASEI( YESAN')
UPDATE RIDFLD(KEY);
IF SUBSTR(NUMI,2,2)7=' ' & SUBSTR(NUMI,Z2,2)=YEAR(CAF+2)
THEN YEARDATA=DATCO(I);
OLDDATA=DATA(CAP+2) ;
NEWDATA=DATCO(I);
DATA(CAFP+2)=DATCO(I);
EXEC CICS REWRITE DATASET('YESAN' ) FROM(INREC) ;
IF SUBRSTR(MOVEKEY(I),4,3)7=" ' & |
SURSTR(MOVEKEY(I),7,2) =' ' THEN ~




DO; KEY=SAVEKEY] |SURSTR(MOVEKEY(I), 1,311 * —‘\\
EXEC CICS READ INTO(INREC) DATASET('YESAN')
UFDATE RIDFLD(KEY);
IF SUBSTR(NUMI,2,2)™=’ ' &
SUBSTR(NUMI,2,2) =YEAR(CAF+2)
THEN YEARDATA=YEARDATA-OLDDATA+NEWDATA;
DATA(CAP+2)= DATA(CAF+2)~OLDDATA+NEWDATA;
EXEC CICS REWRITE DATASET(® YESAN ) FROM(INREC);
KEY=SAVEKEY | | SURSTR(MOVEKEY(I),4,2)11'0' 1 {" *;
EXEC CICS READ INTOCINREC) DATASET('YESAN')
UPDATE RIDFLD(KEY);
IF SUBSTR(NUMI,2,2)7=' ' &
SUBSTR(NUMI,2,2) =YEAR(CAP+2
THEN YEARDATA=YEARDATA- 0LDDATA+NEUDhTﬁ;
DATA(CAP+2)=DATA(CAP+2)~0LDDATA+NEWDATA;
EXEC CICS REWRITE DATASET('YESAN') FROM(INREC);
KEY=SAVEKEY | | SUBSTR(MOVEKEY(I) ,4,4)}['00'||"' *;
EXEC CICS READ INTO(CINREC) DATASET('YESAN')
UPDATE RIDFLD(KEY);
IF SUBSTR(NUMI,2,2)7=' ' &
SUBSTR(NUHI, 2,2) =YEAR(CAP+2D)
THEN YEARDATA=YEARDATA-OLDDATA+NEWDATA;
DATA(CAP+2)=DATA(CAP+2)-OLDDATA+NEUWDATA;
EXEC CICS REWRITE DATASET('YESAN') FROH(INREC),
KEY=SAVEKEY;
EXEC CICS READ INTO(INREC) DATASET('YESAN')
UPDATE RIDFLD(KEY);
IF SUBSTR{NUMI,2,2)7=" ' &
SUBSTR(NUMI,2,2) =YEAR(CAF+2)
THEN YEARDATA-YEQRDATA‘OLDDATA+NEUDATAs
DATA(CAP+2)=DATA{CAP+2) ~-OLDDATA+NEUWDATA;
EXEC CICS REWRITE DATASET('YESAN') FROMCINREC);
END;
END;
END;
EXEC CICS UNLOCK DATASET('YESAN');
KEY=SAVEKEY;
EXEC CICS STARTER DAYQSET( YESAN') RIDFLD(KEY) GTEQ;
END MODIFY_RTHN; :

DELETE_RTN: PROCEDURE;
EXEC CICS ENDER DATASET('YESAN');
DO I=1 YO 48;
IF CODEL<I)>® & CODEO(I)=' ' THEN
DO; KEY=SAVEKEY!] IMOVEKEY(1);
EXEC CICS READ INTOCINREC) DATASETC('YESAN®)
. UFDATE RIDFLD(KEY);
DO I= {1 TO 10,
OLD(I)=DATA(I);
ERD; *
OLD(41)=YEARDATA;
EXEC CICS DELETE DATASET('YESAN');

IF SUBSTR(MOVEKEY(I),4,3)7=' ' &
SURSTR(MOVEKEY(I),7,2) ="' ' THEN
DO; KEY=SAVEKEY||SUBSTR(MOVEKEY(I), 4,301 '

EXEC CICS READ INTOC(INREC) DATASET(‘YESQN')
UPDATE RIDFLD(KEY); 3
DO I= ¢4 VO 10;
DATA(I)=DATA(I)-OLD(I);
END;
YEﬁRDATﬁ=YEARDATA—DLD(11).
EXEC CICS REWRITE DATASET( YESAN') FROM(CINREC),

J
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KEY=SAVEKEY | | SUBSTR(MOVEKEY (X)), 1, 2) 1’6" 1" ™, —\\\
EXEC CICS READ INTOCINREC) DATASET('YESAN')
UPDATE RIDFLD(KEY);
DO I= 4 TO 10,
DATA(I)=DATA(I)-0LD(I);
END;
YEARDATA=YEARDATA~-OLD(114);
EXEC CICS REWRITE DATASET('YESAN') FROMCINREC);
KEY=SAVEKEY | | SUBSTR(MOVEKEY(I),4,1)11'00' )" *;
EXEC CICS READ INTO(INREC) DATASET('YESAN')
UPDATE RIDFLD(KEY);
DO I= {1 TO 10;
DATA(I)=DATA(I)-0LD{(I);
END;
YEARDATA=YEARDATA~-OLD(14);
EXEC CICS REWRITE DATASET('YESAN') FROM(INREC);
KEY=SAVEKEY|!*' ';
EXEC CICS READ INTOC(INRED) DATASET( YESAN')
UFPDATE RIDFLD(KEY);
DO I= t TO 10;
DATA(I)=DATACI)-OLD(I);
END;
YEARDATA=YEARDATA-OLD(11);
EXEC CICS REWRITE DATASET('YESAN') FROM(INREC) ;

END;
ERMSGO= KEYII'DELETE O.K, e,
END;
END;
EXEC CICS UNLOCK DATASET('YESAN'); < -
KEY=SAVEKEY;

EXEC CICS STARTBR DATASET('YESAN') RIDFLD(KEY) GTEQ;
END DELETE_RTN;

INSERT_RTN: PROCEDURE; .
EXEC CICS ENDER DATASET('YESAN'); o
KEY=SAVEKEY| i SUBSTR(NUMI,2,41);

TITLE=' '; DATA=0; YEARDATA=0;

IF SUBSTR(MUMI,{,4)="%' THEN CCHEK='=»',
ELSE CCHEK=' ';

EXEC CICS WRITE FROM(INREC) DATASET('YESAN') RIDFLD(KEY);

ERMSGO=KEY || 'INSERT Q.K. '!terreer,

START=SUESTR(NUMI,2,14);

EXEC CICS UNLOCK DATASET('YESAN');

KEY=SAVEKEY; v

EXEC CICS STARTER DATASET('YESAN') RIDFLD(KEY) GTEQ;

END INSERT_RTN;

READ_RTN: PROCEDURE (CHEK, ZER);

DEL - (CHEK, ZER) FIC'99', -

(Ki,K2) PIC'?",

SKEY CHAR({13),

NUJEK (11) PIC'(8)-9' INIT(O);
KEY='1200";

EXEC CICS RESETER DATASET('YESAN') RIDFLD(KEY) GTEQ;
EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY);
DO WHILE(SUBSTR(EIRRCODE,1,1) =RENDFILE);
EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY);
END;
EXEC CICS RESETBR DATASET('YESAN') RIDFLD(KEY) GTEQ;
EXEC CICS READPREV DATASET('YESAN') INTOCINREC) RIDFLD(KEY);
DO WHILE(KEY™=' '),
SKEY=TRANSLATE(KEY,'0',‘ 'Y




Ki=SUBSTR(SKEY, CHEK, 1) ; :
K2=SUBSTR(SKEY, ZER, 1)
IF Ki7=0 & K2=0 THEN
DO; NUJEK (11)=NUJEK($4)+YEARDATA;
DO I={ TO 10;
NUJEK (1)=NUJEK (1) +DATA(I);
£ND;
END; ELSE
IF Ki =6 & K2=0 THEN
DO; EXEC CICS ENDER DATASET('YESAN');
EXEC CICS READ INTO(INREC) DATASET(’YESAN')
UPDATE RIDFLD(KEY);
YEARDATA=NUJEK (11);
DO I=f TO 10;
DATACI)=NUJEK (1) ;
END; )
EXEC CICS REWRITE DATASET('YESAN') FROM(INREC);
EXEC CICS STARTER DATASET('YESAN') RIDFLD(KEY) GTEQ;
EXEC CICS READPREV DATASET('YESAN')
INTDCINRES) RIDFLDC(KEY);
NUJEK=0;
END;
EXEC CICS READPREV DATASET('YESAN') INTOCINREC) RIDFLD(KEY),
END;
END READ_RTN;
END YSFGM21
/%
/7
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//’—317,86.325,13:35:17.Bi7.:ROGRAH.LIBRARY(YSPGﬁS)

//7B17JAPGHM JOR CLASS=J,MSGCLASS=X
-/ /TESTH EXEC CICSPLI,MER=YSFPGM3
//TRN.SYSIN DD =
#* PROCESS GS,NEST, INCLUDE;
YSPGM3: PROC(P) OPTIONS(MAIN,REENTRANT);
DCL P POINTER,
i COM_REGION BASED(P) ,.
2 SELIKEY CHAR (1),
2 SEL2KEY CHAR (1),
2 INKEY CHAR(12),
2 SAVEKEY CHARC4) ; !
DCL. 4 INREC,
~

. 2 KEY CHAR(15),
2 TITLE CHAR(30),
2 DATA(1Y) PIC'(8)-9',, L
2 CHECK CHARC(Y),
2 SFDGGFS CHAR(S) ;
DCL. 1 SAVEAREA BASED(ADDR(YSMAP3I)) UNALIGNED,
3 FILLER{ CHAR(3%),

3 REUSED(i0),

5 YEARL FIXED RIN({5,0),
5 YEARF CHAR(S),
5 YEARD CHAR(2),
5 DOLLL FIXED BIN(i5,0),
5 DOLLF CHAR(3),
5 DOLLO CHAR(9);
DCL (MORE INITC'{ H),YES INITC'{'H),NO INIT('O'B)Y) BIT(1);
DCL (CAP,FIC) PIC' 99", ’
(YEARSAVE, YEARSAVE2) PIC'99",
YY{10) PIC'99';
DCL LEN FIXED BINC(15) INIT(B®),
IOMSG CHAR(80);
ZINCLUDE YSMAFP3,
EXEC CICS HANDLE CONDITION ERROR(JOBEND); *

EXEC CICS IGNORE CONDITION MAPFAIL;
EXEC CICS HANDLE AID CLEARCJOBEND);
KEY="' *; .
EXEC CICS STARTER DATASET('YESAN') RIDFLD(KEY) GTER;
EXEC CICS READNEXT INTO(INREC) DATASET('YESAN')
RIDFLD(KEY);
DO WHILE(MORE=YES);
FROMYO=SUBSTR(TITLE,1,2); ’
TOYO=SUBSTR(TITLE,3,2); . .
YYEARO=SUBSTR(TITLE,S5,2};
PIC=SUBSTR(TITLE,$,2);
YEARO{1)=PIC;
DOLLOC1)>=DATA(1);
PO I=2 TO 190;
PIC=PIC+Y;
YEAROC(I)=FIC;
DOLLOCI)=DATA(I);
END;
© EXEC CICS SEND MAP('YSMAFP3') ERASE; -
EXEC CICS RECEIVE MAP('YSMAF3');
IF FROMYL >0 THEN
DO; KEY=' ';
EXEC CICS READ INTOCINREC) DATASET('YESAN')
UFPDATE RIDFLD(KEY);
YEARSAVE=SUBSTR{TITLE,$,2);
YEARSAVER=FROMYO;
IF YEARSAVE < YEARSAVE2 THEN
DO; SUBSTR(TITLE,1,2)=FROMY0;
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PIC=FROMYO+9;
SUBSTR(TITLE,3,2)=PIC;
EXEC CICS REWRITE FROM(INREC) DATASET('YESAN');
CALL DATA_NOVE;
END;
END;
IF YYEARL >0 THEN .
DG; KEY=' ', . ~
EXEC CICS READ INTOC(INREC) DATASET('YESAN'}
UPDATE RIDFLD(KEY);
SUBSTR(TITLE,S,2)=YYEARO;
EXEC CICS REWRITE FROMCINREC) DATASET('YESAN');
END;
b0 I=1 TO 10,
IF DOLLL{I)>O THEN
DO; KEY='® *;
EXEC CICS READ INTOCINREC) DATASET('YESAN')
UPDATE RIDFLD(KEY);
DATACI)=DOLLO(I);
. EXEC CICS REWRITE FROM(INREC) DATASET('YESAN');
END;
END;
KEY=' ';
EXEC CICS RESETER DATASET('YESAN') RIDFLD(KEY) GTEQR;
EXEC CICS READNEXT INTO(INREC) DATASET('YESAN')
RIDFLD(KEY);

END; VA3:33 279 DO WHILE END sxeaxxxxs/
DATA_MOVE: FROCEDURE;
KEY=' ',

EXEC CICS HANDLE CONDITION ENDFILE(ENDF);
EXEC CICS READ INTOCINREC) DATASET('YESAN')

Do NHILE(KEY“=HIGH(15));

/%

ENDF

UPDATE RIDFLD(KEY)%

YY{(4)=YEARSAVE;
DO I=2 TO 10;

YY(I)=YEARSAVE+I~-1{;
END;
DO I=1 TO 190,

IF YY(I)=YEARSAVE2 THEN CAP=I;
END; .
Do I=% TO {0,

DATA(I)=DATA(CAF); . >

CAP=CAP+1; rs

IF CAF 10 THEN DO, J=I+1; I=14; END,
END; .
PO I=J TO 10;

DATA(I)=0;
END;
EXEC CICS REUWRITE FROM(INREC) DATASET('YESAN');
TOMSG=YEARSAVE L I SUBSTR(TITLE,4,2) 1 {DATACH) L IDATA(2) | IDATA(3);
EXEC CICS SEND FROM(IOMSG) LENGTH(80) ERASE;
EXEC CICS RECEIVE INTOCIOMSG) LENGTH(LEN); */
EXEC CICS READNEXT INTO(INREC) DATASET('YESAN') RIDFLD(KEY);
EXEC CICS READ INTO(INREC) DATASET('YESAN')

. UPDATE RIDFLD{(KEY);

‘e

END;

KEY=HIGH(15),

RETURN;
END DATA_MOVE;

JOBEND :




MORE=NO;
EXEC CICS ENDBR DATASET('YESAN');
EXEC CICS RETURN;

END YSPGM3;

/%
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B17,86.325,¢3:35:28, B{7.PROGRAM.LIBRARY (YSPGMA)

//Bi7JAFPGM JOB  CLASS=J,MSGCLASS=X
//TESTH EXEC CICSFLI,®EBR=YSFGM4
//TRN.SYSIN DD %
* FROCESS GS,NEST, INCLUDE;
YSFGM4: PROC(P) OPTIONS(MAIN,REENTRANT);
DCL F POINTER,
{ COM_REGION BASED(P),

2 SELAKEY CHARC(1),
2 SELZKEY CHARC1),
2 INKEY CHAR(12),
2 SAVEKEY CHAR(4);

DCL (MORE INITC'{'B),YES INITC'§'B),NO INITC'O'E))
XINCLUDE YSMAF4; .
EXEC CICS HANDLE CONDITION ERROR(JOBEND);
EXEC CICS IGNORE CONDITION MAPFAIL;
EXEC CICS HANDLE AID CLEAR(JOBEND);
DO WHILE(MORE=YES); )
STRING(COM_REGIONY=* *; SELI=' '; SEL2I=' ',
EXEC CICS SEND MAP('YSMAPA{') MAPSET('YSMAPA') ERASE;
EXEC CICS SEND MAP('YSMAPA2') MAPSET('YSMAFPA')
EXEC CICS RECEIVE MAP('YSMAPA2') MAPSET('YSMAP4');
SELECT(SELI);
WHEN(*A') DO;
SELECT(SEL21);
WHENC' 4 ")

BIT(4),

END;

EXEC CICS LINK
WHEN('2") :
EXEC CICS LINK
WHEN(C'3') .
EXEC CICS LINK
WHEN('4')
EXEC CICS LINK
OTHERWISE;
END;

END;
WHENC'B') DO;

SELECT(SEL2I);
WHENC' 1)
EXEC CICS LINK
WHEN('2')
EXEC CICS LINK
WHEN('3') ‘

- EXEC CICS LINK

WHEN('4')

EXEC CICS LINK
WHENC('S")

EXEC CICS LINK
WHEN('6")

EXEC CICS LINK
WHEN('7') -

EXEC CICS LINK
WHENC('8')

EXEC CICS LINK
OTHERWISE;

PROGRAM( ' YSPGM51 ')

PROGRAM( ' YSPGM52')

PROGRAM( ' YSPGM53')

PROGRAM('YSPGM54°)

PROGRAM(' YSPGM41 ')
PROGRAM (' YSPGMA2')
PROGRAM( ' YSPGMAZ')
PROGRAM(' YSPGM44 ')
PROGRAM( ' YSPGMAS ')
PROGRAMC('YSPGM44 ')
PROGRAMC ' YSPGM47"')
PROGRAM( ' YSPGMAB' )

COMRAREA(COM_REGION) ;
COMMAREA(COM_REGION) ;
COMMAREA (COM_REGION) ;
COMMAREA(COM_REGION) ;

COMMAREACCOM_REGION) ;
CUHMAREA(COH_REGION):
COMMAREA(COM_REGION);
COMMAREA(COM_REGION);
COMMAREACCOM_REGION) ;
CDHASREA(COH_REGION);
COMMAREA(COM_REGION) ;
COHHAREA;COH-REGIDN);

END;
OTHERWISE;
END;
JOREND :
MORE=NO;
EXEC CICS RETURN;
END YSPGM4,;

/xexx%% DD WHILE END

(1331311174

_.79__




-

//BYTJAPCM JDE CLASS=F,RsccLass=x
//TESTH EXEC CICSFLI,HER=YSPGHA{
//TRN.SYSIN DD *
% PROCESS GS,NEST, INCLUDE;
YSPGMA1 :
BCL P POINTER,
t COM_REGION BASED(P),

///77 B17,86.325,13:35:39,R17.PROGRAM.LIBRARY (YSPGH41)

FROCCP) OFTIONS(MAIN,REENTRANT);

B),NO INITC('O'R)) BIT(1);

} RIDFLD(KEY) GT%Q; :

2 SELKEY CHAR(1), '
2 SEL2KEY CHAR(1),
2 INKEY CHARC(§2),
2 SAVEKEY CHAR(4);
DCL 1 INREC,
2 KEY CHAR(15),
« 2 TITLE CHAR(36),
2 DATA(10) PIC'(B)Z9',
2 YEARDATA PIC'(B)Z9",
2 CCHEK CHAR(1),
2 FILL CHAR(5);
DCL { TEMPFILE(700),
2 TEMFKEY CHAR(15),
2 TEMPTITLE CHAR(30),
2 TEMPDATAY PIC'(B)Z9',
2 TEMFDATAZ FIC'(B)Z9’,
2 TEMPCHECK CHAR(1);
DCL {(TOYEAR,YEAR) FIC'99',
(SCNT,CNT) FIC'999",
K FIC'99"';
DCL (MORE INITC('1'HR),YES INITC('SY'
ZINCLUDE YSMAP4,YSTITLE;
AINCLUDE SPECIALS,BTLAST,
EXEC CICS HANDLE CONDITION ERROR{(JOBEND);
EXEC CICS IGNORE CONDITION MAPFAIL NOTFND ENDFILE;
EXEC CICS HANDLE AID CLEAR{JOHBEND);
KEY="' ';
EXEC CICS STARTER DATASET('YESAN'
EXEC CICS

YEAR=SUBSTR(TITLE,5,2);
TOYEAR=SUBSTR(TITLE,{,2);

READNEXTY DATASET('YESAN') INTO(INREC) RIDFLD(KEY);

END;

DO I= 1 TO 10,
IF TOYEAR=YEAR THEN DO; K=, I=10;
ELSE TOYEAR=TOYEAR+{;
END;
CALL PRINT_TREE:
SCNT=CNT;

CALL READKTN(8,11);
CALL READRTN(7,8);

CaLL READRTN(4,7);

CALL READRTN(S,6);

CALL READRTN(4,5);
CNT=1;

» CALL SCREEN_RTN;

DO WHILE(MORE=YES);
SELECT(SELII);
WHENC'P') DO,
MORE=NO;
END;
MORE=NG;
CALL SCREEN_RTN;

WHENC('E')
OTHERWISE
END;
END;
JORBEND :

CALL PRINT_RTN;

EXEC CICS ENDEBR DATASET('YESAN');
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EXEC CICS RETURN, °

PRINY_TREE: PROCEDURE;
CNT=0; ) &
KEY='1200"; ,
EXEC CICS RESETHER DATASET('YESAN') RIDFLD(KEY) GTEQ;
EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY);
DO WHILE(SUBSTRC(EIBRRCODE,{,{) ' =RENDFILE);
IF SUBSTR(KEY,§1,3)=' ' THEN
DO; CNT=CNT+{;
TEMPKEY (CNT)=KEY;
TEMPTITLE(CNT)=TITLE;
TEMFDATAY (CNT)=DATA(K);
- TEMPDATA2(CNT)=DATA(K~-1);
TEMPCHECK (CNT ) =CCHEK ;
END; .
EXEC CICS READNEXT DATASET('YESAN') INTO(INREC) RIDFLD(KEY);
END; ’
END FRINT_TREE;
READRTN: PROCEDURE(CHEK, ZER) ;

DCL (CHEK , ZER) FIC'99’,
(Ki,K2) FIC'9",
(NUJEK 1 , NUJEK2) FIC'(8)Z%' INIT(0);
DO WHILE(CNT>O);
TEMPKEY (CNT)=TRANSLATE(TEMPKEY(CNT),'0',*' ');

Ki=SUBRSTR(TEMPKEY(CNT),CHEK, 1) ;
K2=SUBSTR(TEMFKEY (CNT),2ER,1);
IF Ki™=0 & K2=0 THEN )

DO; NUJEK1=NUJEK{+TEMPDATA1 (CNT);
NUJEK2=NUJEK 2+ TEMFDATA2(CNT) ;
CNT=CNT-1;

END; ELSE

IF K1 =0 & K2=0 THEN
DO; TEMFDATAI (CNT)=NUJEK® ;
TEMPDATA2 (CNT)=NUJEK2; !
NUJEK{ , NUJEK2=0;
CNT=CNT~-1
END; ELSE CNT=CNT-f{;
END;
CNT=SCNT; )
END READRTN; . -

SCREEN_RTN: PROC;
DCL. ¢ SCREEN,

2 LINE4 CHAR(88),
2 LINE2 - CHAR(80),
2 LINE3 CHAR(88), .
2 LINEA(20),
4 BODY - CHAR(41),
4 ESIGN CHAR(2),
4 DATAf . PIC'Z22Z,222,229°,
4 DATA2 PIC'222,22Z,2Z9’,
4 DATA3 PIC! —~~, ==, ~=9",
4 RATE PIC'~~~-9.9",
4 ELANK CHARCY ) ;
DCL. CREASE FLOAT(16),
FPERCENT FLOAT(16),
YYEAR ) FIC'99";
STRINGC(SCREEN)="' ';
CLINE1=¢20) ' "||HS)IHEADCI) |}' ' | IHEADC(2)I}1' '1IHEAD(3) ||
HEAD(S) |1’ 'ITHEADCA)||* '] |HEADCIO) [ 1¢42) ' *[]

HEAD(8) | IES|': '} {HS||HEAD(9) | |ES;




YYEAR=YEAR~1 ; > ' )

LINE3=(42) * '{IYEAR|IHSI{HEAD(A)Y LIESTY” "{IYYEAR]IHS
HEAD{(4) || ‘1 HEADCS) T IESTH) i

BLANK="' ' ;

ESIGN=ES;

DO I=1 T0.20 WHILE(SCNT)=CNT),
IF TEMFCHECK(CNT)='%' &
(TEMFDATAS (CNT) =0 | *TEMPDATA2(CNT)™=0) THEN
DO; CREASE=TEMPDATA{(CNT)-TEMPDATAZ{CNT);
IF TEMPDATA2(CNT)=0 THEN PERCENT=0,; ELSE DO;
IF CREASEYQ THEN PERCENT=(CREASE/TEMPDATA2(CNT)*1000)+0.05;
ELSE PERCENT=(CREASE/TEMFDATA2(CNT)#{000)-0.05;
END;
. DATA1 (I)=TEMPDATA4 (CNT);
DATA2¢(I)=TEMPDATAZ(LNT);
DATA3(I)=CREASE; .
RATE(I)=PERCENT;
IF SUBSTR(TEMPKEY(CNT),5,1)='0" THEN
BODY(I)=SUBSTR{TEMPKEY(CNT),1,4) ] .
HEJITEMPTITLE(CNT);

ELSE
IF SUBSTR(OTEMPKEY(CNT),8,1)='0"' THEN
BODYCI)=(5) ' 'JISURSTR(TEMPKEY(CNT),5,3)1 1 -
HS | I SUBSTR(TEMPTITLE(CNT) 1,28,
ELSE
CIF SUBSTR(TEMPKEY(CNT),i4,4)="0"' THEN
BODY(ID=(P) ' '| | SUBSTR{TEMPKEY(CNT),8,3) |1

’ HE{ISUBSTR(OTEMPTITLEC(ENT)Y, §,24);
END; ELSE I=I-4; .
CNT=CNT+1 ;
END;
EXEC CICS SEND TEXT FROM(SCREEN) NOEDIT LENGTH(41936) ERASE;
SELID=* *;
EXEC CICS SEND MAP('YSMAPA3') MAPSET{'YSMAP4');
EXEC CICS RECEIVE MAFP('YSMAF43') MAPSET('YSMAP4'),;
END SCREEN_RTN;

FRINT_RTN: PROC;

DCL SCREEN CHAR(130), <
EBLANK CHAR(130) INITC(' '), , .
(DATA1,DATAZ) PIC'Z2:222,222,229",
CREASE PIC mm, mmm e ==,
PERCENT P1€' -, -~9,9", .
(YYEAR,J, I) PIC'99", ,
. LINS PIC'99' INIT(O);
DCL % RLIST,
2 RTERM CHAR(4), v
2 Fi CHARCI2) INIT(? 'y,

2 ENDLIST FIXED BINC{5) INIT(-1); -
IF SUBSTR(EIBTRMID,{,2)='MC' THEN RTERM='MFTi';

STRING(SCREEN)="' ';

EXEC CICS ROUTE LIST(RLIST),;

SCREEN=(36) ' '}IHSIIHEADCI)11* 'JIHEAD(2)11' 'IIHEAD(3) 1]
HEAD(SY 11" *1IHEADC4Y ' ‘| IHEAD(10) ;!

SUBSTR{SCREEN, {30,1), SUBSTR(BLANK, 130, {)=EOQL;

EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(136) ERASE
) PAGING PRINT HONEOM;

SCREEN=(§100) ' '||IHS)IHEAD(8) | IESII': '1IHSIIHEAD(9);

SUBSTR(SCREEN, 130, 1), SUBSTR(BLANK, 130, 1 )}=E0L;

EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH{130) ERASE

PAGING PRINT HONEOM;
EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH({30)
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ERASE PAGING PRINT HONEOH;
EXEC CICS SEND TEXT FROMCELANK) ACCUM LENGTH(130)
ERASE FPAGING PRINT HONEOM;
YYEAR=YEAR-1; .
SCREEN=(¢50) ' '|IYEARIIHS| |HEADC(A) 1JESII(5) ' " IYYEARI{HSII
HEAD(451{(10) ' *'[|HEAD(SILIES]L® X PECey ¢ P LIHSH
. SUBSTR(HEADC?) ,4,2)11¢4)r.* *[ISUBSTR(HEAD(7),3.2);
SUBSTR(SCREEN, 130,1), SUBSTR(BLANK, 130, 1)=EOL;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH({30) ERASE
FAGING PRINT HONEOM;
DO CNT=4 TO SCNT;

IF TEMPCHECK(CNT) ='x%' &
. (TEMPDATA1(CNT) =0 | TEMPDATAZ(CNT) =0) THEN
DO; CREASE=TEMPDATAY(CNT)-TEMPDATA2(CNT);
IF TEMPDATA2(CNT)=0 THEN.PERCENT=0,
ELSE
DO; IF CREASE)>O '
THEN PERCENT-(CREASE/TE“PDQTA"(CNT}ﬁi30@)*0 05;
ELSE PERCENT=(CREASE/TEMPDATA2(CNT)#{000)~-0.05;
END; ’ .

DATA1=TEMPDATA{ {(CNT);
DATAZ2=TEMPDATA2(CNT) ; .
IF SUBSTR(TEMPKEY(CNT),5,1)='0' THEN
DO; EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130)
ERASE PAGING PRINT HONEOM;

LINS=LINS+

IF LIN‘*SO THEN CALL TITLE_RTN;

SCREEN=(¢(5) ' '|{SUBSTR(TEMPKEY(CNT), 1,41
HSLITEMPTITLECCNT) 11 " HIES|IDATAY L)

DATAZ1 ICREASE | | PERCENT;
END; ELSE
IF SUBSTR{TEMPKEY(CNT),8,1)='0"' THEN
PO; EXEC. CICS SEND TEXT FROM(BLANK) ACCUM LENGTH({30)
ERASE PAGING PRINT HONEOM;

LINS=LINS+4;

IF LIN$=50 THEN CALL TITLE_RTN;

SCREEN=(10) ' '||SUBSTR(TEMPKEY(CNT),S,3) l

HS 1 ISUBSTR(TEMPTITLE(CNT) , 4,28) | {EST
_ DATAT | IDATA2| ICREASE | | PERCENT;
END; ELSE ‘ .

IF SUBSTR{TEMPKEY(ENT),14,1)=70' THEN

SCREEN=(14) ' '|{SUBSTR(TEMPKEY(CNT),8,3)11]

HS | | SUBSTR(TEMPTITLE(CNT) 04 ,2%) | IES] |
DATAil!DQTAEI!CREASE(I?ERCENT;

SUBRSTR(SCREEN, 130,1), SUBSTRCBLANK, § 36, 1)=EOL ;

EXEC CICS SEND TEXT FRDH(SCREEN) ACCUM. LENGTH(130) ERASE
" PAGING PRINT HONEOHM; :

LINS=LINS+1;

: IF LINS=50 THEN CALL TITLE ~RTN;
END;
END;
Do I=1 T0 3;
EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE
PAGING FPRINT HONEOM;
END; '

SEL0=' ',
EXEC CICS SEND FAGE RETAIN;

TITLE_RTN: PROCEDURE;
DO I=1 TO i5;
EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM;
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//,k END;

-

L]
YYEAR=YEAR-1;

AR E

SCREEN=(50) ' ' IYEAR{| |HS|IHEAD(4) | IESI|(5) ' 'LIYYEARIIHS]I
HEAD(4) 11 ¢10) ' ' |{HEAD(6) | JESL]! ARSI
SUBSTR(HEAD(7),4,2)11(¢4) ' '||SUBSTR(HEAD(7),3,2);

SUESTR(¢SCREEN, 130,1), SUBSTR(ELANK, 130, $)=EOL;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
FAGING FRINT HONEOM;

LIN3=0; '
END TITLE_RTN;
END FRINT_RTN;

END YSPGM414 ;
/%
Va4 .

\
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5 LEFT FOINTER,
5 RIGHT FOINTER;

DCL (MORE, YES) RITCHY INITC'S'ED) 0
NO © RITCE) INITC'O'R),
NULL BUILTIN,

TEMF CHAR(15),
P. FOINTER,
START FOINTER;

START=NULL,;, KEY='§200"; .

EXEC CICS RESETER DATASET('YESAN') RIDFLD(KEY) GTER;

EXEC CICS READNEXT DATASET('YESAN') INTOCINRECY RIDFLD(KEY);

DO WHILE(SUBSTRC(EIRRCODE,{,41) =RENDFILE);
TEMP=SUBSTRAKEY, $,4) | | SUBSTR(KEY,8,3) | |SUBSTR(KEY,S,3);

* ALLOCATE FRODUCT; Co

DESC=TEMF;

DESCKEY=KEY;

LEFT=NULL;

RIGHT=NULL ; .

IF START=NULL THEN START=CURRENT;

ELSE CALL BUILD_TREE;

EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY),;
END; .
CNT=0;

CALL PRINT_TREE(START);
SCNT=CNT;
PO WHILE(CNT?>1};

TEMFKEY(CNT)=TRANSLATE(TEMPKEY(CNT),'0","' *);

KK=SUESTR(TEMPKEY(CNT),S,3);

DO WHILE(KK=SURSTR(TEMFKEY(CNT),S5,3) & CNT>{);

NUJEK{ =NUJEK{ +TEMPDATAS (CNT};
NUJEK2=NUJEK2+TEMPDATAZ(CNT ) ;
TEMPCHECK(CNT)="%";
CNT=CNT-1;

END;

TEMFDATAY (CNT+1 )=NUJEK1;

TEMFDATAR(CNT+1 ) =NUJEK2;

TEMPCHECK(CNT+1)="' *;

NUJEK Y, NUJEK2=0;

END ;

CNT=SCNT;

CALL READRTN(S,B);
CALL READRTN(3,5);
RETURN;

BUILD_TREE: PROCEDURE;
P=START; ‘ .
DO WHILE(FP™=NULL); !
IF DESC- ¢ P —~)> DESC THEN
DO; IF P -> LEFT = NULL THEN
DO; P -> LEFT = CURRENT;
P=NULL ;
END; ELSE P= P - LEFT;
END; ELSE
IF DESC » P - DESC THEN
pO; IF F ~) RIGHT = NULL THEN
DO; F -3 RIGHT = CURRENT;

P=NULL;
END; ELSE P= F -) RIGHT;
END; ELSE
DO; P = NULL,;
END; .
END; /ruxunnninnnr DO WHILE END - ssxmmxnn/
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///77 5 LEFT POINTER, -

5 RIGHT i FOINTER; .
DCL (MORE, YES) BIT(4) "INITC'1'R), .
NO BITCL) INIT(C'O'E)Y,
NULL RUILTIN,
TEHMP CHAR(15),
L FOINTER,
START POINTER;

START=NULL,; KEY='1200';
EXEC CICS RESETER DATASET('YESAN') RIDFLD(KEY) GTEQ;
EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY),
DO WHILE(SUBSTR(EIBRCODE,1{,1) =RENDFILE);
TEMP=SUBSTR(KEY, 1, 4) | | SUBSTRCKEY, 8, 3) | | SUBSTR{KEY,S,3);
ALLOCATE PRODUCT;
PESC=TENP,
DESCKEY=KEY;
LEFT=NULL;
RIGHT=NULL;
IF START=NULL THEN START=CURRENT;

ELSE CALL BUILD_TREE;
EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY);

.

END;

CNT=0;

CALL PRINT_TREE(START);

SCNT=CNT;

DO WHILECCNTY1);
TEMPKEY(CNT)=TRANSLATE(TEMPKEY(CNT),'0',"' ');
KK=SUBSTR(TEMPKEY(CNT),5,3);

Do NHILE(KK=SUBSTR(TEMPKEY(CNT) 5,3) & CNT)i);
NUJEKi=NUJEK§+TEHPDGT91(CNT),
NUJEK 2=NUJEK2+TEMPDATA2(CNT),
TEMPCHECK (CNT) ="',
CNT=CNT~1{ ;

END;

TEMPDATAY (CNT+1)=NUJEK1 ;

TEMPDATAZ(CNT+4)=NUJEK2;

TEMPCHECK(CNT+1)=" ';

NUJEK{ ,NUJEK2=0;

END;

CNT=8CNT;

CALL READRTN(3,8);

CALL READRTN(3,5);

RETURN;

BUILD_TREE: PROCEDURE;
P=START;
DO WHILE(P™=NULL),;
IF DESC ( P -) DESC THEN o
DO; IF P -)> LEFT = NULL THEN
DO; P -> LEFT = CURRENT;

P=NULL;
. END; ELSE P= P -) LEFT;
END, ELSE :
IF DESC > P -) DESC THEN b

DO; IF P -)> RIGHT = NULL THEN o
DO; P -» RIGHT = CURRENT;

P=NULL;
END; ELSE P= P ~) RIGHT;
END; ELSE ,
DO; P = NULL;
END; :
END; /*&***nn***!u DO WHILE END wmxxxexux/




END BUILD_TREE;

PRINT_TREE: PROCEDURE(R) RECURSIVE;
DCL Q FOINTER;
IF @=NULL THEN RETURN;
CALL PRINT_TREE(Q -)> LEFT);
KEY=Q -)> DESCKEY; .

EXEC CICS READ DATASET('YESAN') INTO(INREC) RIDFLD(KEY);

IF SUBSTR(KEY,S,6)=' ' | SURSTR(KEY,8,3)7=' ' THEN
DO; CNT=CNT+9{,;

TEMFKEY(CNT)=SUBSTR(KEY, 1,4) | | SUBSTR(KEY,8,3),

TEMPTITLE(CNT)=TITLE;
TEMPDATAY (CNT)Y=DATA(K);
- TEMPDATA2{CNT Y=DATA(K-1);
TEMPCHECK (CNT)=CCHEK ; N
END; :
CALL PRINT_TREE(Q —> RIGHT);
END FRINT_TREE;

READRTN: PROCEDURE(CHEK, ZER);

DL (CHEK , ZER) PIC' 99,

(K1,K2) PIC'9Y;

NUJEK$ , NUJEK2=0;

DO WHILE(CNTYO);
TEMPKEY(CNT)=TRANSLATE(TEMFKEY(CNT),'0',"' ');
K1=SUBSTR(TEMPKEY (CNT),CHEK , 1) ;
K2=SUBSTR{TEMFKEY{CNT) ,ZER, 1) ;

IF TEMPCHECK(CNT)='#%' THEN
DO; IF K17=0 & K2=0 THEN
DO; NUJEK{=NUJEK$+TEMPDATAL (CNT);
’ NUJEK2=NUJEK2+TEMPDATAR(CNT) . &
END; ELSE ;
IF K4 =0 & K2=0 THEN '
DO; TEMFDATAS (CNT)=NUJEKS ;
TEMPDATAZ(CNT)=NUJEK?R;
NUJEK A, NUJEK2=0;

END; :
END; ’
CNT=CNT~4;
END;
CNT=SCNT;
END READRTN;
END SORT_RTN; suennnn SORT ROUTINE END  ®xxxx®/
. SCREEN_RTN: FROC;
DCL ¢ SCREEN, - o
2 LINES CHAR(S88)>,
2 LINEZ - CHAR(80},
2. LINEZ CHAR(88),
2 LINE4(20),
4 RODY CHAR(41),
4 ESIGN CHAR(2),
4 DATAM P1C'222,22Z,229",
4 DATAZ PIC 222,222,229,
4 DATA3 PIC! =, , -9,
4 RATE FIC' ——~-9.9',
4 BLANK CHAR{(1);
DCL -CREASE " FLOAT(16),
PERCENT FLDAT(16),
YYEAR FIC'99";
STRING(SCREEN)=" ';

LINE4=(20) ' ' IHS|IHEADC(IO 11" "1 JHEAD(3) | JHEAD(5) ]

Y
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(//’7 ' O 'LIHEAD(4Y 1!

"LIHEADCIO) 11 C12) ¢+ ')
HEAD(B) T{ESTI': "1 IHSTIHEAD(?) | |ES;
YYEAR=YEAR-1;
LINE3=(42) ' '] IYEAR| |HS||HEAD(4) | IEST "LIYYEAR| [HS T
HEAD(4) | | ' {THEAD(S) VIEST! YA
BLANK=' *;
ESIGN=ES; '

DO I=4 TO 20 WHILE(SCNT)=CNT);
IF TEMPCHECK(CNT) ='»' &
(TEMPDATA{(CNT)=0 | TEMPDATAZ2(CNT)™=0) THEN
DO; CREASE=TEMPDATA{ (CNT)-TEMFDATAZ(CNT);
IF TEMPDATA2(CNT)>=0 THEN PERCENT=0; ELSE DO;
IF CREASEY® THEN PERCENT=(CREASE/TEMPDATAZ(CNT)#{000)+0.5;
ELSE PERCENT=(CREASE/TEMPDATAZ(CNT)*1000)-0.5;
END; . .
DATAL (1) =TEMFDATA{ (CNT);
DATA2(I)=TEMPDATA2(CNT);
DATA3(I)=CREASE;
RATE{(I)Y=PERCENT;
IF SUBSTR(TEMPKEY(CNT),5,1)='0"' THEN.
BODY(I)=SUBSTRC(TEMFKEY(CNT)Y . 4,4 |1
HS LI TEMPTITLECCNT);

ELSE
IF SUBSTR(TEMPKEY{(CNT),B8,4)='0"' THEN
RODY(I)=(5) ' '|iSUBSTR(TEMPKEY(CNT),S5,3)11

HS | ISUBSTR(TEMPTITLEC(CNT), {1,28);

END; ELSE I=I-{;

CNT=CNT+1{;
END; )
EXEC CICS SEND TEXT FROM(SCREEN) NOEDIT LENGTH(4936) ERASE;
SELiD=" ',
EXEC CICS SEND MAF('YSMAPA3') MAPSET('YSMAPA');
EXEC CICS RECEIVE MAP('YSMAFA3') MAPSET('YSMAP4¢);

END SCREEN_RTN;

PRINT_RTN: PROC;

DCL. SCREEN CHAR(1306),
BLANK CHAR(130) INITC' '),
(DATA4,DATA2) PIC'2Z,22Z,222,229',
CREASE CPIC e e =9,
PERCENT PIC' ~~—,==9.9°,
YYEAR FIC'99,
LINS PIC'99' INIT(O);
pCL 1 RLIST,
2 RYERM CHAR(4), . .
2 Fi CHAR($2) INITC(® 'y, -

2 ENDLIST . FIXED BINC{3) INIT(~-1);
IF SUBSTR(EIBTRMID,4,2)='MC' THEN RTERM='MPTi', )
STRING{SUREEN)="' ',
EXEC CICS ROUTE LIST(RLIST);
SCREEN=(34) ' '[|{HSHIHEADCi)|1* ‘'1IHEAD(3) ||
HEAD(S)EI1* ' IHEAD(AY11' ‘| IHEAD(10);
SUBSTR(SCREEN, 130, 1), SUBSTR(BLANK, 136, 1)=E0L;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM; B
SCREEN=(100) ' '|{HS|IHEAD(B)|IESIt': '1IHSIIHEAD(®?);
SUBSTR(SCREEN, 130, 1) ; SUBSTR(ELANK, 130, 1)=EOL;
EXEC CICS.SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
- PAGING PRINT HONEOM;
EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM;
EXEC CICS SEND TEXYT FROM(BLANK) ACCUM LENGTH(130) ERASE
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PAGING PRINT HONEONM;
YYEAR=YEAR-1 ;

SCREEN=(50) ' 'JIYEAR||HS|IHEADC4) JIESII(5) * 'IYYEAR|IHS]
HEAD(4>11(10) * '|IHEAD(& JIESI}’ FARRES 2N B AR
SUBSTR(HEAD(?),1,2)11(¢4) ' ' |)SUBSTRC(HEAD(Y),3,2);

SUBSTR({SCREEN, 130, 1), SUBSTR(BLANK, 130, 4)=E0L;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH({30) ERASE
FAGING FRINT HONEOM;
DO CNT=4 TO SCNT;
IF TEMPCHECK(CNT)  ="%" §
(TEMPDATAY (CNT) =0 | TEMPDATA2(CNT) "=0% THEN
DO; CREASE=TEMFDATAI(CNT)-TEMFDATAR(CNT);
IF TEMPDATA2(CNT)=0 THEN PERCENT=0; ELSE DO;
IF CREASE>O THEN PERCENT=(CREASE/TEMFDATAR(CNT)*1000)+0.05;
- ELSE PERCENT=(CREASE/TEMPDATA2(CNT)#*1000)-0.05;
END; ’

DATA1=TEMFDATAI (CNT);
DATAZ=TEMFDATAR(CNT);
. IF SUBRSTR(TEMPKEY(CNT),5,1)='0"' THEN
© DPO; EXEC CICS SEND TEXT FROM(EBLANK) ACCUM LENGTH(3130)
ERASE PAGING FPRINT HONEOM;
LIN®=LINS+1;
IF LIN$=50 THEN CalLl TITLE_RTN,

SCREEN={(5) * '||SURSTR(TEMPKEY{(CNT), 4,411
HS) ITEMPTITLECCNTY I " IESTIDATAYII
. DATAZ2| {CREASE | | PERCENT;
. I=0;
END; ELSE

IF SUBSTR(TEMPKEY(CNT),8,1)='0' THEN
DO; IF I=3 THEN '
DO; EXEC CICS SEND TEXT FROM(BLANK) ACCUM
LENGTH( {30} ERASE PAGING PRINT HONEOM;
LINS=LINS+{; t )
IF LINS=50 THEN CALL TITLE_RTN;
1=0; .
END;
SCREEN=(10) ' '||SUBSTR(TEMPKEY(CNT),5,3)11
HS 1 ISUBSTROTEMPTITLE(CNT), 1,28) 1 IEST]
DATA1 | IDATA2] ICREASE ] |PERCENT; .
I=I+1;
END;
SUBSTR(SCREEN, 130, 1), SURSTR(ELANK, 130, 5 )=80L;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(i130) ERASE
FAGING FRINT HONEOM;
LINS=LINS+1; '
© IF LIN#=50 THEN CALL TITLE_RTN;
END; R
END;
PO J= ¢ TO 3; ‘
EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM,; -
END;
SEL{O=' '
EXEC CICS SEND PAGE RETAIN;
TITLE_RTN: PROCEDURE;
PO J= ¢ TO 15;
EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE
FAGING PRINT HONEOHM;
END;

YYEAR=YEAR~1 ;

SCREEN=(50) ' '||YEAR]|HS||HEAD(4)|JESII(5) ' '1IYYEAR}IHSI : j?‘
HEAD(4)11(10) ' 'JIHEADL(STIESTI' ZP1i49) ' VHIHSH]

)

o



s

(//F SUBSTR(HEAD(7) ,4,2)11¢4) ' ' || SURSTR(HEAD(7),3,2),
SUBSTR(SCREEN, 130, 1), SUBSTR(EBLANK , 130, 1)=EOL;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(430) ERASE

FAGING PRINT HONEOM;
LIN#=0;
END TITLE_RTN;
END PRINT_RTN;

JOBEND :
EXEC CICS ENDBR DATASET('YESAN');
EXEC CICS RETURN;
END YSPGM42;
Va
124 .
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B17,86.325,13:36:03, K17 ,FROGRAM .LIBRARY (YSFGM43)

//BV7JAFGH JOB  CLASS=G,MSGCLASS=X
//TESTH EXEC CICSPLI,MER=YSFGMA3
//TRN.SYSIN DD %
* FROCESS GS,NEST, INCLUDE;
YSPGM43: FROC(P) OFTIONS(MAIN,REENTRANT);
DCL F FOINTER,
i COM_REGION RASED(F),*
2 SELYKEY "CHARC(1),

2 SELZ2KEY CHAR(1),
2 INKEY CHAR(12),
2 SAVEKEY CHARC(4) ;
DCL 1 INREC,
. 2 KEY CHAR(13),
2 TITLE CHAR(30),

2 DATA(10O) PIC'(8)Z9' .,

2 YEARDATA PIC'(8)29"',

2 CCHEK CHAR(1),

2 FILL CHAR(S5) ;
DCL 1 TEMPFILE(500),
TEMFKEY CHAR(15),
TEMPTITLE CHAR(30),
TEMPDATAY . PIC'(8)Z9',
TEMPDATA2 PIC'(B)Z9',
TEMPCHECK CHAR({);

(SRS SESEN]

DCL (TOYEAR, YEAR) PIC'99"',
(SCNT,CNT,CCNT) FIC'999"',
K ) pIC'9’,
KK CHAR(4),
(NUJEK § , NUJEK2) PIC'(8)Z%' INIT(Q);

DCL (MORE INIT('{1'B),YES INIT('{'B),NO INIT('0O'B))
ZINCLUDE YSMAFA4,YSTITLE; )
ZINCLUDE SPECIALS,BTLAST;

EXEC CICS HANDLE CONDITION ERROR(JOBEND); v
EXEC CICS IGNORE CONDITION MAPFAIL NOTFND ENDFILE;
EXEC CICS HANDLE AID CLEAR(JOBEND);

KEY="' ';

"RITCE);

EXEC CICS STARTBR DATASET('YESAN') RIDFLD(KEY) GTEQ;
EXEC CICS READNEXT DATASET('YESAN') INTO(INREC) RIDFLD(KEY);

YEAR=SURSTR(TITLE,S,2);
TOYEAR=SUBSTR(TITLE, {,2);
PO I= § TO {0;
IF TOYEAR=YEAR THEN DO; K=I, 1I=10; END;
: ELSE TOYEAR=TOYEAR+1 ;
. END;
CALL SORT_RTN;
CNT=1{;.
CALL SCREEN_RTN;
DO \WHILE(MORE=YES)Y;
SELECT(SEL{I);
WHEN('P') DO; CALL PRINT_RTN;
MORE=NO;
END;
WHEN('E') MORE=NO;
OTHERWISE CALL SCREEN_RTN;

END;
END;
SORT_RTN: PROCEDURE;
DCL. 1 PRODUCT BASED(CURRENT),
5 DESC . CHAR(13),
5 DESCKEY CHAR(15),
S LEFT FOINTER,
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//'

5 RIGHT POINTER;

DCL (MORE,YES) BIT(S) INITS('Y'RY,
NO BIT(4) INITO'O'H)Y,
NULL BUILTIN,

TEMP CHAR(45),
TKEY CHAR(3),
F . FOINTER,
START POINTER;

START=NULL; KEY='1200';

EXEC CICS RESETBR DATASET('YESAN') RIDFLD(KEY) GTER;

EXEC CICS READNEXT DATASET('YESAN') INTO(INREC) RIDFLD(KEY);

DO WHILE(SUESTR(EIBRCODE,{,4)"=RENDFILE);
TEMP=SUBSTR(KEY,8,3)| | SUBSTR(KEY, 1,4) | | SURSTR{(KEY,5,3);
ALLOCATE PRODUCT;
DESC=TEMP,;
DESCKEY=KEY;
LEFT=NULL ;
RIGHT=NULL;

IF START=NULL THEN START=CURRENT)
ELSE CALL BUILD_TREE;
EXEC CICS READNEXT DATASET('YESAN') INTO(INREC) RIDFLDC(KEY);

END;

CNT=0,;

TKEY=' ';

CALL -PRINT TREE(START); <

SCNT=CNT;

DO WHILE(CNT>O);
TEMPKEY(CNT)=TRANSLATE(TEMFKEY(CNT),*0"',"' '),
KK=SUERSTR(TEMFKEY(UNT)Y, 4,4,
bo UHILE(KK=SUBSTR(TEHPKEY(CNT) 4,4) & CNT)O),

NUJEK § =NUJEK 1 + TEMFDATAT (CNT);
NUJEK2=NUJEK2+TEMPDATAZ2(CNT); .
TEMPCHECK(CNT)="%"'; .
CNT=CNT-1; .
END; .
TEMPDATAT (CNT+1 )=NUJEKT ;
TEMPDATAR(CNT+14)=NUJEK?2
TEMPCHECK (CNT+{)=" ',
NUJEK Y NUJEK2=6;
END;
CNT=SCNT;

0

- CALL READRTN(4,8),;

RETURN;

BUILD_TREE: PROCEDURE;
P=START;
DO WHILE(PT=NULL);
IF DESC ( P -) DESC THEN
DO; IF P =) LEFT = NULL THEN
DO; P ~-> LEFT = CURRENT,
P=NULL;
END; ELSE F= P ~) LEFT;
END; ELSE
IF DESC » P ~) DESC THEN
DO; IF P ~) RIGHT = NULL THEN
DO; P ~)> RIGHT = CURRENT;

P=NULL; .
: END; ELSE P= P -> RIGHT;
END; ELSE
DO; P = NULL;
END;

END; Junnnnnnxxnnie DO WHILE END sxxwxnxx/
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(//V END BUILD_TREE;

PRINT_TREE: PROCEDURE(Q) RECURSIVE;
DCL Q POINTER,
TTKEY CHAR(15) ;
IF .@=NULL THEN RETURN;
CALL PRINT_TREE(Q ~> LEFT);
KEY=Q -)> DESCKEY;
EXEC CICS READ DATASET('YESAN') INTO(INREC) RIDFLD(KEY),
IF SUBSTR(KEY,8,3)7=' ' THEN
DO; IF TKEY™=SUESTR(KEY,8,3) THEN
DG, CNT=CNT+%,;
TEMPKEY (CNT)=SUBSTR(KEY,8,3);
- TEMPDATAY (CNT)=0;
TEMPDATAZ2(CNT)=0;
TKEY=TEMPKEY(CNT), *
TEMPTITLEC(CNT)=TITLE;
CNT=CNT+1;
TEMPKEY (CNT)=SUERSTR(KEY, 8, 3) | ISUBSTRC(KEY, {,4);
TEMFDATAY (CNT)=DATA(K);
TEMPDATAZ(CNT)=DATA(K~1);
TTKEY=SUBSTR(KEY,1,4);
EXEC CICS READ DATASET('YESAN')
INTOCINRECY RIDFLD(TTKEY);
TEMPTITLE(CNT)=TITLE;
END; ELSE
DO; CNT=CNT+4;
TEMPKEY (CNT)=SUBSTR(KEY, 8, 3)IISUBSTR(KEY 1,4);
TEMPDATAY (CNT)=DATA(K);
TEMPDATAZ(CNY)=DATA(K-1);
TTKEY=SUBSTR(KEY,1,4);
EXEC CICS READ DATASET('YESAN')
INTOCINREC) RIDFLD(TTKEY);
TEMPTITLE(CNT) TITLE, 1
END;
TEMPCHECK(CNT)=' ' .
END; .
CALL PRINT_.TREE(R -)> RIGHT);
END PRINT_TREE;

READRTN: PROCEDURE (CHEK, ZERY;
DCL. (CHEK , ZER) : FIC'99",
(Ki,K2) PIC'?';
NUJEK { , NUJEK2=0
DO WHILE(CNT)O);
TEMPKEY(CNT)=TRANSLATEC(TEMPKEY(CNT), '0', ! ')
Ki=SURSTR(TEMPKEY (CNT),CHEK,$); A
K2=SUBSTR{TEMPKEY(CNT), ZEK,1);
IF TEMPCHECK(CNT) ='%' THEN
DO; IF Ki1™=0 & K2=0 THEN
DO; NUJEK{1=NUJEK{+TEMPDATAS (CNT);
NUJEK2=NUJEK2+TEMPDATA2(CNT);
END; ELSE
IF K1=0 & K2=0 THEN
DO; TEMFDATAY(CNT)=NUJEKS ;
TEMPDATAZ(CNT )=NUJEK2;
NUJEK 1, NUJEK2=0;
. END; :
END;
CNT=CNT-1;
END;
CNT=SCNT;




//”

END READRTN;
END SORT_KRTN;

SCREEN_RTN: PROC;

E

/%%%%¥x SORT ROUTINE END sxsxxx/

DCL 4 SCREEN,
2 LINE4 CHAR(B8),
2 LINER CHAR(BO),
2 LINE3 CHAR(88), .
2 LINE4(20),
4 BODY CHAR(41),
4 ESIGN CHAR(2),
4 DATA4 pP1C*222,722,729", ,
4 DATAZ2 FIC'227,222,229',
.4 DATA3 PIC! =mm, e, —=9 1,
* 4 RATE FIC! —~=-=9.9",
4 ELANK CHARC1Y; |
DCL CREASE FLOAT(44),
PERCENT- FLOAT(46),
YYEAR FIC'99";
STRING(SCREEN)=" ',
LINE1=(20) * '|{HS{IHEAD(3)[}* ' {}HEAD(4)] IHEADL(S) ]}
'O'TIHEADCAY 11t ' IIHEAD(IO) 1 1C42) * 14
HEAD(S) | IES1}': '|1HS| IHEAD(9) | |ES,
YYEAR=YEAR-1 ;
LINE3=(42) ' '||YEAR|IHS|IHEAD(4)]IESI" *IIYYEAR][HS I
HEADC4) (| "I IHEAD(S) 1 IEST ]! %
BLANK=' '
ESIGN=ES;

DO I=1 70 20 WHILE(SCNT)=CNT);
IF TEMPCHECK (CNT)™='%"' §
{TEMPDATAS (CNT)™=0 | TEMPDATA2(CNT)™=0) THEN
DO; CREASE=TEMFDATA{ (CNT)-TEMPDATAR(CNT);
IF TEMPDATAZ2(CNT)=0 THEN PERCENT=0; ELSE DO;
IF CREASE>OQ THEN PERCENT=(CREASE/TEMPDATAZ(CNT)*1000)+0.5;
ELSE PERCENT=(CREASE/TEMPDATA2(CNT}»#1000)~0.5;
END; . .
DATA1 (I)=TEMPDATA1 (CNT);
DATA2(I)=TEMPDATA2(CNT);
DATA3(I}=CREASE;
RATE(I)=PERCENT;
IF SUBSTR(TEMPKEY(CNT),4,1)='0' THEN
RODY(I)=SUBSTR{TEMPKEY{(CNT). 4,33 11
HSITEMPTITLE(CNT)Y,;
ELSE
IF SUBSTR(TEMPKEY(CNT),8,1)='0' THEN
BODY(I)=(4) * '{[|SUBSTR(TEMPKEY{(CNT) . 4,421}
HS | | SUBSTR(TEMPTITLE(CNT) ,.4,28);
END; ELSE I=I-%; ’
CNT=CNT+1,; -
END; ' :
EXEC CICS SEND TEXT FROM
SEL10="
EXEC CICS SEND MAP('YSMAPA3') MAPSET('YSMAP4');
EXEC CICS RECEIVE MAP('YSMAP43') MAPSET('YSMAP4');
END SCREEN_RTN;

(SCREEN) NOEDIT LENGTH(1936) ERASE;

PRINT_RTN: PROC;

DCL. SCREEN CHAR(130),
BLANK CHAR(130) INIT(' '),
{(DATA1,DATAZ2)Y PIC'ZZ,ZZ2,22Z,22%°',
CREASE PIC' —=m ) == mee, =9,
PERCENT PIC! ~m=, ===9.9",

-
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(YYEAR,I,J) FIC' 99",

LIN% PIC' 99" INIT(O);
pCL 1 RLIST,
2 RTERM ' CHARC4),
2 Fi CHARCIZ) INITC' '),

2 ENDLIST FIXED BIN(15) INIT{(-1};
IF SUBRSTR{EIBTRMID,{,2)='NMC’' THEN RTYERM='MPT{';

STRING(SCREEN)=" ';

EXEC CICS ROUTE LIST(RLIST),

SCREEN=(40) ' '{{HSIIHEAD(3) 11’ 'HIHEAD(1)I]
HEAD(S5)1 ' '1IHEADCAX 1" ' I IHEADCIO);

SUBSTR(SCREEN, 130, 1), SUBSTR(EBLANK, 130, 1 y=EOL;

EXEC CICS SEND,IEXT FRON(SCREEN) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOH;

SCREEN=(¢100) ' " {|HSIIHEAD(B) L IESII ' : ' I IHS{IHEAD(®);

SUBSTR(SCREEN, 130,1), SURSTR(BLANK, 130, 1)=EOL;

EXEC CICS’SEND TEXT FROM(SCREEN) ACCUM LENGTH(430) ERASE

' PAGING FRINT HONEOM;

EXEC CICS SEND £EXT FROM(BLANK) ACCUM LENGTH(130) ERASE
FAGING PRINT HONEOM,

EXEC CICS SEND TEXT FROM{BLANK) ACCUM LENGTH(§130) ERASE
FAGING PRINT HONEOHM;

YYEAR=YEAR-1; . .

SCREEN=(S50) ' ‘{IYEAR|IHSIIHEAD(4)TIESII(3) ' ’'JIYYEAR]HSI
HEAD(4>11¢10) ' 'JIHEAD(&IHIESIY® ZUEEC9)  CLIHSYH
SUBSTPR(HEADC?),4,2)11¢(4) ' '{ISUBSTR(HEAD(?),3,2);

" SURSTR(SCREEN, 130,1),SUBSTR{BLANK, 130,1)=EOL;

EXEC CICS SEND TEXT FRON(SCREEN) ACCUM LENGTH(130) ERASE
FAGING FRINT HONEOM;
DO CNT=1 TO SCNT;
IF TEMPCHECK(CNT)™='#' &
(TEMPDATA4 (CNT>"=0 | TEMFDATA2(CNT)T=0) THEN
DO; CREASE=TEMPDATAY(CNT)-TEMFDATAZ2(CNT);
IF TEMPDATAZ2(CNT)=0 THEN PERCENT=0; ELSE DO;
IF CREASEYQ THEN FPERCENT=(CREASE/TEMPDATAZ(CNT)®1000)+0. 5.
ELSE PERCENT=(CREASE/TEMPDATAZ(CNT)I*1000)~-0.5;
END; :
DATAI=STEMPDATAL (CNT)
DATAZ=TEMPDATAR(CNT);
IF SUBSTR(TEMPKEY(CNT),4,1)='0' THEN
DO; EXEC CICS SEND TEXT FROM{BLANK) ACCUM LENGTH(&SG)
ERASE PAGING PRINT HONEOM;
LINS=LINS+1;
IF LIN$=50 THEN CALL TITLE_RTN,
SCREEN*(S) PP HISUBSTROTEMPKEY(CONT) 1,33 11

HSHITEMPTITLE(CNT 1! ‘TIESTIDATAY T
DATA2] ICREASE | | FERCENT; ‘
END; ELSE
IF SUBSTR{TEMPKEY(CNT),8,1)='0"' THEN
SCREEN=(9) ' 'IISUBSTR(TEHFKEY(CNT) 4,401

HS 1 I SUBSTRCTEMFTITLE(CNT)Y , {,2B) {I1ESTI
DATﬁiIIDATAZIICREASEIIPERCENT;
SURSTR(SCREEN, 130,1), SUBSTR(ELANK, 130, 4)=E0L
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
PAGING FRINT HONEOM;
LINS=LINS+1;
IF LIN$=50 THEN CALL TITLE_RTN;
END;
END;
50 J=1 T0 3; ‘
"EXEC CICS SEND ?EXT FROM(ELANK) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM;:

€

-

—95—




f END; : _ \

SEL1O=" ';
EXEC CICS SEND PAGE RETAIN,
TITLE_RTN: PROCEDURE;
DO J=1 TO 15;
EXEC CICS SEND TEXT FROM(EBLANK) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM;

END;

YYEAR=YEAR-1,;

SCREEN=(50) ' ' ||YEAR|IHS| IHEAD(4)} |ES]1¢(5) ' 'I{YYEAR]|HS||
HEAD(4)11¢10) ' ' IHEAD(S)TIESII! B Z'11(9) 0 TTIHSTI
SUBSTRC(HEAD(7),1,2)11¢4) ' '] ISUBSTR(HEAD(?7),3,2);

SUBSTR(SCREEN4430, 1), SUBSTR(ELANK, 130, 4 )=EOL;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM;
LIN2=0; , .
END TITLE_RTN;
END PRINT_RTN;

JOBEND:
EXEC CICS ENDBR DATASET('YESAN');
EXEC CICS RETURN;

END YSPGM43,;

/%
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(/' 517,86.325,13;36:14.BiZ.PROGRAH.LIBRARY(YSPGM44)

//BATJAFGM JOB  CLASS=G,MSGCLASS=X
//TESTH EXEC CICSPLI,MBR=YSPGHMA4
//TRN.SYSIN DD =
* PROCESS GS,NEST, INCLUDE;
YSFGM44: -FROC(P) OPTIONS(MAIN,REENTRANT);
bCL P POINTER,
COM_REGION BASED(P)/

2 SELYKEY CHAR(1),
2 SEL2KEY CHAR(i),
2 INKEY CHAR(12),
2 SAVEKEY CHAR(4);
DCL 1 INREC,
. 2 KEY CHAR(15),
2 TITLE CHAR(30),
2 DATA(10) PIC'(8)29",
2 YEARDATA FIC'(8)Z9',
2. CCHEK CHAR(1),
.2 FILL CHAR(S) ;
DCL 1 TEMPFILE(500),
2 'TEMFKEY CHAR(15),
2 TEMPTITLE CHAR(30),
2 TEMFDATAY FPIC'(B)Z9', -
2 TEMPDATAZ PIC'(8)Z9',
2 TEMPCHECK CHARC1),
DCL. (TOYEAR, YEAR) FIC'99',

(SCNT,CNT,CCNT) | FIC'999",
K “PIC'9,
KK CHAR(T),
(NUJEKY , NUJEK2) FIC'(B)Z9' INIT(O); .
DCL (MORE INIT('§'E),YES INIT('{'B),NO INIT('O'R)Y BIT(i);
ZINCLUDE YSMAP4,YSTITLE; . :
%ZINCLUDE SFECIALS,ETLAST;
EXEC CICS HANDLE CONDITION ERROR(JOBEND);
EXEC CICS IGNORE -CONDITION MAFFAIL NOTFND ENDFILE,
EXEC CICS HANDLE AID CLEAR(JOBEND);
KEY=' ',
EXEC CICS STARTER DATASET('YESAN') RIDFLD(KEY) GTEQ;
EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY);

YEAR=SUBSTR(TITLE,S, 2),
TOYEAR=SURSTR(TITLE, 1,
DO I= {1 TO 10;
IF TOYEAR=YEAR THEN DO; K=I; 1=190;
ELSE TOYEAR=TOYEAR+{;

END;

END;
CALL SORT_RTN;
CNT=1;
CALL SCREEN_RTN;
DO WHILE(MORE=YES);
SELECT(SELII);
WHENC'P') DO; CALL FPRINT_RTN;
MORE=NO;
END;
WHEN('E') MORE=NO;
OTHERWISE CALL SCREEN_RTN;

-

END;
END;
SORT_RTN: FROCEDURE;
DCL 1 FRODUCT BASED (CURRENT),
5 DESC | CHAR(15),
5 DESCKEY CHARC(IS) ,.
5 LEFT FOINTER,
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5 RIGHT POINTER;

DCL (MORE, YES) BITC(E)Y INIT(O'$'R),
NO BITC4) INITC'O'R),
NULL BUILTIN,

TEMP CHAR({15),
TKEY . CHAR(3),
P POBNTER,

START . : POINTER;
START=NULL, KEY='4200"; ’
EXEC CICS RESETER DATASET('YESAN') RIDFLD(KEY) GTEQ;
EXEC CICS READNEXT DATASET('YESAN') INTOC(INREC) RIDFLD(KEY);
DO WHILE(SUBSTRC(EIBRCODE,1,{) "=RENDFILE);
TEMP=SUBSTR(KEY,8,3) ] | SUBSTR(KEY,4,4) | | SUBSTR(KEY,S,3);
ALLOCATE PRODUCT;
DESC=TEMP; .
DESCKEY=KEY;
LEF T=NULL ;
RIGHT=NULL;
IF START=NULL THEN START=CURRENT;

ELSE Satl EUILD_TREE;

EXEC CICS READNEXT DATASET('YESAN') INTO{INREC) RIDFLD(KEY);
END, '
CNT=0;
TKEY="* *;
CALL PRINT_TREE(START);
SCNT=CNT;
CALL READRTN(B,11); -
CALL READRTN(4,8);

RETURN;
BUILD _TREE: PROCEDURE;
F=START;
DO WHILE(P =NULL); . *

IF DESC ¢ P -) DESC THEN
DO; IF P -) LEFT = NULL THEN
PO; P -> LEFT = CURRENT;
P=NULL; .
END; ELSE P= P -) LEFT,
END; ELSE
IF DESC > P - DESC THEN
DO; IF P -> RIGHT = NULL THEN
PO; P ~> RIGHT = CURRENT;

P=NULL ;
END; ELSE P= P -) RIGHT,
END; ELSE
DO; P = NULL; s
END;
END; suxnnngunxnnr DO WHILE END ssmssmwx/

END BUILD_TREE;

PRINT_TREE: FROCEDURE(R) RECURSIVE;

DCL Q FOINTER,
(TTKEY, TYTKEY) CHAR(13),
(DAT1,DATZ) FIC'(B8)Z9', .
(KEY1,KEY2) : CHAR(4S5) ;

IF Q=NULL THEN RETURN;

CALL PRINT_TREE{(Q -) LEFT);

KEY=Q ~)> DESCKEY;

EXEC CICS READ DATASET('YESAN') INTOCINREC) RIDFLD(KEY)
KEY{=SUBSTR(KEY,8,3) | | SUBSTR(KEY,1,4);
KEY2=SUBSTR(KEY,8,3)J | SUBSTR(KEY, 1, 4)IISUBSTR(KEY 5,3);
DAT1=DATA(K);




//" DAT2=DATA(K~1); '

IF SUERSTR(KEY,8,3)7=' ' THEN
DO; IF TKEY =SUERSTR(KEY,8,3) THEN
DPO; TTKEY=SUERSTR(KEY,{,4); .
TTTKEY=SURSTR(KEY,4,7); .
CNT=CNT+4 ;
TEMPKEY (CNT)=SUEBSTR(KEY,8,3);
TEMFDATAY (CNT) , TEMFDATA2(CNT)=0;
TEMPTITLECCNT)=TITLE;
. TKEY=SUEBSTR(KEY,8,3);
CNT=CNT+1;
TEMFKEY (CNT)=KEY1 ;
TEMFDATA1 (CNT) , TEMPDATA2(CNT)=0;
EXEC CICS READ DATASET('YESAN')
INTOCINREC) RIDFLD(TTKEY);
TEMPFTITLE(CNT)=TITLE;
CNT=CNT+1;
TEMFKEY (CNT)=KEY2;
TEMFDATAT (CNT)=DAT1 ;.
TEMPDATA2(CNT)=DAT2;
EXEC CICS READ DATASET('YESAN')
INTOCINREC) RIDFLD(TTTKEY);
TEMPTITLECCNT)Y=TITLE;
END; ELSE
DO; IF SUBSTR(TEMPKEY(CNT),4,4) =SUBSTR{(KEY,1,4) THEN
DO; TTKEY=SUBSTR(KEY,1,4);
* TYTKEY=SUBSTR(KEY,1,7);
CNT=CNT+1;
TEMPKEY (CNT)=KEY1 ;
TEMFDATAS (CNT), TEMPDATA2(CNT)=0;
EXEC CICS READ DATASET('YESAN')
INTOCINREC) RIDFLD(TTKEY);
TEMPTITLE(CNT)=TITLE;
CNT=CNT+1 ;
TEMFKEY (CNT)=KEY2;
TEMPDATA{ (CNT)=DAT{;
TEMPDATA2(CNT)=DAT2;
EXEC CICS READ DATASET('YESAN')
INTOCINREC) RIDFLDC(TTTKEY);
TEMPTITLE(CNT)=TITLE;
END; ELSE
DO; CNT=ENT+4;
TEMPKEY (CNT)=KEY2; v
TEMPDATAS (CNT)=DATY;
TEMPDATA2(CNT)=DAT2;
TTKEY=SUBSTR(KEY,1,7); 'r
EXEC CICS READ DATASET('YESAN')
INTOCINREC) RIDFLD(TTKEY);
TEMPTITLE(CNT)=TITLE;
END;

END;
TEMPCHECK (CNT)="' ',
END;
CALL PRINT_TREE(Q -) RIGHT);
END PRINT_TREE:

READRTN: PROCEDURE (CHEK,ZER);
pCL (CHEK , ZER) FIC'99"',
(KT, K2) R PIC'?'; -
NUJEK{ , NUJEK2=0;
DO UHILE(CNT)O), .
TEMPKEY(CNT)=TRANSLATE(TEMPKEY(CNT),'0"',"' ');
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>
K1=SUBSTR{TEMFKEY(CNT),CHEK, 1) ;
K2=SURSTR(TEMPKEY (CNT),ZER, 1),
IF Ki7=0 & K2=0 THEN
DO, NUJEK{=NUJEK{+TEMPDATAS (CNT);
NUJEK2=NUJEK2+TEMFDATA2(CNT) ;
END; ELSE
IF K$=0 & K2=0 THEN
DO; TEMPDATAi(CNTl~NUJEK1,
TEMPDATA2 (CNT)=NUJEK2
NUJEK1 , NUJEK2=0,
END;
CNT=CNT-1;
END;
CNT=3CNT;
END READRTN; ,
END SORT_RTN; s¥%nkn% SORT ROUTINE END wxxxwx/

SCREEN_RTN: PROC;
DCL { SCREEN,

2 LINEY CHAR(88Y,
2 LINE2 CHAR(B80),
2 LINE3 CHAR(88),
2 LINE4(20),
4 RODY CHAR(41),
4 ESIGN CHAR(2),
4 DATAf FIc'z2z,22z2,219°,
4 DATA2 . P1C'2%ZZ,227,2Z9',
4 DATA3 PIC!'~——,-—~~,—=9"',
4 RATE PIC'~---9.9',
4 BLANK CHAR(1);
DCL CREASE FLOAT(16),
PERCENT FLOAT(16),
YYEAR PIC'99’;
STRING(SCREEN)=' '; .
LINE1=¢20) ' '[IHSI{HEAD(3) | 1" 'IIHEAD(I) |1 'TIHEADC(2) |
HEAD(S)[1' 'IIHEADCAY|1' 'IIHEADC10) 1 ¢i2) * ']
HEAD(S) 1 1EST ' "1 {HSTIHEAD(P?) | IES;
YYEAR=YEAR-1;
LINE3=(42) * '|IYEAR] IHS|IHEAD(A) | IESTI" "IEYYEART EHS 1
HEAD(A) | § ' - 'IIHEAD(é)IIESII' Z'
RLANK=' ';
ESIGN=ES;

DO I=4 YO 20 WHILE(SCNT)=CNT);
IF TEMFCHECK(CNT) ='%' & .
(TEMFDATAT (CNT) =0 | TEMPDATA2(CNT)™=0 ) THEN
DO; CREASE=TEMPDATAY (CNT)-TEMPDATA2(CNT); ...
IF TEMPDATA2(CNT)=0 THEN PERCENT=0,; ELSE DO;
IF CREASE>O THEN PERCENT= (CREASE/TEHPDQTA"(CNT)*1000)+0 5;
ELSE PERCENT=(CREASE/TEMPDATAZ2(CNT)*1000)-0.5;
END; : .
DATAT (I)=TEMFDATAT (CNT);
DATA2(I)=TEMFDATAZ(CNT);
DATA3(I)=CREASE;
RATE(I)=PERCENT;
IF SURSTR{TEMPKEY(CNT),4,1)='0"' THEN
EODY(1)=SURSTR(TEMFKEY(CNT),4,3) 11
HSIITEHPTITLE(CNT);

ELSE
IF SUBSTR(TEMPKEY(CNT),8,4)='0"' THEN
BODY(I)=(4) ' '] |ISUBSTR{TEMPKEY(CNT),4,4)11I
HS | | SUBSTR(TEMPTITLE(CNT) , 1,28);
ELSE - :
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IF SUBSTROTEMFKEY(CNT),14,1)='0"' THEN
BODY(XI)=(9) ' '||ISUBSTR(TEMFKEY(CNY),8,3)11
HS | | SUBSTR(TEMPTITLEC(CNT)Y , 4,24);
END ELSE I=I-1;
CNT=CNT+{;
END;. :
EXEC CICS SEND TEXT FROM(SCREEN) NOEDIT LENGTH({936) ERASE;
SEL§O=* ', -
EXEC CICS SEND MAP(' YSNAP43 } MAPSET('YSMAP4');
EXEC CICS RECEIVE MAFP('YSMAFAZ') MAFSET('YSMAF4');
END SCREEN_RTN;

PRENT_RTN: PROC;

DCL. SCREEN CHAR(130),
BLANK CHAR(130) INIT(' "),
(DATA1,DATA2) PIC'ZZ,Z2Z,222,229°',
CREASE PIC ~—, =, -, ~=9"*,
PERCENT FIC  ~mm, ~=%.9",
(YYEAR,I,J) PIC'99',
LIN - PIC'99' INIT(O);
DCL ¢ RLIST,
2 RTERM CHAR(4),
2 Fi CHAR(12) INITC(' ",

2 ENDLIST FIXED BINGIZ) INIT(-1);
IF SUBSTR(EIRTRMID,1,2)="MC' THEN RTERM='MPT{';
STRING(SCREEN)="' ',
EXEC. CICS ROUTE LIST(RLIST); n
SCREEN=(34) ' ’|IHSIIHEAD(3)11*' CIIHEADCI) 11" "I IHEAD(2) |
HEAD(S) I 1 'HIHEAD(AY 1] '11HEAD(IO);
SUBSTR(SCREEN, 130,1), SUBSTR(BLANK, 130, 1)=E0L; -
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH({30) ERASE
FAGING FRINT HONEOM,
SCREEN=(100) ' 'liHSilHEéD(S)!IES!!'i 'Q!HS!!HEGD(9)5
SUBSTR(SCREEN, 130,4), SUBSTR(BLANK, 130, { )=EOL ;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM;
EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE
" FPAGING PRINT HONEOM;
EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH({30) ERASE
FAGING FRINT HONEOM;
YYEAR=YEAR-{;

SCREEN=(50) ' '!IYEARIlHSl!HEAD(4)IlESII(5) 'O HIYYEARTIHS |
HEAD(4) [ 1 (40) ' | IHEADCSYTIESTT! S II(?) P HIHSHE
- SUBSTR(HEAD(7),4,2)11(4) * '] |SUBSTR(HEAD(7),3,2

SUBSTR(SCREEN, 130,1), SURSTR(ELANK, 130, 1)=EOL;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH¢430) ERASE
FAGING PRINT HONEOM;
DO CNT=1 TO SCNT;
IF TEMPCHECK(CNT) ='x' &
(TEMFDATAY (CNT) =0 | TEHPDATA“(CNT)"=0 )} THEN
DO; CREASE=TEMPDATA$ (CNT)-TEMPDATA2(CNT);
IF TEMFDATAZ(CNT)=6 THEN PERCENT=0; ELSE DO;
IF CREASE»® THEN PERCENT=(CREASE/TEMPDATAZ(CNT)*1000)+0.5;
ELSE PERCENT=(CREASE/TEMPDATAZ2(CNT)*1000)-0.5;
END; :
DATAL=TEMPDATAT (CNT};
DATA2=TEMPDATA2(CNT);
IF SUBSTR(TEMFKEY(CNT),4,1)='0' THEN
DO; EXEC CICS SEND TEXT FROM(ELANK) ACCUM LENGTH(130)
ERASE FPAGING PRINT HONEOM;
LINS=LINS+1;
IF LIN$=50 THEN CALL TITLE_RTN;
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SCREEN=(5) * ‘IISUBSTR(TE”PKEY(CNT).
HSTITEMPTITLEC(CNT) L I "HE
DATAZ1 |CREASE] | PERCENT;

_v
p-.-

DATAY 1

END; ELSE
IF SUBSTR(TEMPKEY(CNY),8,1)='0' THEN
DO; EXEC CICS SEND TEXT FROMCELANK) ACCUM LENGTH(130)
. ERASE PAGING PRINT HONEOM;
LINS=LIN$+1;
IF LINS$=30 THEN CALL TITLE_RTN;
SCREEN=(9) * ' |ISUBSTR(TEMFKEY(CNT).4,4)1} |
HS 1 I SUBSTROTEMPTITLERUNT) , 4,28) L IEST
DATAS | IDATA2] | CREASE | |PERCENT;

END; ELSE
IF SUBSTR(TEMPKEY(CNT),41,1)='0"' THEN
SCREEN=(44) ' | |SUBSTR(TEMPKEY(CNT) 8,30}

HS| | SUBSTR(TEMPTITLE(CNT) (4,24) HIEST
DATA1 | | DATA2] | CREASE | | PERCENT;
SUBSTR{SCREEN, 130, 1), SURSTR(BLANK, 130, 1 }=EOL,
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
FAGING PRINT HONEDM;
LINS=LINS+;
IF LIN#=50 THEN CALL TITLE_RTN;
END;
END;
DO J=1 T0 3,
EXEC CICS SEND . TEXT FROM(ELANK) ACCUM LENGTH(130) ERASE
PAGING FRINT HONEDM;
END; '
SEL10=" ';
EXEC CICS SEND PAGE RETAIN;
TITLE_RTN: PROCEDURE;
DO J=1 TO 15;
EXEC CICS SEND TEXT FROM(ELANK) ACCUM LENGTH(130) ERASE
FAGING PRINT HONEOM;

END;

YYEAR=YEAR~1{;

SCREEN=(50) ' '} |YEARIIHS] IHEAD(A) J IESII(5) ' "JIYYEAR|IHSI]
HEAD(4XY{](10) * ' IHEAD(&Y | IEST]! ZUEI(RY ' YHIHSHI
SUBSTRC(HEAD(7),1,2)11<4) * '||SUBSTR(HEAD(7),3,2), .

SUBSTR(SCREEN, 130, 1), SUBSTR(BLANK, 130, 1)=EOL;
EXEC CICS SEND TEXT FRON(SCREEN) ACCUM LENGTH(130) ERASE
PAGING FRINT HONEOM; :
LINE=0;
END;
END PRINT_RTN;

JOBEND : . , -
EXEC CICS ENDBR DATASET('YESAN');
EXEC CICS RETURN;
END YSPGM44;
/%
7/
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"Hi7,86.

325;13:3&:31,Bi73PR0GRAH.LIBRARY(YSPGH45)

//BY7IAFPGM JOB  CLASS=F,MSGCLASS=X
//TESTS EXEC CICSFLI,MER=YSFGM4S
//TRN.SYSIN DD =

* PROCESS GS,NEST, INCLUDE;

YSPGMAS5: PROC(F) OFTIONS(MAIN,REENTRANT);
DCL P POINTER,
i COM_REGION EASED(P), -
2 SELIKEY CHARC(Y),
2 SEL2KEY CHARC(1),
2 INKEY CHAR(42)
2 SAVEKEY CHAR(4);
DCL 1 INREC,
. 2 KEY CHAR(15},
2 TITLE CHAR(30},
2 DATAC1O) PIC'(8)-9"',
2 YEARDATA PIC'(8)-9',
-2 CCHEK CHARC(1),
2 FILL CHAR(S);
DCL (TOYEAR, YEAR) PIC'9%,
MOVEKEY(21) CHAR(13),
K PIC'99"'; :
DCL (MORE INIT('1'R),YES INITC'§'R),NO INIT('O0'R))
DCL I0MSG CHAR(B80), :
LEN FIXED BINCI5)Y INIT(8O),;
#INCLUDE YSMAPA,YSTITLE;
ZINCLUDE SPECIALS,BTLAST;
EXEC CICS HANDLE CONDITION ERROR(JOREND);
EXEC CICS IGNORE CONDITION MAFFAIL NOTFND ENDFILE;
EXEC CICS HANDLE AID CLEAR(JOBEND);
KEY=' *; :
EXEC CICS STARTHER DATASET('YESAN') RIDFLD(XEY) &TEQ;
EXEC CICS

YEAR=SUBSTR(TITLE,S5.2),
TOYEAR=SUBRSTR(TITLE,1,2);
DO I= 1 TO 10;

t

IF TOYEAR=YEAR THEN DO; K=I1; 1I=18; END;
ELSE TOYEAR=TOYEAR+1;
END;
KEY="'1200";
CALL SCREEN_RTN;
DO WHILE(MORE=YES);
SELECT(SEL{I);
WHEN('P') DO; CALL PRINT_RTN; v
MORE=NG;
END ; '

WHEN('E* ) MORE=NQ;
OTHERUWISE DO; KEY=MOVEKEY(21),
© CALL SCREEN_RTN; ’
END;

™

END;
END;

SCREEN_RTN: PROC;
DCL ¢ SCREEN,

2 LINEf CHAR(88),
2 LINEZ2 CHAR{(80),
T2 LINE4(21),
4 EBODY CHAR(67),
4 ESIGN CHAR(2),
4 TEMPDATA CHAR(11),
4 BLANK CHARC(4) ; ..
DTL YSDATA FIC! mmm) mmmy @0,

BIT(1);

READNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY);
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KK FIC'Z9"',
STRING(SCREEN)="' ';
ESIGN=ES;
LINE4=(20) * *|{HSIIHEAD(1)I{"' '[IHEADC(2)II1' '1IHEAD(3)II
HEAD(5) ) | " IHEADCA) | | CTIHEADCIEY 11 ¢42) '
HEAD(8) J IESI}': | IHSIIMEAD(?) | |ES;

EXEC CICS RESETEBR DATASET('YESAN') RIDFLD(KEY) GTEQ;
EXEC CICS READNEXT DATASET('YESAN') INTO(INREC) RIDFLD(KEY);
DO I=1 TO 21 WHILE(SURSTR(EIERCODE,{, 1) =RENDFILE);
IF CCHEK™='%x' & DATA(K)™=0 THEN
DO; MOVEKEY(I)=KEY;

IF SUBSTR(KEY,41,3)=" ' THEN
DO; IF SUBSTR(KEY,S,1)=' ' THEN
. BODY(I)=(4) ' '||SUBSTR(KEY,,4){ |HSIITITLE;
ELSE .
IF SUBSTR(KEY,8,1)=' ' THEN
BODY(I)=({1) ' '||SURSTR(KEY,5.3)1]
HSIITITLE;
ELSE
IF SUEBSTR(KEY,44,i)=' ' THEN
EODY(I)=(45) * '} |SUBSTR(KEY,8,3) ||
HS| I TITLE;

YSDATA=DATA(K) ;
TEMPDATA(I)=YSDATA;

KK=0;
END; ELSE
DO; IF SELi0='BE' THEN DO; KK=KK; SEL10=' '; END;
ELSE KK=KK+1;
BODY(I)=(49) " "IIKKI1'.'|IHSHITITLE;

YSDATA=DATA(K);
TEMPDATACI)=YSDATA;
END;
END; ELSE I=I-{;
EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY);
END;
EXEC CICS SEND TEXT FROM(SCREEN) NOEDIT LENGTH(1932) ERASE;
SEL{1O=' ';
EXEC CICS SEND MAF('YSMAP43') MAFPSET('YSMAPA');
EXEC CICS RECEIVE MAF('YSMAPAJ') MAPSET('YSMAP4'),;
END SCREEN_RTN; i

FRINT_RTN: "PROC;

DCL SCREEN CHAR(130), : i
BLANK CHAR(130) INIT(' '),
DATA{ PIC' -——,——=,==9",
KK FIC'Z9', oy
LINS PIC'?9' INIT(O);
pPCL 1 RLIST, .
2 RTERM - CHAR(4),
2 F3 CHAR(412) INITC' ',

2 ENDLIST FIXED RINC45) INIT(-1); :
IF SUERSTR(EIBTRMID,{,2)='MC' THEN RTERM='MFT{';

STRING(SCREEN)=" ';

EXEC CICS ROUTE LIST(RLIST),

SCREEN=¢(40) ' '|IHSIJHEADCI) ' ‘'1IHEAD(2){|" '1IHEAD(3) 1|
HEAD(S)I1' '1IHEAD(4)Y}|' 'IIHEAD(i1), .

SUBSTR(SCREEN, 430,1), SUBSTR(BLANK, 130, §)=EOL ;

EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH({30) ERASE
' PAGING PRINT HONEOM;

SCREEN=¢(93) ' '||HS}IHEAD(8)IIES||': ']1IHS|IHEAD(9);

SUBSTR(SCREEN, 130, 1), SUBSTR(BLANK, 130, 1 )=EOL;

EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
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//’7 FAGING PRINT HONEOM;

EXEC CICS SEND TEXT FROM(ELANK) ACCUM LENGTH(130) ERASE

FPAGING PRINT HONEOM;
EXEC CICS SEND TEXT FROM(ELANK) ACCUM LENGTH(130) ERASE

PAGING PRINT HONEOM;
SCREEN=(¢(54) ' '||YEAR||HS{|HEADCA) | 1(10) * '} |SURSTRC(HEADCI4),4,2)11

T (44) ' | |SUBSTR(HEAD(#4),3,2) I IESI1(14) ' "JIYEAR|IHS
HEAD(4); ’

SUBSTR(SCREEN, 130,1),SUBSTR(BLANK, 130, 1)=E0L;
EXEC CICS SEND TEXT FROM(SCREEN)Y ACCUM LENGTH(130) ERASE

PAGING PRINT HONEOM;
KEY="'§200";
EXEC CICS RESETHR DATASET('YESAN') RIDFLD(KEY) GTEQ;
EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY).
DO WHILE(SUBSTRC(EIRRCODE, 4, 1) =RENDFILE);

IF CCHEK™='%' & DATA(K)"-O THEN
DO; DATA1=DATA(K);
IF SURSTRC(KEY,14,3)=' ' THEN .
DO; IF SUBSTR(KEY,5,4)=' ' THEN
. DO; EXEC CICS SEND TEXT FROM(ELANK) ACCUM
LENGTH(430) ERASE PAGING PRINT HONEOH'

LINS=LINE+
IF LIN#=50 THEN CALL TITLE_RTN;
SCREEN=(&) ' ' ||SUESTR(KEY,1,4) | IHS| |
TITLEIJES|1¢8) ' ']IDATA1;
END; ELSE
IF SUBSTR(KEY,B,1)=' ' THEN

DO; EXEC CICS SEND TEXT FROM(BLANK) ACCUM
LENGTH(130) ERASE PAGING PRINT HONEOM;

LINS=LINS+{;
IF LIN#=50 THEN CALL TITLE RTN;
SCREEN=(§1) * '1{SUBSTR(KEY,5,3)1}]|
HSIITITLE(4) ' (I IESIIDATAY;
END; ELSE
IF SUBSTR(KEY,44,1)=' ' THEN

DO; EXEC CICS SEND TEXT FROM(ELANK) ACCUM
LENGTH(430) ERASE PAGING PRINT HONEOM;

LINS=LINE+1;
IF LIN$=50 THEN CALL TITLE_RTN;
SCREEN=(15) ' ']1SUBSTR(KEY,8,3)1|
. HSUITITLE| {ES) IDATAY;
. KK=0; ! - .
END;
END; ELSE
DO; KK=KK+t,;
SCREEN=(62) ' " 1KKI{'.' 1 IHSIITITLELIES| IDATAT;

END;
SUBSTR(SUREEN, 130,1), SUBSTR(EBLANK, 130, 1 )=ECL;
EXEC CICS SEND TEXT FRON(SCREEN) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM;
LINS=LINS+1;
IF LIN#=50 THEN CALL TITLE RTN
END;
EXEC CICS READNEXT DATASET('YESAN > INTO(INREC) RIDFLDCKEY) ;
END;
DO J=4 TO 5;
EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM;
END; ’
SEL1O0=" ',
EXEC CICS SEND PAGE RETAIN;
TITLE_RTN: FROCEDURE;

_ Y,
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DO J=1 TO i5;

EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE

PAGING PRINT HONEOM; .
END;
SCREEN={54) ' '} IYEARIIHS| IHEAD(4Y11(10) * '}ISUBSTR(HEAD({11),1,2)11
(14> * ' JISUBSTR(HEAD($4),3,2)IEST1(41) ' 'LIYEARIIHSII

HEAD(4);
SUBSTR(SCREEN, 130,1) ,SUBSTR(BLANK, 130, 1)=E0L;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM;
LINS=0;
END_FRINT_RTN;

JOREND: _ )
EXEC CICS ENDBR DATASET(‘YESAN');
EXEC CICS RETURN;

END YSPGMAS;
Vs ]
77
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Bi?,Sﬁ.SZS,{3:3&:49,Bf%.PRQGRAH.LIBRARY(YSPGH46)

//BY7IAFGH JOB  CLASS=G,MSGLLASS=X
//TESTH EXEC CICSPLI,MBR=YSPGMA6
//TRN.SYSIN DD =

* PROCESS GS,NEST, INCLUDE;

YSPGHA46: .PROC(F) OFTIONS (MAIN,REENTRANT)
DCL P POINTER, b
t COM_REGION BASED(P), .
2 SELIKEY  CHAR({),
2 SEL2KEY CHAR(4)
2 INKEY CHAR(12),
2 SAVEKEY  CHAR(4); ,
DEL § INREC,
. 2 KEY CHAR(15),
2 TITLE ‘CHAR (307,
2 DATAC10)  PIC'(B)-9's
2 YEARDATA FIC'(8)-9',
2 CCHEK CHARCT),
2 FILL CHAR{S);
DCL 1 TEMFFILE(500),
2 TEMPKEY CHAR(15),
2 TEMPTITLE CHAR(30),
2 TEMFDATA  FIC'(B)-9°,
2 TEMPCHECK CHARC);
DCL (TOYEAR, YEAR,K) FICT99,
(SCNT,CNT, CCNT) PIC'999°,
KK CHAR(3),
NUJEX FIC' (8-9' INIT(0);
DCL (MORE INIT('§'E),YES INITC'4'E),NO INITC'O'E))  BIT(H);
DCL IOMSE  CHAR(BO), .
LEN FIXED BINC15) INIT(80);

ZINCLUDE YIMAP4,YSTITLE;
ZINCLUDE SPECIALS,EBTLAST;
EXEC CICS HANDLE CONDITION ERROR(JOBEND); 1

EXEC CICS IGNORE CONDITION MAPFAIL NOTFND ENDFILE;

EXEC CICS HANDLE AID CLEAR(JOBEND);

KEY="* *; .

EXEC CICS STARTBR DATASET('YESAN') RIDFLD(KEY) GTER;

EXEC CICS READNEXT DATASET('YESAN') INTOC(INREC) RIDFLD(KEY);
YEAR=SURSTR(TITLE, 5‘&)!
TOYEAR=SURSTR(TITLE, $
DO I= 1 TO 10,

.

1=16; END;

IF TOYEAR=YEAR THEN DO; K=I;
. ELSE TOYEAR=TOYEAR+1{;
END;
CALL SORT_RTN;
CNT=1%; P

CALL SCREEN_RTN, |
DO WHILE(MORE=YES);
SELECT(SELII),;
UHEN( P') DO; CALL PRINT_RTN;
MORE=ND;
END;
WHEN('E')Y MORE=NQG; .
OTHERWISE CALL SCREEN_RTN;
END;
END;

SORT_RTN: PROCEDURE;

o

DCL {1 PRODUCT
5 DESC
5 DESCKEY
5 LEFT

BASED(CURRENT),
CHAR(15),
CHAR(15),
FOINTER,

—107—




-

5 RIGHTY s POINTER;

DCL (MORE, YES) BIT(1) INITC'f'R), .
NO BITCE) INITC('O'H),
NULL BUILTIN,
TEMF CHAR(15),
TKEY CHARC7) INIT(' '),
P POINTER,
START POINTER;

START=NULL; KEY='1200"; )
EXEC CICS RESETER DATASET('YESAN') RIDFLD(KEY) GTEQ;
EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY);
DO WHILEC(SUBSTR(EIBRCODE,{, 1) =RENDFILE);
TEMP=SUERSTR(KEY,{,4)| | SURSTR(KEY,B,3) | ISUBSTR(KEY,5,3);
ALLOCATE PRODUCT; ’
« DESC=TEMP;
DESCKEY=KEY,
LEFT=NULL ;
RIGHT=NULL ;
IF START=NULL THEN START=CURRENT;
ELSE CALL BUILD_TREE; :
EXEC CICS READNEXT DATASET('YESAN') INTO(INREC) RIDFLD(KEY);
END; : .
CNT=0;
CALL PRINT_TREE(START);
SCNT=CNT;
CALL READRTN(8,11);
CALL READRTN(5,8);
CALL READRTN(3,5);
RETURN; '

RUILD_TREE: PROCEDURE;
P=START;
DO WHILE{(P™=NULL);
IF DESC ¢ P -) DESC THEN
DO; IF P -) LEFT = NULL THEN
DO; F -> LEFT = CURRENT;
P=NULL;
END; ELSE P= P -) LEFT,
END; ELSE
IF DESC > P -) DESC THEN
PC; IF P -> RIGHT = NULL THEN

DO; P - RIGHT = CURRENT; <
P=NULL;
END; ELSE P= P =) RIGHT;
END; ELSE ’
DO; P = NULL; -
/% PUT LIST ¢('DUFLICATE KEY ON INFUT IS IGNORED.'); *®/
END; T
END; /unnnnnnxexnr DO WHILE END weexsxex/

END RUILD_TREE;’

PRINT_TREE: PROCEDURE(®) RECURSIVE;
DCL Q FOINTER;
IF @=NULL THEN RETURN;
CALL PRINT_TREE(Q ~> LEFT);
KEY=Q -> DESCKEY;
EXEC CICS READ DATASET('YESAN') INTOCINREC), RIDFLD(KEY);

IF SURSTR(KEY,5,6)=' ' | SUBSTR(KEY,B,3)7=' ' THEN
DO; CNT=CNT+1; - ) .
IF SUBRSTR(KEY,5,1)7=' ' THEN

DO; IF TKEY™=SUBSTR(KEY,4,4)||SUBSTR(KEY,8,3) THEN
DO; TEMPKEY(CNT)=SUBSTR(KEY,4,4)1|SUBRSTR(KEY,8,3);

\_ | | J
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TEMPTITLE(CNT)=TITLE;
TEMPDATA(CNT)=0;
TEMPCHECK{(CNT)=" ';
TKEY=TEMPKEY(CNT);
CNT=CNT+14;
END;
END;
TEMPKEY(CNT)=SUBSTR(KEY, 1, 4) | | SURSTR(KEY,8,3) 1|
' SUBSTR(KEY,5,3);
TEMPTITLE(CNT)=TITLE;
TEMPDATACCNT)=sDATA(K) ;
TEMPCHECK (CNT ) =CCHEK ;
END; 4 :
CALL PRINT_TREE(Q ~> RIGHT);
END PRINT_TREE;

-
READRTN: PROCEDURE (CHEK, ZER) ;

DCL  (CHEK,ZER) FIC'99",
(K4,K2) PIC'9";
NUJEK=0;
DO WHILE(CNT)>0);
TEMPKEY (CNT)=TRANSLATE (TEMPKEY(CNT), '0', ' '),

K1=SUBSTRC(TEMPKEY (CNT),CHEK, 1) ;
K2=SUBRSTR{(TEMPKEY(CNT), ZER, 1) ;
IF Ki™=Q & K2=06 THEN
DO; NUJEK=NUJEK+TEMPDATA(CNT);
END; ELSE
IF K1 =0 & K2=0 THEN
DO, TEMPDATA(CNT)=NUJEK;

" NUJEK=0;
END;
CNT=CNT~1{ ;
END;
CNT=SCNT;
END READRTN;

END SORT_RTN; /%xnsnx SORT ROUTINE END sxxxnx/

SCREEN_RTN: FROC;
DCL ¢ SCREEN,

2 LINEY CHAR(88),
2 LINEZ2 CHAR(80),
2 LINEA(21),
4 BODY CHAR(67),
4 ESIGN CHAR(2),
4 DATA1 PIC' =, om0,
4 BLANK CHAR(4) ;
DCL J PIC'29';
STRING(SCREEN)="' *; i
LINEf1=(20) ' '{IHSIIHEADC1)] 1’ *|}HEAD(3) [ |HEAD(S) |
OUUIIHEADCAY [t "TIHEADCE i) FHci2y vy
HEAD(E) JIESTI': ']}

HS | |HEAD(®) | |ES;
ESIGN=ES; ' i
DO I=1 TO 21 WHILE(SCNT)>=CNT);
IF SURSTR{TEMFKEY(CNT),8,4)='0"' THEN
DO; DATA (I)=TEMPDATA(CNT); :
IF SURSTR(TEMPKEY(CNT),S,4)='0' THEN
BODY(I)=(6) ' " ||SUBSTR(TEMFKEY(CNT),{,4)}|
. ‘ HSI{TEMFTITLEC(CNT); ELSE
. ' IF SUBSTR(TEMPKEY(CNT),8,41)='¢Q' THEN
BODY(I)=(14) 'TISURSTROTEMFKEY (CNT)Y,5,3) 1)
HSTITEMPTITLE(ENT) ;
CJ=0; R
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END; ELSE
DO; KEY=SURSTR(TEMPKEY(CNT),1,4)}1
SUBSTRC(TEMPKEY(CNT),8,3) 11" *;
EXEC CICS READ DATASET('YESAN') INTO(INREC) RIDFLD(KEY);

Juded;
BODY(I)=({5) ' *1I1Jdii'."1IHSIITITLE,
DATAS (1)=TEMPDATACCNT) ;
END;
CNT=CNT+4;
END; .
EXEC CICS SEND TEXT FROM(SCREEN) NOEDIT LENGTH(1932) ERASE;
SEL1O=" ',

EXEC CICS SEND MAP('YSMAPA3') MAFSET('YSMAP4');
EXEC CICS RECEIVE MAP('YSMAF43') MAFSET('YSMAP4');
END SCREEN_RTN;

PRINT_RTN: FROC;

pcL SCREEN CHAR(130),
BLANK CHAR($30) INIT(' '),.
DATA{ PIC -, ~~=,~=9",
LINS FIC'99' INIT(O),
KK FIC'Z9';
DCL § RLIST,
2 RTERM CHAR(4),
2 Fi " CHAR(12) INITC® 'y,

2 ENDLIST . FIXED BINWI5) INIT(-4);
IF SUEBSTR(EIBYRMID,!,2)='MC' THEN RTERM='MFT1';

STRING(SCREEN)=" ',

EXEC CICS ROUTE LIST(RLIST);

SCREEN=(40) ' "[IHSIIHEAD(IYI1' ‘{IHEAD(3)}}
HEAD(SY 11"  "IIHEADC(AY || ' IHEADC1I0);

SUBSTR(SCREEN, 130, 1), SUBSTR(ELANK, 130, 1)=E0QL,

EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(136) ERASE
PAGING FPRINT HONEOM;

SCREEN=(93) ' 'IIHSIIHEAD(B)IIESII" ‘1TIHS | THEAD(9) ;

SUBSTR(SCREEN, 130, 1), SUBSTR(BLANK, 130, 4)=E0L;

EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM;

EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(136) ERASE

- FPAGING FPRINT HONEOM;

EXEC CICS SEND TEXT FROMCELANK) ACCUM LENGTH(430) ERASE

PAGING PRINT HONEOM,;

SCREEN=(54) * '[|YEARIIHS|IHEAD(4)11(10) ' ‘IlSUBSTR(HhAD(ii 1,27
1114y ' ’iiSUBSTR(HEAD(?i) J,2XHIESHICHEY * "HIYEARTIHSTI
HEAD(4);

SUBSTR(SCREEN, 130,1), SUBSTR(BLANK 130, 4)=E0L;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH({30) ERASE -
PAGING PRINT HDNEOM
DO CNT=4 TO SCNT; -
IF TEMPCHECK(CNT)™='%' & TEMPDATA(CNT} =0 THEN
DO, DATA{=TEMFDATA(CNT), '
IF SUBRSTR{TEMPKEY(CNT),8,1)='0." THEN
DO; IF SUBSTR(TEMPKEY(CNT) 5,1)="0' THEN
PO; EXEC CICS SEND TEXT FROM(BLANK) ACCUﬂ
LENGTH(130) ERASE PAGING PRINT HONEOM,
LINS=LIN%+4, -
IF LIN$=50 THEN CALL TITLE_RTN;

SCREEN=(6) ' *[{SUBSTR{TEMPKEY(CNT),1,4>11
HS | ITEMPTITLE(CNT) | [ES] |
(8) ' "1IPATAL;
END; ELSE

IF SUBSTR(TEMFKEY(CNT),8,1)='0' THEN N
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' DO EXEC CICS SEND TEXT FROM(BLANK) ACCUM
’ LENGTH(130) ERASE FAGING FRINT HONEOM;
LINS=LINS+1;
IF LIN#=50 THEN CALL TITLE_RTN;
. SCREEN=(11) * ' ISUBSTR{TEMPKEY(CNT),5,3)11
. . HSTITEMPTITLE(CNT) ) IESI
(4) * '1|DATAY;
END;
KK=0;
END; ELSE
" DO; KEY=SUBRSTR(TEMPKEY(CNT),{1,4)11
SUBSTR(TEMPKEY(CNT) 8,311 ',
EXEC CICS READ DATASET(’YESAN') -
INTOCINREC)Y RIDFLD(KEY);
KK=KK+1; ‘ )
SCREEN=(62) ' "JIKKI1 ' 'IIHSIITITUETIIES|IDATAY;
END;
SUESTR(SCREEN, 130, 1), SUBRSTR(BLANK, 130 1)=EO0L,;
EXEC CICS SEND TEXT FROH(SCREEN) ACCUM LENGTH({30) ERASE
: PAGING PRINT HONEOM;-
- LIN$=LIN$+1; ’ o
IF LIN% 50 THEN CALL TITLE_RTN;

EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE
' FAGING FRINT HONEOM;
END;
SEL{O=
EXEC CICS SEND PAGE RETAIN;

TITLE_RTN: PROCEDURE;
DO J={ TO 15;

EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM;

END;
SCREEN=(34) * "|IYEARI{HSIIHEAD{4)]]1<(19) ' *'{|SUBSTR(HEAD(11),1,2>
. Pheia) * *JISUBSTR(HEADCE1Y,3,2)IESI1C14) ' " LIYEAR} IHST
HEAD(4),; . -

SUBSTRC(SCREEN, 130,1), SUBSTR(ELANK, 130, 4 )=EOL
EXEC CICS SEND TEXT FROM{SCREEN) ACCUM LENGTH({30) ERASE
PAGING PRINT HONEGM,;
LINS=0;
END TITLE_RTN;
_END PRINT_RTN; ,

JOBEND : :
EXEC CICS ENDER DATASET('YESAN');
EXEC CICS RETURN;

END YSPGM44;

Vé

%
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(//74;17.86.325,13:37:05,31?.?ROGRAH.LIBRARY(YSPGNQ?)Q’ .

'

//B{T7JAPGM JOB CLASS=G,MSGCLASS=X
//TESTH EXEC CICSPLI,MBR=YSFGMAT
//TRN.SYSIN DD % .
* FROCESS GS,NEST, INCLUDE; !
YSFGMA7: PROC(P) OPTIONS(MAIN,REENTRANT);
DCL P FOINTER, .
1 COM_REGION -BASED(F),
2 SELMKEY CHAR(1),
2 SELZKEY CHARC1),

2 INKEY CHAR(12),
2 SAVEKEY ~ CHARC4);
_ DCL 1§ INREC,
KEY CHAR(15),
TITLE CHAR(30), |

DATA(10) PIC'(8)-9"',
YEARDATA PIC (B)-9",
CCHEK CHAR(1),
FILL CHAR(5);
DCL 1 TEMPFILE(500),

2 TEMPKEY CHAR(15),

2 TEMPTITLE CHAR(30),

2 TEMPDATA PIC'(B)-9",

2 TEMPCHECK CHAR(1);

EI P3P RO DI P

DCL (TOYEAR, YEAR,K) PIC'99",
(SCNT,CNT) : PIC 999",
KK - . CHAR(4),
(NUJEK , SDATA) FIC'(8)-%' INIT(O);

DCL (MORE INIT('4'B),YES INIT('4'R),NO INIT('O'BY)Y BITH);
DCL I0OMSG CHAR(BO), ’

LEN FIXED BINCi5) INIT(80);
ZINCLUDE YSHMAP4,YSTITLE;
%ZINCLUDE SPECIALS,BTLAST;
EXEC CICS HANDLE CONDITION ERROR{JOBEND); ¢
EXEC CICS IGNORE CONDITION MAPFAIL NOTFND ENDFILE;
EXEC CICS HANDLE AID CLEARCJOBEND);
KEY="' '; .
EXEC CICS STARTER DATASET('YESAN') RIDFLD(KEY) GTEQ;
EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY);
YEAR=SUBSTR(TITLE,5.,2); . ‘
TOYEAR=SUBSTR(TITLE,1,2);
PO I= 1 TO 10;

IF TOYEAR=YEAR THEN DO; K=I; I=10; END; . -

ELSE TOYEAR=TOYEAR+{;

END; .
CALL SORT_RTN; .y
CNT=1; .
CALL SCREEN_RTN, -
DO WHILE(MORE=YES);

SELECT(SELLI);
WHENC'P') DO; CALL PRINT_RTN;
MORE=NQ;
END;

WHENC('E') MORE=NO;
OTHERWISE CALL SCREEN_RTN;

END;
END;
SORT_RTN: FROCEDURE;
DCL 1 PRODUCT RASED(CURRENT),
S DESC CHAR(15),
5 DESCKEY CHAR(15),
5 LEFT FOINTER,
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4

5 RIGHT POINTEK;

‘DCL (MORE,YES) BITC(E) INITOE'RY,
NO BITC(E) INITCO'O'R),
NULL BUILTIN,

(TEMP, SSKEY) CHAR(13),

- TKEY CHAR(33 INIT(® *),
SKEY . CHAR(?) 'INITC' '),
F FOINTER,

START POINTEKR;

START=NULL, KEY='1200";
EXEC CICS RESETEBR DATASET('YESAN'> RIDFLD(KEY) GTEQ;
EXEC CICS READNEXT DATASETC('YESAN') INTOCINREC) RIDFLD(KEY);
DO WHILE(SUBSTR(EIRRCODE,4,1) =RENDFILE);
TEMF=SUBSTR(KEY,8, 3)!ISUBSTR(KEY 1 4) 1 | SUBRSTRA(KEY,5,3);
ALLOCATE PRODUCT;
DESC=TEMF;
DESCKEY=KEY;
LEFT=NULL,;
RIGHT=NULL;
IF START=NULL THEN START CURKENT;
ELSE CALL RUILD_TREE;

END,;
CNT=9;

CALL PRINT_TREE(START);
SENT=CNT;

CNT=SCNT;

CALL READRTN(B,i1);
CALL READRTN(4,8);
RETURN;

BUILD_TREE: PROCEDURE;
P=START; : , ‘
DO WHILE(P =NULL);
IF DESC ¢ F -5 DESC THEN
DG; IF P ~> LEFT = NULL THEN
DO; P -> LEFT = CURRENT;

. P=NULL.; ,
END; ELSE P= P -) LEFT,
END; ELSE
IF DESC » P -> DESC THEN : .
DO; IF P ~> RIGHT = NULL THEN ) »
DO; P .~y RIGHT = CURRENT;
F=NULL ;
END; ELSE F= P ~)» RIGHT; .y
END; ELSE .
DO; P = NULL,
/% FUT LIST ('DUPLICATE KEY ON INFUT IS, IGNORED.');
. END;
END; /REERxkmeex®® DO WHILE END séxxxxwx/

END RUILD_TREE;

PRINT_TREE: PROCEDURE(Q) RECURSIVE;
DCL & - POINTER,
CTTKEY, TTTKEY) CHAR(15);
IF Q@=NULL THEN RETURN;
CALL PRINT_TREE(Q -> LEFT);
KEY=Q ~-) DESCKEY;
EXEC CICS READ DATASET('YESAN') INTOCINREC) RIDFLDCKEY),
IF SUBSTR(KEY,8,3)7=' ' THEN
DO; IF TKEY™=SUBSTR{KEY,8,3) THEN
DO; CNT=CNT+{; -

EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY);

*®/
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(//V TEMPKEY CNT)=SUBSTR(KEY,8,3);

TEMPDATA(CNT)=0;
TKEY=TEMPKEY(CNT);
TEMPTITLE(CNT)=TITLE;
CNT=CNT+1;
TEMPKEY (CNT)=SUBSTR(KEY,8,3) | ISUBSTR(KEY, 1,4);
SSKEY=SURSTR(KEY,8,3) | | SUBSTR(KEY, 4,4) | ISUBSTR(KEY,5,3);
SDATA=DATA(K); |
TEMPDATA(CNT)=0;
SKEY=TEMPKEY (CNT);
TTKEY=SUBSTR(KEY,{,4);
TTTKEY=SUBSTR(KEY,1,7);
EXEC CICS READ DATASET('YESAN')
INTO(INREC) RIDFLD(TTKEY);
TEMPTITLE(CNT)=TITLE;
CNT=CNT+1; :
TEMPKEY (CNT)=8SSKEY;
TEMPDATA(CNT)=SDATA;
EXEC CICS READ DATASET('YESAN')
- INTOCINREC) RIDFLD(TTTKEY);
TEMPTITLE(CNT)=TITLE;
END; ELSE
IF TKEY=SUBSTR(KEY,8,3) &
SKEY?=SUBSTR(KEY,8,3) | |SUBSTR(KEY,4,4) THEN -
DO; CNT=CNT+1;
TEMPKEY (CNT)=SUBSTR(KEY,8,3) 1 | SUBSTR(KEY,{,4);
TEMPDATA(CNT)=0;
TTKEY=SUBSTR(KEY,1,4);
TTTKEY=SUBSTR(KEY,{,?);
SKEY=TEMPKEY (CNT);
SSKEY=SUESTR(KEY,8,3) | | SUBSTR(KEY, 1,4) | | SUBSTR(KEY,5,3);
SDATA=DATA(K) ;
EXEC CICS READ DATASET('YESAN')
INTOCINREC) RIDFLD(TTKEY);
TEMPTITLE(CNT)=TITLE; t
CNT=CNT+14;
TEMPKEY (CNT)=SSKEY;
TEMPDATA(CNT )=SDATA;
EXEC CICS READ DATASET('YESAN')
INTOCINREC) RIDFLD(TTTKEY);
TEMPTITLE(CNT)=TITLE; B
END; ELSE
IF TKEY=SURSTR(KEY,8,3) &
SKEY=SUBSTR(KEY,8,3) | | SUBSTR(KEY, 1,4) THEN
DO; CNT=CNT+{; .
TEMPKEY(CNT)=SUBSTR(KEY,8,3) | |SUBSTR(KEY,1,4) 1
SUBSTR(KEY,5,3);
TEMPDATA(CNT)=DATA(K);
TTTKEY=SUBSTR(KEY,1,7);
EXEC CICS READ DATASET('YESAN')
INTOCINREC) RIDFLD(TTTKEY);
TEMPTITLE(CNT)=TITLE;
END;
TEMPCHECK (CNT)="' *;

FS .

END;
CALL PRINT_TREE(Q -~> RIGHT);
END PRINT_TREE;

READRTN: PROCEDURE(CHEK, ZER);

DCL (CHEK , ZER) PIC'99’,
(K{,K2) PIC'9?';
NUJEK=0;

\ | )
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DO WHILE(ONTYO);
TEMPKEY (CNT)=TRANSLATE(TEMPKEY(CNT), "0’ ,' '),
K4=SURSTR{TEMPKEY (ENT),CHEK, 1) ;
K2=SUBSTR(TEHFKEY (CNT), ZER,4);
IF Ki°=0 & K2=0 THEN
DO, NUJEK=NUJEK+TEHFDATA(CNT) ;
END; ELSE
IF Ki=0 & K2=0 THEN
PO; TEMFDATACCNT)=NUJEK;
NUJEK=0;
END;
ENT=CNT-1
END,
CNT=SCNT;
END READRTN; .
END SORT_RTN; /exxxxx SORT ROUTINE END wxsxx/

SCREEN_RTN: FROC;
DCL 1 SCREEN,

2 LINEY CHAR(88),
2 LINE2 CHAR(BO),
2 LINE4(21), .
4 BODY CHAR(6T),
4 ESIGN CHAR(2),
4 DATAM PIC! v e, ==,
4 RLANK CHAR(4);
DCL J PIC'29';
STRING(SCREEN)="' '; '
LINEf=(20) ' *"[IHSIIHEAD(3) 11 'HIHEAD(1) | IHEAD(S) 1
‘O 'LIHEADCAY 1Y P HIHEADGEE) 11 CE2) 1 t) )
HEAD(B) LIEST|': '||HS]IHEAD(?) [ IES;
ESIGN=ES; .

PO I=1 TO 21 WHILE(SCNT)>=CNT);
DATA1 (I)=TEMPDATACCNT);
IF SUBSTR(TEMPKEY(CNT),8,1)='0' THEN
DO; IF SUBSTR(TEMPKEY(CNT),4,1)='0' THEN
BODY(I)=(&) ' '|ISUBSTR(TEMPKEYCCONT), 1,301 1
HE 1 ITEMPTITLEC(CNT);
ELSE

IF SUBSTR(TEMPKEY(CNT) 8,1)="'0' THEN
BODY(I)={44) 'IiSUBSTR(TEHPKEY(CNI) 4. 011
HE I TEMPTITLE(CNT);
J=@;
END; ELSE
DO; KEY=SUBSTR(TEMPKEY(CNT},4,7);
EXEC CICS READ DATASET('YESAN') INTO(INREC) RIDFLD(KEY)
NENLS I
BODY{(I)={(15) ’ 'f'J’l':'!lﬂSliTITLEi
END;
CNT=CNT+1;
END;
EXEC CICS SEND TEXT FROM(SCREEN) NOEDIT LENGTH(1936) ERASE;
SEL1O=" ';
EXEC CICS SEND MAP('YSMAPAZ') MAFPSET('YSHAP4'),
EXEC CICS RECEIVE MAP('YSHMAP4Z') ﬁAPSET( YSMAFP4');
END SCREEN_RTHN;

PRINT_RTN: PROC;

DCL SCREEN CHAR(130),
BLANK CHAR(130) INIT(' '),
DATA{ PIC! ~=~, ===, -9,
LINS PIC'99" INIT(G), -
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KK PIC'29';

DCL ¢ RLIST,
2 RTERM CHAR(4),
2 Fi CHAR(12) INIT(' ',

2 ENDLIST FIXED BRINC(I5) INIT(-1);
IF SUBSTR(EIRTRMID,t,2)='MC' THEN RTERM='MPT1';

STRINGC(SCREEN)=' '; B

EXEC CICS ROUTE LIST(RLIST);

SCREEN=(¢40) ' '|IHS|IHEAD(3) |1’ ‘' |{HEADCI) ]
HEAD(3) 11" ' |JHEAD(4)I|"' 'JIHEAD(10);

SUBSTR(SCREEN,130,1), SUBSTR(BLANK, 130, 1)=EOL;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH({130) ERASE
. FAGING PRINT HONEOM;

SCREEN=(93) ' '||HS|IHEAD(B) | IES||': *|IHS|IHEAD(9);

SUBSTR(SCREEN, 130, 1), SUBSTR(ELANK", 130, 1)=E0L;

EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH({30) ERASE
PAGING PRINT HONEOM;

EXEC CICS SEND TEXT FROM(ELANK) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM;

EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(430) ERASE
FAGING PRINT HONEOM;

SCREEN=(54) ' '|IYEAR|IHSTIHEAD(4) | 1¢40) ' '||SURSTR(HEAD(14),1,29
FIC14) ' ' || SUBSTRC(HEAD(14),3,2) [ |ESII¢44) ' ') IYEAR] JHS |
HEAD(4);

SUBSTR(SCREEN, 130,1), SUBSTRC(HLANK, 130, 1)=EOL;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(430) ERASE
PAGING PRINT HONEOM;
DO CNT=1 TO SCNT;
IF TEMPCHECK(CNT) ='#' & TEMFDATA(CNT)™=0 THEN
DO; DATAI=TEMFDATA(CNT); . :
IF SUBSTR(TEMFKEY(CNT),8,1)='0' THEN
DO; IF SUBSTR(TEMFKEY(CNT),4,1)='0' THEN
DO, EXEC CICS SEND TEXT FROMGEHLANK) ACCUM
LENGTH(130) ERASE PAGING PRINT HONEOM;
LINS=LINS+1;
IF LIN®=56 THEN CALL TITLE_RTN;

SCREEN=(6) ' ' | |SUBSTR(TEMPKEYC(CNT?Y,1,3) ||
HS I ITEMPTITLECCNT) | JES T
(8) ' '"IiDATAY; .
END; ELSE

IF SUBSTR(TEMPKEY(CNT),8,1)='0" THEN
DO, EXEC CICS SEND TEXT FROM(BLANK) ACCUM
LENGTH(130) ERASE PAGING PRINT HONEOHM;
LINS=LIN$+{;
IF LIN#=50 THEN CALL TITLE_RTN;

SCREEN=(10) * '] |SUBSTR(TEMPKEY(CNT),4,4)])|
HS I TEMPTITLECCNT) 1 IES T
(3> ' "1 IDATAY,
END;
KK=0;
END; ELSE

DO; KEY=SUBSTR(TEMPKEY(CNT),4,7);

EXEC. CICS READ DATASET('YESAN')
INTOCINREC) RIDFLD(KEY);
KK=KK+1 ; s
SCREEN=(62) ' " IKKI1*.'IIHS)ITITLE| IES]IDATAY;
END;

SUBSTR{SCREEN, 130,1), SUBSTR(BLANK , 130, § ) =EOL ;

EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
FAGING PRINT HONEOM;

LINS=LINS+1; , _ -

IF LIN$=50 THEN CALL TITLE_RTN;
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END;
CEND;
DO J=1 TO S;

EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE
FAGING PRINT HONEOM;

END; -
SEL{1O='
EXEC CICS SEND PAGE RETAIN;

TITLE_RTN: FROCEDURE;
DO J=i TO 15; .
EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE
" FAGING PRINT HONEOM;

END;
SCREEN=(34) ' | |YEAR|IHS|HEAD(4)]1¢(40) ' ' | ISUBSTR(HEAD({14)
PHCI4) " PISURSTRCHEADC(11),3,2)IESHI(H4) ' ' IYEARII
HEAD(4);

SUBSTR(SCREEN, 130, 1), SUESTRCELANK , 130, 1 )=EOL ;
EXEC CICS SEND TEXTY FROK(SCSEEN) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM,
LINg=0;
END TITLE_RTN;
END FRINT_RTN;

JOREND :
EXEC CICS ENDBR DATASET(’ YESAN ¥
EXEC CICS RETURN; ”
END YSPGMA7; -
/®
/7

2 4,2)
HS
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(/’V 317,86.325,13237:19,815.PROGRAM.LIBRARY(YSPG”4B)

//BV7JAPGY JOB  CLASS=G,MSGCLASS=X
//TESTH EXEC CICSPLI,MBR=YSPGMAS
//TRN.SYSIN DD »
% PROCESS GS,NEST,INCLUDE;
YSPGHAB: PROC(F) OPTIONS(MAIN,REENTRANT);
DCL P POINTER, '
4 COM_REGION " BASED(F),

2 SELYKEY  CHAR(1),
2 SEL2KEY  CHAR(1),
2 INKEY CHAR(12),
2 SAVEKEY  CHAR(4),
+ DCL 1 INREC,
2 XKEY CHAR(15),
2 TITLE CHAR(30) ,.
2 DATA(10)  PIC'(B)-9°,
2 YEARDATA  PIC'(8)-9',
2 CCHEK CHAR(1),
2 FILL CHAR(S) ;
DCL § FEMPFILE(900),
2 TEMPKEY  CHAR(15),
2 TEMPTITLE CHAR(30), .
2 TEMPDATA  FIC'(B)-9',
2 TEMPCHECK CHAR(1);
DCL (TOYEAR, YEAR,K) FIC'99,
(SCNT, CNT) PIC' 999", @
KK ' CHAR(7), .
NUJEK PIC'(8)-9' INIT(O); -
DCL (MORE INIT('f'E),YES INIT('4'K),NO INIT('O'E)) BIT(i);
DCL IOMSG  CHAR(B0),
LEN FIXED BINCIS5) INIT(BO); ’
ZINCLUDE YSHAF4,YSTITLE;
%INCLUDE SPECIALS,BTLAST;
EXEC CICS HANDLE CONDITION ERROR(JOBEND);
EXEC CICS IGNORE CONDITION MAFFAIL NOTFND ENDFILE;
EXEC CICS HANDLE AID CLEAR(JOEEND);
KEY=""; ' .
EXEC CICS STARTER DATASET('YESAN') RIDFLD(KEY) GTEQ;-
EXEC CICS

READNEXT DATASET('YESAN') INTO(INREC) RIDFLD(KEY);
YEAR=SUBSTRC(TITLE,5,2); . -
TOYEAR=SUBSTR(TITLE,{,2);

DO I= 1 TO 10,
IF TOYEAR=YEAR THEN DO; K=I, I={0; END; -
ELLSE TOYEAR=TOYEAR+1;
~ END;

CALL SORT_RTN;

CNT=1; ’

CALL SCREEN_RTN;

DO WHILE(HMORE=YES);

SELECTA(SELAY);

WHENC'P')

WHEN('E")
OTHERWISE

END;
END; :

SORT_RTN: PROCE
DCL 1 PRODUCT
5 DESC
5 DESCKE
5 LEFT

AN

DO; CALL - FRINT_RTN;
MORE=NO;

END;

MORE=NO;

CALL SCREEN_KRTN;

DURE ;
FASED (CURRENT) ,
CHAR(15),

Y CHAR(15),
POINTER,
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5 RIGHT FOINTER;

DCL (MORE, YES) BITC1) INITC'4'B),
NO BIT({) INIT('0'E),
NULL BUILTIN,

TEMP CHAR(15),

TKEY CHAR(3),

J PIC'99' INIT(O),
P POINTER,

START i POINTER;

START=NULL; KEY='4200";
EXEC CICS RESETBR DATASET('YESAN') RIDFLD(KEY) GTEQ;
EXEC CICS READNEXT DATASET('YESAN') -INTOC(INREC) RIDFLD(KEY);
DO WHILE(SUBSTR(EIBRCODE,{,4) =RENDFILE);
TEMP=SURSTR(KEY,8,3) | | SUBSTRC(KEY, 4,4 | ISUBSTR(KEY,5,3);
* ALLOCATE PRODUCT; )
DESC=TEMF;
DESCKEY=KEY;
LEFT=NULL ;
RIGHT=NULL;
IF START=NULL THEN START=CURRENT;
ELSE CALL BUILD_TREE;

EXEC CICS READNEXT DATASET('YESAN') INTO(INREC) RIDFLD(KEY);

END;

CNT=0;

TKEY="' ';

Call PRINY_TREE(START);
SCNT=CNT;

CALL READRTN(B,11);
CALL READRTN(4,8);
RETURN;

RUILD_TREE: FROCEDURE;
F=START;
DO UHILE(P“'NULL).
IF DESC { F -) DESC THEN
DO; IF F -> LEFT = NULL THEN
DO; F -> LEFT = CURRENT;
P=NULL ;
END; ELSE P= P -) LEFT,
END; ELSE :
IF DESC > P -> DESC THEN
DG; IF F -3 RIGHT = NULL THEN
DO; P -) RIGHT = CURRENT;
P=NULL ;
END; ELSE F= P -) RIGHT;
END; ELSE
DO, P = NULL;
/% PUT LIST ('DUFPLICATE KEY ON INPUT IS IGNORED.');
END; -
END; /xuxxxxnxxnnx DO WHILE END &**nu**g/
END RUILD_TREE;

4

PRINT_TREE: PROCEDURE(R) RECURSIVE;

DCL Q POINTER,
(TTKEY, TTTKEY) CHAR(15),
DATY FIC'(8)-9"*,
(KEY1,KEY2) CHAR(15);

IF @=NULL THEN RETURN;

CALL PRINT_TREE(@ -)> LEFT);

KEY=Q -> DESCKEY;

EXEC CICS READ DATASET('YESAN') INTO(INREC) sTDFLD(KEY),
KEY1=SUBSTR(KEY,8,3) | | SUBSTR(KEY,1,4); '

*/
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b 3
(//7 KEY2=SUBSTR(KEY,8,3) | ISUBSTR(KEY, 1,42 | | SURSTR(KEY,5,3);
DAT1=DATAK)
IF SUBSTR(KEY,8,3)™=' ' THEN
DO; IF TKEY =SUBSTR(KEY,8,3) THEN
pO; TTKEY=SUBSTR(KEY,1,4)1{' ',
TTTKEY=SURSTR(KEY,$,7)11" *; ©
CNT=CNT+14; . .
TEMPKEY (CNT)=SUBSTR(KEY,8,3);
TEMPDATA(CNT =0,
TEMPTITLE(CNT)=TITLE;
TEMPCHECK (ENTY=' )
TKEY=SUBSTR(KEY,8,3);  /%%x { LEVEL %¥xx/
CNT=CNT+%;
TEMPKEYC(CNT)=KEY1 ;
TEMPDATA(CNT) =0,
EXEC CICS READ DATASET(’'YESAN')
INTO(INREC) RIDFLD(TTKEY);
TEMPCHECK(CNT)=" ';
TEMPTITLE(CNT)=TITLE;  /wxxx% 2 LEVEL #x#%/
CNT=CNT+1;
TEMPKEY (CNT)=KEY2;
TEMPDATA(CNT)=DATH;
EXEC CICS READ DATASET('YESAN')
INTOCINREC) RIDFLD(TTTKEY);
TEMPCHECK (CNT)=' '
TEMPTITLEC(CNT)=TITLE, /x%nn 3 LEVEL w*xxx/
KEY=SURSTR(KEY2,4,7) | | SURSTR(KEY2,1,3);
EXEC CICS RESETER DATASET('YESAN') RIDFLD(KEY).
EXEC CICS READNEXT DATASET('YESAN')
INTOCINREC) RIDFLD(KEY);
EXEC CICS READNEXT DATASET('YESAN')
INTOCINREC) RIDFLDCKEY);

DO WHILE(SUBSTR(KEY,1¢,3)7=' ' &
SUBSTR(EIBRCODE, 1, 1) "=RENDFILE) ;
 CNT=CNT+1;
J=Jed

TEMPKEY(CNT)=SUBSTR(KEY, 8,3) | {SUBSTR(KEY,1,7)11.J;
TEMPDATA(CNT )=DATALK);
TEMPTITLE(CNY)=TITLE;
TEMPCHECK(CNT)="%"; .
EXEC CICS READNEXT DATASET('YESAN')
INTOCINREC) RIDFLD(KEY);
END; . .
J=90; /anEnx 4 LEVEL sexxs/
END; ELSE
DO; IF SUBSTR(TEMPKEY(CNT),4, 4)“=SUBSI§(KEY 1,4 THEN
DO; TTKEY=SUBSTR(KEY,1,4)11' °
TTTKEY=SURSTR(KEY, 1 i ';
CNT=CNT+1;
TEMPKEY{(CNT)=KEY1;
TEMPDATA(CNT ) =0;
EXEC CICS READ DATASET('YESAN')
INTD(INREC) RIDFLD(TTKEY)
TEMPCHECK(CNT)=" *;
TEMPTITLECCNT)=TITLE; /n*** 2 LEVEL %xx/
CNT=CNT+¢{; )
TEMMKEY(CNTI=KEYZ
TEMFDATA(CNT) = DATi,
EXEC CICS READ DATASET('YESAN')
INTOCINREC) RIDFLDC(TTTKEY);
TEMFCHECK(CNT )= ' .
TEMPTITLE(CNT)=TITLE; s/xewnx 3 LLEVEL ***/;*

- y
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(//VV KEY=SUBSTR(KEY2,4,7) | I SUBSTR(KEY2,1,3);
EXEC CICS RESETER DATASET('YESAN') RIDFLD(KEY);
EXEC CICS READNEXT DATASET('YESAN')
INTOCINREC) RIDFLD(KEY);

EXEC CICS READNEXT .DATASET('YESAN')

’ ) INTOCINREC) RIDFLD(KEY);

DO WHILE(SUEBSTR(KEY,44,3) ="' ' &

SUBSTRC(EIBRCODE, i ,1) "=RENDFILE);

CNT=CNT+1;
J=Jd+; ) :
TEMFKEY (CNT)=SURSTR(KEY,8,3) 1|
. SUBSTRCKEY, 1,7 1J;

TEMPDATA(CNT ) =DATA(K) ;
TEMPTITLEC(CNT)=TITLE;
TEMFCHECK(CNT)="%"}

EXEC CICS READNEXT DATASET('YESAN')

N INTOCINREC) RIDFLD(KEY);
END; ‘
J=0; /eRnN® 4 LEVEL ®%%x/

END; ELSE :
DO; CNT=CNT+4;
TEMFKEY(CNT)=KEYZ;
TEMFDATA(CNT)=DAT{;
TTKEY=SURSTR(KEY,1,7);
EXEC CICS READ DATASET('YESAN')
INTOCINREC) RIDFLD¢TTKEY);
TEMPCHECK (CNTY=" '
TEMPTITLE(CNT)=TITLE; /#¥% 3 LEVEL x#xx/
KEY=SURSTR(KEY2,4,7) | I SURSTR(KEY2,$,3);
EXEC CICS RESETHER DATASET(!'YESAN') RIDFLD(KEY);
EXEC CICS READNEXT DATASET('YESAN')
INTOCINKREC) RIDFLD(KEY);
EXEC CICS READNEXT DATASET('YESAN')
INTOCINREC) RIDFLD(KEY);

DO WHILE(SURSTR(KEY,$4,3)7="' ' &
SUBSTR(EIBRCODE, 1, 1) "=RENDFILE);
CNT=CNT+4;
J=Jd+4; R .

TEMFKEY (CNT)=SUBSTR(KEY,8,3) 11
SUBSTR(KEY,1,7)11J;
TEMFDATA(CNT )=DATA(K) ; -
TEMPTITLE(CNT)=TITLE,;
TEMFCHECK(CNT)="'%"'; '
EXEC CICS READNEXT DATASET('YESAN')
INTDCINREC) RIDFLD(KEY);
END;
- Jd=0; /x%xxx 4 LEVEL . %*xxx/
END;
. END; ’
END; .
CALL PRINT_TREE(Q -> RIGHT);
END PRINT_TREE;

READRTN: PROCEDURE(CHEK, ZER);

DCL (CHEK , ZER) FIC'99',
(K1,K2) . FIC'9?";
NUJEK=0;
DO WHILE(CNT>O);
TEMPKEY (CNT)=TRANSLATE(TEMPKEY(CNT), '0',' '),

Ki=SURSTR(TEMPKEY{CNT) ,CHEK,4);
K2=SUBSTR(TEMFKEY(CNT),ZER, 1),
IF TEMPCHECK(CNT) ='%' THEN

_ | )
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DO; IF Ki7=0 & K2=0Q THEN
DO; NUJEK=NUJEK+TEMPDATA(CNT);
END; ELSE
IF K1=0 & K2=0 THEN
DO; TEMPDATACUNT)=NUJEK;

NUJEK=0;
END; '
END; )
CNT=ONT-1;
END;
CNT=SCNT,;
END READRTN; ) .
END SORY_RTN; sexuxnk SORT ROUTINE END swxwenx/
SCREEN_RTN: PROC; .
DCL 1 SCREEN,
2 LINE{ CHAR(88), .
2 LINE2 CHAR(80), ©
2 LINE4(21),
4 BODY CHAR(67), St
4 ESIGN CHAR(2),
4 DATA1 PIC! =, wmem =@,
4 ERLANK CHAR(4); :
DCL JJ PIL'Z29; '
STRING{SCREENY=" ',
LINE4=(20) * 'JIHSIIHEAD(3) 11" "HIHEADCIX 1] " IHEAD(2) §
HEAD(S) | | "HIHEADCA)Y [ ]! PIHEARCH X L1 C42)Y ' 'L
HEAD(B)Y I IES]]': "} IHSIIHEAD(®)} |ES;
ESIGN=ES,

DO I=1 TO 2% WHILE(SCNTY=CNT);
IF SUBSTR{TEMFPKEY{(CNT),$1,2) ='60' THEN
DO; DATA1(I)=TEMPDATA(CNT); '
IF SURSTR(OTEMPKEY{(CNT),4,1)="0' THEN .
BODY(I)=¢(6) ' '||SUBSTR(TEMPKEY(CNT),1,3)}1
HSLITEMPTITLECCNT); .

ELSE
IF SUBSTR(TEMPKEY(CNT),8,1)='0"' THEN
BODY(I)=(41) ¥ '] ISUBSTR(TEMPKEY(CNT), 4,411
HS| I TEMPTITLEC(CNT); .
ELSE
IF SURSTR(TEMPKEY(CNT),11,1)='0" THEN
BODY(I)>=(15) ' '|ISUBSTR(TEMPKEY(CNT) .8, 3211
HSTITEMPTITLE(CNT)Y; ’
END; ELSE . :
DO; JJ=SUBSTRCTEMFKEY(CNT),11,2);
BODY(I)=(19) ' *[1JJI'.' | IHSIITEMPTITLE(CNT);
DATA{ (1)=TEMPDATA(CNT);
END; . N
CNT=CNT+14;

END; ‘

EXEC CICS SEND TEXT FROM(SCREEN) NOEDIT LENGTH(1936) ERASE;
SEL{O0="' ';

EXEC CICS‘SEND MAP{ ' YSMAPA4Z ') MAFSET{'YSHMAPA4A');

EXEC CICS RECEIVE MAP('YSMAPA3') MAPSET('YSMAF4');
END SCREEN_RTN;

FRINT_RTN: PROC; .
DCL SCREEN CHAR(130),

BLANK CHAR{436) INIT(' '),
DATAY PIC! ——=, =, ~=%*,

KK PIC'Z9'

LINS FIC'29' INIT(O);
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DCL 1 RLIST,
2 RTERM CHAR(4),
2 Fi CHARC§2) INITC(! ',
2 ENDLIST FIXED BIN(13) INIT(-1);
IF SUBSTRC(EIBTRMID,4,2)='MC' THEN RTERM='MPT1';

STRINGC(SCREEN)=' ', :

EXEC CICS ROUTE LIST(RLIST);

SCREEN=(40) * '[IHS|IHEAD(3)Y{|* 'J{HEAD{IY{|* ‘'{IHEAD(2)}}
HEAD(S) 11"  '"{IHEAD(A)t|* ‘' IIHEAD(I4);

SUBSTR(SCREEN, 130,1), SUBSTR(BLANK, 130, 1 )=EOL;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(430) ERASE
. ) PAGING FRINT HONEOH;

SCREEN=(93) ' ' | {HSIIHEAD(B) | fESII': '1IHS|IHEAD(®);
SUBSTR(SCREEN, 130,1), SURSTR{(BLANK, 130, 1)=E0L;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH($30) ERASE

PAGING PRINT. HONEOM;
EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE

PAGING FRINT HONEOM;
EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE

"PAGING PRINT HONEOM;
SCREEN=(54) ' ‘| IYEAR]IHS| IHEAD(4)11¢10) ' | SUBRSTRC(HEAD(14),14,2)1}

(14) “ " ISUBSTR(HEADC11),3, 2 {ESTIC14)> * "{IYEAR|IHSIT
HEAD(4);

SUBSTR(SCREEN, 130, 1), SURSTR(BLANK, 130, 1)=E0L;
EXEC CICS SEND TEXT FRON(SCREEN) ACCUM LENGTH(130) ERASE

PAGING PRINT HONEOM;
DO CNT=1 TO SCNT;

IF SUBSTR(TEMPKEY{CNT),14,2) ='00' THEN
DO; DATA{=TEMPDATA(CNT);
IF SUBSTR(TEMPKEY(CNT),4,1)='0' THEN
DO; EXEC CICS SEND TEXT FROM(RLANK) ACCUM
: LENGTH(130) ERASE PAGING PRINT HONEOH;
LINS=LINS+S;
IF LIN#=50 THEN CALL TITLE_RTN;

SCREEN=(6) ' '} ISUBSTR(TEMPKEY(CNT),{,3)1HS!
TEMPTITLE(CNTYLIESII(®) * ' [IDATAY;
END; ELSE
IF SUBSTR(TEMPKEY(CNT),8,1)='60' THEN
DG; EXEC CICS SEND TEXT FROM(BLANK) ACCUM -

LENGTH(130) ERASE PAGING F'RINT HONEOM;
LINS=LINS+4; |
IF LIN$=50 THEN CALL TITLE_RTN; v

SCREEN=(40) * '} |SURSTR(TEMPKEY(CNT),4,4){HS]I
TEMPTITLECCNT) [ IEST (4> * ' [ |DATAY;
END; ELSE e

IF SUBSTR(TEMPKEY{(CNTJ,411,1)="0"' THEN
DO;" EXEC CICS SEND TEXT FROM(SLANK) ACCUM
LENGTH(130) ERASE -FAGING FRINT HONEOM;
LINS=LINS$+Y;
IF LINS=350 THEN CALL TITLE_RTN;
SCREEN=(15) ' '||SUBSTR(TEMFKEY(CNT),8,3)| {HSI|
TEMPTITLEC(CNT) | IES |1 ATAY
END;
END; ELSE !
DO; KK=SUBSTR(TEMPKEY(CNT), {1, :
DATAY=TEMFDATA(CNT);
SCREEN=(62) ' 'ifKKil'.'llHSiITEHPTITLE(CNT)iiESiiDﬁTAt;
END; )

SUBSTR(SCREEN, 130, 1), SUBSTRCELANK , 130, 1) =EOL;

EXEC CICS SEND' TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
.PAGING PRINT HONEOH;

LINS=LIN$+4;

J
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IF LIN#=50 THEN CALL TITLE_RTN;
END;
DO J=1 TO 5;
EXEC CICS SEND TEXT FROM(ELANK) ACCUM LENGTH(130) ERASE
FAGING FRINT HONEOM;

END;

SEL{iO="' ',

EXEC CICS SEND PAGE RETAIN;
TITLE_RTN: PROCEDURE;

DO J=1 TO {5;

EXEC CICS SEND TEXT FROM(ELANK) ACCUM LENGTH(130) ERASE
FAGING FPRINT HONEOHM;
END;

€$4) 5. |1 SUBSTR(HEADC44),3,2) 1 IESTIC(14) ' "|IYEAR]IH
HEAD(4);
SUBSTR(SCREEN, 130, 4), SUBSTR(RLANK, 130, 1)=E0L, :
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
FAGING PRINT HONEOM;
LIN$=0;
, END PRINT_KRTN;

JOREND :
EXEC CICS ENDBR DATASET('YESAN');
EXEC CICS RETURN;
END YSPGMA48;.
/%
/7 b

SCREEN=(54) ' "|IYEAR|IHS|IHEAD(4)|1(10) * '] |SUBSTR(HEAD(11),

1
S|

2)101
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B17,86.325,13:37:33,B17.PROGRAM.LIBRARY (YSPGM51)

//BITJAPGM JOB CLASS=G,MSGCLASS=X
//TESTY EXEC CICSPLI, MBR YSPGMS1
//TRN.SYSIN DD = .
* PROCESS GS, NEST,INCLUDE.
YSPGMS1: FROCCP) OFTIONS(MAIN,REENTRANT);
- DCL P POINTER,
§ COM_REGION RASED(F),
2 SELIKEY CHARC1),
2 SEL2KEY CHAR(1),

2 INKEY CHAR(12),
2 SAVEKEY CHAR(4);
DCL ¢ INREC,:
KEY | CHAR(13), . .
TITLE CHAR(30),

DATACIO) - PIC'(BZ9*,
YEARDATA FIC'(8)29",
CCHEK CHARC1 ),
FILL CHAR(5);
pCL 1 TEHPFILE(700)'
2 TEMPKEY CHAR(13),
. 2 TEMPDATAY FIC' (8HZI9',
2 TEMPDATA2 FIC'(8)Z29',
2 TEMRDATA3Z FIC'(8)Z29',
2 TEMPCHECK CHAR(1);
DCL (TOYEAR, YEAR) PIC'99’,
(SCNT,CNT,RCNT,LCNT) FPIC'999',
K FIC 99, :
DCL (ﬁORE INITC 4 BY,YES INIT('4” B) NO INIT( Q' 83> BIT{4),
DCL IOMSG +wiHAR(BO), .
LEN FIXED BIN(‘S)vINIT(BO)o
ZINCLUDE YSMAP4,YSTITLE,;
ZINCLUDE SPECIALS,BTLAST;
EXEC CICS HANDLE CONDITION ERRORCJOBEND);
EXEC CICS IGNORE CONDITION MAFFAIL NOTFND ENDFILE;
EXEC CICS HANDLE AID CLEAR(JOREND);
KEY=' ';
EXEC CICS STARTER DATASET('YESAN") RIDFLD(KEY) GTER;
EXEC CICS READNEXT DATASET('YESAN') INTO(INREC) RIDFLD(KEY);
YEAR=SUBSTRA{TITLE,S,2);
TOYEAR=SUESTR(TITLE, $ ;2);
DO I= 1 TO 49,
IF TOYEAR=YEAR THEN DO; K=I; I=40; END;
ELSE TOYEAR=TOYEAR+1;

f‘J [SERRARSE L

END;
CALL PRINT_TREE;
SCNT=CNT; '
/% TOMSG=CNT| I TEMPKEY (1) | | TEMPKEY(2);
EXEC CICS SEND FROM(IOMSG) LENGTH(80) ERASE; *
EXEC CICS RECEIVE INTO(IOMSG) LENGTH(LEN); */ i
CALL READRTN(8,11);
CaALL READRTN(7,8);
Catl. READRTN(S,7).
CALL READRTN(5,6);
CALL READRTN(4,3); . '
CNT=1¢;
CALL SCREEN_RTN;
DO WHILE(MORE=YES);
SELECT(SEL1I);
WHEN('R') CALL RIGHT_ RTN;
WHENC'L') DO5 CNT=LCNT;
. CALL SCREEN_RTN;.
END;
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WHENC'P') DO; CALL PRINT_RTN;
MORE=NQO;
END;
WHEN('E*) MORE=NOD;
OTHERWISE CALL SCREEN_RTN;
END;
END;

PRINT_TREE: PROCEDURE;
CNT=0;
KEY='{200';
EXEC CICS RESETBR DATASET('YESAN') RIDFLD(KEY) GTEQ;
EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY);
DO WHILE(SUBSTR{EIBRCODE,f,1) =RENDFILE);
IF SURSTR(KEY,14,3)=' ' THEN
DO; CNT=CNT+%;
TEMPKEY (CNT)=KEY;
TEMPDATAZ(CNT )=DATA(K) ;
TEMPDATAT (CNT)=DATA(K~1);
TEMPDATA2(CNT) =YEARDATA;
TEMFCHECK (CNT ) =CCHEK ;
END;
EXEC CICS READNEXT DATASET('YESAN') INTO(INKEC) RIDFLD(KEY);
END;
END PRINT_TREE;
READRTN: PROCEDURE (CHEK, ZER) ;
DCL  {CHEK,ZER) PIC'99",
(K1,K2) FIC'9",
(NUJEK S , NUJEK2, NUJEK3) PIC' (829" INIT(O),
DO WHILE(CNTYO); :
TEMPKEY (CNT)=TRANSLATE(TEMPKEY(CNT), '0’,’ ');
K4 =SUBSTR(TEMFKEY (CNT),CHEK, 1) ; .
K2=SUBSTR{TEMPKEY{CNT) ,2ER, 1) ;
IF Ki™=0 & K2=0 THEN
DO; NUJEK{=NUJEK4+TEMFDATAY (CNT)
NUJEK 2=NUJEK 2+ TEMPDATAZ(CNT);
- NUJEK3=NUJEK3+TEMFDATAZ(CNT) ;
CNT=CNT-1; :
END; ELSE
IF Ki =0 & K2=0 THEN
DO; TEMFDATA{ (CNT)=NUJEK1;
© TEMPDATAZ(CNT»=NUJEK2;
TEMPDATAZ(CNT) =NUJEKS;
NUJEK 1, NUJEK2, NUJEK3=0;
CNT=CNT-1;
END; ELSE CNT=CNT~4;
END;
CNT=SCNT;
END READRTN;

SCREEN_KRTN: PROC;
DCL 1 SCREEN, . .

2 LINE1 CHAR(E8),
2 LINEZ2 - CHAR({80),
2 LINEZ CHAR(88),
2 LINEA4(20),
4 RODY CHAR(37),
*4 ESIGN CHAR(2),
4 DATﬁ - CHAR(44), . )
_ __5 BLAI CHAR(1);
DCL |(DATA 1&DATA24DQTA3 DATA4) PIC! ==, me, =,
T YYEAR PIC'99';
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STRING(SCREEN)="' ';

LINE{=(8) ' 'JIHS|IHEADCI) 1" ' TIHEADC2YI|' ' IHEAD(I) ||
HEAD(5)1|' '}IHEADC4)Y|' JIHEADCI2)11"' ‘' |IHEAD(10) ||
(10) ' 'IIHEAD(8) 1 IESI]’: "1 IHS]| IHEAD(?) ] IES,
YYEAR=YEAR~-1 ;
LINE3=(38) ’' '||YYEARII' (A)'|]" "HIHSTISUBSTR(HEAD(12),4,4) L LEST
CCEYT LY T IHST I SUBSTR(HEAD(42) ,44,4) L IESHI
l(c)"ll QlllB_Ali
BLANK=' ' ;
ESIGN=ES;

DO I=1 TO 20 WHILE(SCNT)>=CNT);
IF TEMPCHECK(CNT)7='»' THEN
DO; DATAI=TEMFDATA1(CNT);
DATA2=TEMPDATA2(CNT);
DATA3=TEMPDATAZ(CNT);
DATAA=TEMPDATAZ2(CNT)~TEMFDATA{ (CNT);
DATACI)=DATA1 | IDATA2| IDATA3| IDATA4,; -
+ IF .SUBSTR(TEMPKEY(CNT),5,4)="0"' THEN
DO; KEY=SUBSTR(TEMFKEY(CNT),1,4);
EXEC CICS READ DATASET('YESAN') INTOCINREC)
) RIDFLD(KEY);
BODY(I)=SUBSTR(TEMPKEY(CNT) ,1,4) 11
HSHITITLE;
END; ELSE
IF SUBSTR(TEMPKEY(CNT),8,1)='0"' THEN
DO; KEY=SUBSTR{(TEMPKEY{(CNT),1,7),;
EXEC CICS READ DATASET('YESAN') INTOCINREC)
RIDFLD(KEY);
BODY(I)=(5) ' '||SUBSTR(TEMPKEY{CNT),5,3)1|
" HS||ISUBSTRC(TITLE,4,25);
END; ELSE .
IF SUBSTR(TEMPKEY(CNT),%1,1)='0"' THEN
DO; KEY=SUEBSTR(TEMPKEY(CNT),1,10);
EXEC CICS READ DATASET('YESAN') INTOCINREC)
RIDFLD(KEY);
BRODY(ID)=(9) ' '||ISUBSTR(TEMPKEY(CNT),8,3)11
HS § |SUBSTRC(TITLE, 1,21,
END; . :
END; ELSE I=I1-1;
IF I={ THEN RCNT=CNT;
CNT=CNT+1 ; . '
END; :
EXEC CICS SEND TEXT FROM(SCREEN) NOEDIT LENGTH(1936) ERASE;
SELIO="' ', |
EXEC CICS SEND MAP('YSMAP43') MAPSET('YSMAF4'),;
EXEC CICS RECEIVE MAF('YSMAFA43') MAFSET('YSMAFA4');
END SCREEN_RTN;

RIGHT_KRTN: PROC; '
DCL { SCREEN, >

2 LINEY CHAR(88),
2 LINE2 CHAR(80),
2 LINE3 CHAR(80),
2 LINE4(20), .
4 BODY CHAR(37),
4 ESIGN CHAR(2),
4 DATA CHARC(44), hd
4 BLANK CHAR(1);

DCL CREASE FLOAT(16),
(DATA2,DATA4) PIC' ~=w, =, —=9",
(DATA1,DATA3, DATAS) PIC' —-~~949',
YYEAR FIC'99"';,

\_ | J
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STRING(SCREEN)=' *; :

LINE1=(8) ' ‘"{IHSTIHEADCI) (' ‘'JIHEADC(2)}1' ‘| IHEAD(3) ||
HEAD(5) 11" ' 1IHEADCAY 1" ' JIHEADC(I2) 11" ' IHEAD(10) |1
(10) ' "{IHEAD(B)IESI]': ' | |HSIIHEAD(?) | IES,

YYEAR=YEAR-1;

LINE3=(39) ' "[§* X' 11C7) " "JI'C=B sy " %2 ey i

C-A 1Y AN
BLANK="' *; .
ESIGN=ES;

CNT,LCNT=RCNT;
DO I=1 TO 20 WHILE(SCNT)>=CNT);
IF TEMPCHECK(CNT) =%’ THEN

DO; CREASE=ZTEMPDATAZ2(CNT)-TEMPDATA{L (CNT);

IF TEMFDATAY(CNT)=0 THEN DATAI=0,;
ELSE
DO; +IF CREASE>0Q
' THEN DATA1=(CREASE/TEMPDATA1 (CNT)#1000)+0.05;

ELSE DATA1=(CREASE/TEMFDATAI(CNT)#1000)~0.05;

END;
PATAZ=TEMFDATAZ(CNT)-TEMFDATA2(CNY),
IF TEMPDATA2(CNT)=0 THEN DATA3=0;
ELSE
DO; IF DATA2)0 )
THEN DATA3=(DATA2/TEMFDATA2(CNT)*®1000)+0.065;
ELSE DATA3=(DATAR2/TEMFDATAR(CNTI®1000)~0.05;
END;
DATAA=TEMFDATAZ(CNT)~TEMFDATAT (CNT);
IF TEMPDATA1(CNT)=0 THEN DATAS=0;
N ELSE
DO; IF DATA4>0 ’
THEN DATAS=(DATA4/TEMFDATAI (CNT)*1000)+0.05;
ELSE DATAS=(DATA4/TEMFDATAI(CNT)I®1000)~0.05;
END;
DATACI)=DATA1 | |DATA2] IDATA3Z| IDATA4| IDATAS;
IF SUBSTR(TEMPKEY(CNT),5,1)='0' THEN
DO; KEY=SUBSTRC(TEMPKEY(CNT),{,4}; :
EXEC CICS READ DATaSET('YESQN') INTOCINREC)
RIDFLDC(KEY);
BODY(I)=SUBSTR(TEMFKEY(CNT), 4,43 11
HSLITITLE,
END; ELSE .
IF SUBSTR(TEMPKEY(CNT),8,1)='0"' THEN
DO; KEY=SUBSTR(TEMPKEY(CNT),1,7);
EXEC CICS READ DATASET('YESAN') INTOCINREC)

RIDFLD(KEY);
BODY(I)=(5) * '|{SUBSTR({TEMPKEY(CNT),5,351}1
HS | | SUBSTR(TITLE, {,25);
END; ELSE
IF SUBSTROTEMPKEY(CNT),14,4)='0' THEN .

DO; KEY=SUBSTR{TEMPKEY(CNT),{,107;
EXEC CICS READ DATASET('YESAN') INTOCINREC)

RIDFLD(KEY) ;
BODY(I)=(9) ' *||SURSTR(TEMFKEY(CNT),8,3311
HS 1 ISUBSTR(TITLE,1,21);
END; :

END; ELSE I=I-1%; '

CNT=CNT+1{;
END; . .
EXEC CICS SEND TEXT FROM(SCREEN) NOEDIT LENGTH(1928) ERASE;
SEL$0=' *;

EXEC CICS SEND MAF('YSMAF43') MAPSET('YSMAP4A');
-EXEC CICS RECEIVE MAP('YSMAFA43') MAPSET (' YSMAF4 '),

“‘\\
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(/’> END RIGHT_RTN;

FRINT_RTN: FROC;

DCL. SCREEN CHAR(130),
BLANK CHAR(130) INIT(' '),
DCL 1 RLIST,
2 RTERM _ CHAR(A), :
2 Fi CHAR(12) INITC(' "y,
2 ENDLIST FIXED BINCI5) INIT(~{);
DCL. (DATAf1,DATAZ,DATA3,DATA4,DATAG,DATAB) FIC' ~—m, ~mu, =9,
(DATAS,DATA7,DATAD) PIC'~,~--9.9",
(YYEAR, I,0) FIC'99",
- LINS PIC'99' INIT(O);
IF SUBSTR(EIKTRMID,4,2)='MC' THEN RTERM='MFT{';
STRING(SCREEN)=' '; :
EXEC CICS ROUTE LIST(RLIST);
SCREEN=(40) * '|{HS{IHEADCI) {1 'L IHEAD(2) |1’ ' | JHEAD(3) |
HEAD(S5)|1' ' IIHEADC(4Y[]'  '{JHEADCI2)1|' ' IHEADC1®);

SUBSTR(SCREEN, 130, 1), SUBSTR(ELANK, 130, 1 )=EOL;

EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
PAGING FRINT HONEOM;

SCREEN=(109) ' "{IHSIIHEAD(B)I1ESI|': '||HS|IHEAD(?);

SUBSTR(SCREEN, 130, 1), SUBSTR(ELANK, 130, 1)=EOL;

EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
FAGING PRINT HONEOM;

EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH({130) ERASE
PAGING PRINT HONEONM;

EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH({30) ERASE
FAGING PRINT HONEOM;

YYEAR=YEAR—1 ;

SCREEN=(40) ' ' |IYYEAR||' (A)']i’ '[IHS||SUBSTR(HEAD(12),1,4)1]
ESII'CEBY'11' '1IHS||SUBSTRC(HEAD(12),11,4) IIES]|
YTy T CLITR-ATIICTY C THETE CHIed ! jte-B ]
C7) ° HETH CLISY O TPC=ATEECTY e

SUEBSTR(SCREEN, 130, 1), SUESTR{ELANK, 130, 4)=E0L;
EXEC CICS SEND TEXT FRDH(SCREEN) ACCUM LENGTH(130) ERASE
PAGING FRINT HONEOM;
DO CNT=1 TO SCNT;
IF TEMPCHECK(CNT) ='%' THEN
DO; DATAI=TEMFDATAI (CNT);
DATA2=TEMFDATAZ(CNT);
DATA3=TEMFDATA3(CNT);
DATA4=TEMFDATA2(CNT)-~TEMFDATA1 (CNT);
DATA6=TEMFPDATA3(CNT)~TEMPDATA2(CNT);
DATAB=TEMFDATAI(CNT)-TEMFDATAL (CNT);
IF TEMFDATA{ (CNT)=0 THEN DATAS5=0; "
i ELSE
DO; IF DATA4>0
THEN DATAS=(DATA4/TEMPDATAY (CNT)*1000)+0.05;
ELSE DATAS=(DATA4/TEMPDATAI (CNT)*1000)-0.05;
END;
IF TEMFDATA2(CNT)=0 THEN DATA7=0;
ELSE
DO; IF DATA620
THEN DATA7=(DATAL/TEMPDATAZ(CNT)I*1000)+0.05;
ELSE DATA7=(DATA4/TEMFDATA2(CNT)*1000)-0.05;
END; .
IF TEMPDATA1(CNT)=0 THEN DATA9=0;
ELSE
DO; IF DATABY0 ’
THEN DATA?=(DATAB/TEMPDATA{ (CNT)*1000)+0.05;
ELSE DATA9=(DATAB/TEMFDATA{ (CNT)*1000)~0.05;

_/
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END;
IF SUBSTR(TEMPKEY(CNT),5,1)='0"' THEN
DO; EXEC CICS SEND TEXT FROM(BLANK) ACCUM
LENGTH(130) ERASE PAGING PRINT HONEOM;
LINS=LIN$+14,;
IF LIN$=50 THEN CALL TITLE_RTN;
KEY=SUBSTR(TEMFKEY(CNT) ,1,4);
EXEC CICS READ DATASET('YESAN') INTOCINREC)
RIDFLD(KEY);
SCREEN=SUBSTR(TEMFKEY(CNT),1,4) | IHS| ]
TITLE}IES|IDATAY | IDATA2| IDATA3 | IDATA4] |
DATAS| iDATA4| I DATA7) IDATAB| | DATA?;
END; ELSE
IF SURSTR(TEMPKEY(CNT) .8,1)='0"' THEN
DO; EXEC CICS SEND TEXT FROM(BLANK) ACCUM -
LENGTH(130) ERASE PAGING FRINT HONEOM;
LINS=LINS+{; o
IF LIN#=50 THEN CALL TITLE_RTN;
KEY=SUBSTR(TEMPKEY(CNT),§,7); .
EXEC CICS READ DATASET('YESAN') INTOCINREC)
RIDFLD(KEY);
SCREEN=(5) ' '|ISUBSTR(TEMPKEY(CNT),5,3)|1HS| |
SUBSTR(TITLE, 1,26) 1 IEST IDATAY | IDATAZ] | DATA3Y |
DATA4| IDATAS| IDATAS|I I L 4TA7I IDATABI I DATA?;
) END; ELSE
IF SUBSTR(TEMFKEY(CNT),14,4)='0' THEN
DO; KEY=SUBSTR(TEMPKEY(CNT),1,10),
EXEC CICS READ DATASET('YESAN') INTOCINREC)
RIDFLD(KEY);
SCREEN=(9) ' '} |SUBSTR(TEMFKEY(CNT),8,3)|IHS||
SUBSTRCTITLE, 1,22)) |ES] IDATA1 | IDATAZI I DATAZ|
DATA4| | DATAS| IDATASI IDATA7]I IDATAB| IDATAY;
END; .
SUBSTR(SCREEN, 130,1), SUBSTR(BLANK, 130, 1)=EOQL;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130)
ERASE PAGING PRINT HONEOM;
LIN#=LINS+1i;
- IF LIN®=50 THEN CALL TITLE_RTN;
END;
END; R '
DO J=1 TO 3; :
EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(138) ERASE
FAGING FRINT HONEOM;
END;
SELYIO=' '
EXEC CICS SEND PAGE RETAIN,;

TITLE_RTN: FROCEDURE; -
DO J=1 TO 15; )
EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE
FPAGING PRINT HONEOM;

END;.
YYEAR=YEAR-1; .

SCREEN=(40) ' 'JIYYEARI|' (AY'|i' '|IHS|ISUBSTR(HEAD(12),1,4)1I
ESHI'C(RY'FI'  "1IHS|ISUBRSTRC(HEAD(12),14,4)1ESII
CYLICTY ! THEPB-AT (Y O X sy Y L 'C-BY
7)Y " % T IEES) P HPC-AN LT O TR

SUERSTR(SCREEN, 130, 1), SUBSTR(BLANK, 130, 1)=EOL;

EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
PAGING FRINT HONEOM;

LIN2=0; .

END TITLE_RTN;

\— J
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END FRINT_RTN;

JOBEND: . .
EXEC CICS ENDBR DATASET('YESAN');
EXEC CICS KETURN; '
END YSPGM314,;
/%
’/
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///V B47,86.325,143:37:47,B17.PROGRAM.LIBRARY (YSPGME2)

//B1T7TJAPGM JOBE  CLASS=G,MSGCLASS=X
//TESTH EXEC CICSFLI,HMBR=YSPGH52
//TRN.SYSIN DD #»
* PROCESS GS,NEST, INCLUDE;
YSPGM32: PROC(P) OPTIONS(MAIN, REENTRGNT),
DCL P FOINTER,
COM_REGION BASED(F),
2 SELSKEY CHAR(1),
2 SEL2KEY CHAR(1),
2 INKEY CHAR(12),
2 SAVEKEY CHAR(4);
DCL ¢ INREC,

2 KEY CHAR(15),

2 TITLE CHAR (360},

2 DATA(10) PIC'(B)Z9',
2 YEARDATA PIC' (29",
2 CCHEK CHAR(1),

2 FILL CHAR(5);

DCL. 4 TEMPFILE(500),
Z* TEMPKEY CHAR(15),

TEMPTITLE CHAR(30),
TEMPDATA{ PIC'(8)29',
- TEMFDATAZ PIC'(8)29',
TEMPDATA3 PIC'(B)Z9', .
TEMPCHECK CHAR(1);
DCL (TOYEAR YEAR,K) PIC 99",

(SCNT, CNT,RCNT,LCNT) PIC 999",

KK CHAR(3),

(NUJEK 4, NUJEK2, NUJEK3) FPIC'(8)>Z9' INIT(O),
DCL (MORE INIT('1'B),YES INITC'{'E),NO INIT('O'EB)) BIT(4),
XZINCLUDE YSMAPA,YSTITLE;
ZINCLUDE SPECIALS,BTLAST;
EXEC CICS HANDLE CONDITION ERROR(JOEEND);
EXEC CICS IGNORE CONDITION MAFFAIL NOTEFND ENDFILE;
EXEC €ICS HANDLE AID CLEAR(JOBEND);
KEY="' *; .
EXEC CICS STARTEBR DATASET('YESAN') RIDFLD(KEY) GTEQ,
EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY);
YEAR=SUBSTR(TITLE,S,2); .
TOYEAR=SURSTRC(TITLE,$,2)
PO I= 1 TO 10,

IF TOYEAKR=YEAR THEN DO; K=I, 1I=10; END;
ELSE TOYEAR=TOYEAR+{;

MFUN’GM

END;
CALL SORT_RTN;
CNT=1; -
CaLl SCREEN_RTN; -
DO WHILE(MORE=YES),
SELECT(SEL{I),;~ )
WHENC'L') DO; CNT=LCNT,
CALL SCREEN_RTN;,
END;
WHEN('P') DO, CALL PRINT_RTN,;
MORE=NO,
END;
WHEN{('R') CALL RIGHT_RTN;
WHENC{'E') MORE=NG;
OTHERWISE C&.L SCREEN_RTN;
END; :
END;

\\\‘; SORT_RTN: PROCEDURE;
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DCL ¢ FRODULCT BASED(CURRENT),

5 DESC CHAR(135),
5 DESCKEY CHAR(15),
5 LEFT POINTER,
5 RIGHY POINTER;

DCL. (MORE, YES)- BITCHY INITO'Y'R),
NO . BITCY) INITC('O'R),
NULL BUILTIN,

© TEMP CHARC(13),
4 POINTER,
- START POINTER;

START=NULL; KEY='4200"*;

EXEC CICS RESETER DATASET('YESAN') RIDFLD(KEY) GTER;

EXEC CICS READNEXT DATASET(' YFSAN ) INTOCINREC) RIDFLOCKEY),

DO WHILE(SUBSTR(EIBRCODE,{,4) =RENDFILE);

TEMF= SUBSTR(KEY 1, 4)I|SUFSTR(KEY 8, 3)[|SUBSTR(KEY 5,33,
ALLOCATE PRADUCT;
DESC=TEMF;
DESCKEY=KEYi
LEFT=NULL;
RIGHT=NULL;
IF START=NULL THEN START= CURRENT,
< ELSE CALL BRUILD_TREE;
EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY);

END;

CNT=0;

CALL FRINT_TREE(START);

SCNT=CNT; =~ .

DO WHILE(CNT?1);

TEMPKEY{(CNT)=TRANSLATE{TEMPKEY(CNT), "0, '),

KK“SUBSTR(TENPKEY(CNT) 5,3);

"DO WHILE(KK= SUBSTR(TENPKEY(CNT) 5,3) & CNTX4),
NUJEK?—NUJEK?*TE“PDATR?(CNT),
NUJEK2=NUJEK 2+ TEMPDATA2(CNT) ;

NUJEK 3=NUJEK3+TENFDATAZ(CNT);
TEMPCHECK(CNT)="'%"*;

CNT=CNT-1;

END;
TEMPDATAY (CNT+4 ) =NUJEK S ;
TEMPDATA2(CNT+1 )=NUJEK2;
TEMPDATAZ(CNT+{)=NUJEK3;
TEMPCHECK (CNT+4{)=" ',
NUJEK , NUJEK2, NUJEK3=0;

END;

CNT=SCNT;

CALL READRTN(5,8),;

CALL READRTN(3J,5);

RETURN;

BUILD_TREE: PROCEDURE;
P=START;
DO WHILE(P™=NULL),
IF DESC ¢ F ~> DESC THEN
DO; IF P —> LEFT = NULL, THEN B
DO; F - LEFT = CURRENT;
F=NULL ;
END; ELSE P= F ~-) LEFT;
‘END; ELSE .
IF DESC > F -) DESC THEN
DCG; IF F -> RIGHT = NULL THEN
DO; P -) RIGHT = CURRENT;
- , P=NULL ; ¥
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END; ELSE P= P ~-) RIGHT,
END; ELSE
DO; P = NULL;
END; )
END; /RRkxnERen®® DO WHILE END  smxxexnn/
END BUILD,_TREE;

PRINT_TREE: PROCEDURE(Q) RECURSIVE;
bCL @ FOINTER;
IF Q=NULL THEN RETURN;
CALL PRINT_TREE(Q -> LEFT);
KEY=Q ~) DESCKEY;
EXEC CICS READ DATASET('YESAN') INTO(CINREC) RIDFLD(KEY);
IF SUBSTR(KEY,S,6)=' ' | SUBSTR(KEY,8,3)7=' * THEN
DO; CNT=CNT+Y;
TEMPKEYCENT)=SUBSTR(KEY, 1,4) | | SUBSTR(KEY,8,3);
TEMFTITLE(CNT)=TITLE;
TEMPDATAZ(CNT)=DATA(K) ;
TEMPDATAT (CNT)=DATA(K~1);
TEMPDATAZ{CNT )=YEARDATA;
TEMPCHECK (CNT)=CCHEK ;
. END;
CALL PRINT_TREE(Q ~> RIGHT);
END PRINT_TREE;

READRTN: PROCEDURE (CHEK,ZER);
pcL (CHEK , ZER) PIC'99’,
v K1 ,K2) FIC'9';

NUJEK1 ,NUJEK2=0; .

DO WHILE(CNT)0); .
TEMPKEY(CNT)=TRANSLATE(TEMPKEY(CNT), ‘0", ');
Ki=SUBSTR(TEMPKEY{(CNT),CHEK,1);
K2=SUBSTR(TEMPKEY(CNT), ZER, 1);

IF TEMPCHECK(CNT)™='%' THEN ’
PO; IF Ki™=0 & K2=0 THEN :

DD; NUJEK{=NUJEKI+TEMFDATAY (CNT);
NUJEK2=NUJEKZ2+TEMPDATAZ(CNT ) ;
NUJEK3=NUJEK3+TEMFDATAZ{(CNT);

" END; ELSE
IF Ki =0 & K220 THEN

DO; TEMPDATA1 (CNT)=NUJEK1;
TEMPDATAZ (CNT)=NUJEKZ;
TEMPDATA3 (CNT )=NUJEKS;

NUJEK S , NUJEKZ, NUJEK3=0,
END;
END;
CNT=CNT-1 . .

-END; ) .

CNT=SCNT;

/= IOMSG=K$ | IK21 iCHEK 1 | ZER;

EXEC CICS SEND FROM(IOMSG) LENGTH(BO) ERASE;

EXEC CICS RECEIVE INTOC(IOMSG) LENGTH(LEN);

*/
END READRTN; . . . ) )
END SORT_RTN; /xnnx%n SORT ROUTINE END exxxxx/

SCREEN_RTN: PROC;
DEL 1 SCREEN, :
2 LINES CHAR(B8),

P4
2 LINEZ CHAR(BO),
2 LINEZ . © CHAR(88),

. 2 LINEAC20), €
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4 BODY CHAR(37),

4 ESIGN CHAR(2) ,

4 DATA CHAR(44),

4 BLANK CHAR(1) :
DCL (DATA1,DATA2,DATA3Z,DATA4)  PIC' ===, --=, =97,

YYEAR PIC'99";

STRING(SCREEN)=' *;
LINE4=(8) ' '||HSI{HEAD(1)1' ' |IHEAD(3)|HEAD(5)|]

" 'TIHEADCA) |1’ 'UIHEAD(I2)1i' ' 1IHEAD(10)|1¢10) * 1|

HEAD(B) | IEST)': *|IHS|IHEAD(9) | |ES;
YYEAR=YEAR-1;
LINE3=(38) ' '||YYEARII' (A)'I1'  *[[HS|ISUBSTR(HEAD(12),4,4) | |ES||
CBY'1I''IIHS|ISUBSTR(HEAD(12), 11,4 | [ESI 1’ (C) ' 11
il*ah!.

BLANK=' *; ..
ESIGN=ES;

DO I=f TO 20 WHILECSCNT)>=CNT);
IF TEMPCHECK(CNT) ='»' THEN
DO; DPATHI=TEMPDATA{I(CNT);
DATA2=TEMPDATAZ(CNT);
DATA3=TEMFDATAZ(CNT);
. DATA4=TEMPDATA2(CNT)~TEMFDATA1 (CNT) ;
DATA(I)=DATA1 | IDATAZ| | DATA3| IDATA4;
IF SUBSTR(TEMPKEY(CNT),5,1)='0' THEN
BODY(I)=SUBSTR(TEMPKEY(CNT),1,4)]]
HSTITEMFTITLEC(CNT);

ELSE.
IF SWUBSTR(TEMPKEY(CNT),B,1)='0" THEN
RBODY(CI)=(5) ' *|[SUBSTR(TEMFKEY(CNT),5,3)1}

HE T SUBSTR(TEMPTITLEC(CNT), 1,25),

END; ELSE I=I-t;

CIF I={ THEN RCNT= CNT.

CNT=CNT+1;
END;
EXEC CICS SEND TEXT FROM(SCREEN) NOEDIT LENGTH(1936) ERASE,
SEL1Q=" *;
EXEC CICS SEND MAF('YSMAFP43') MAPSET(® YSMAP4')
EXEC CICS RECEIVE MAF('YSMAP4Z' } MAPSET (! YSHAP4 )

LEND SCREEN_RTN; . .

RIGHT_RTN: PROC;
DCL 1 SCREEN,

2 LINEY ! CHAR(B8),
2 LINE2 o CHAR(80),
2 LINE3 CHAR(80),
2 LINEA(20), .
4 RODY CHAR(3T?), ;
4 ESIGN CHAR(2), ) : -
4 DATA . CHAR(44),
4 BLANK CHAR(1);
DCL CREASE FLOAT(ié),
(DATA2,DATA4) PIC! wm, s 9,
{DATAY,DATAZ, DATAS) PIC! -wmeg, 9
: YYEAR RIC 99",
STRING(SCREEN)=' *;
LINE1=(8) ' *"}1IHSIIHEAD({) |} *LIHEAD(3) | THEAD(S) 1}
! ‘I IHEADC4) |}’ 'TIHEADCI2O 11 "HIHEADCIOY 1 HCiI0)Y ¢ ')
HEAD(S) [IESI ' = ' 1 IHS L IHEAD(9) L IES;
YYEAR=YEAR~1 ;
LINE3=(39) v % !l(?) oty B IRET- P A A S RSP L |
. ",( L |"! Zi‘
BLANK=* ', i
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//'7 ESIGN=ES;

CNT,LCNT=RCNT;
DO I=1 TO 20 WHILE(SCNT>=CNT);
IF TEMFCHECK{CNT) ='x' THEN
DO; CREASE=TEMPDATAZ(CNT)- TEHFDATQ1(CNT):
IF TEMFDATA1(CNT)>=0 THEN DATA{1=0;
ELSE
p0; IF CREASEYO
THEN DATA1=(CREASE/TEMFPDATAY (CNT)*1000)+0.05;
@ ELSE DATAt{=(CREASE/TEMFDATA4(CNT)*{000)-0.05;
END;
DATA2=TEMPDATA3(CNT) -TEMPDATAZ(CNT);
IF TEMFDATA2(CNT)>=0 THEN DATA3=0;
ELSE
pO; IF DATA2)0
- THEN DATAZ=(DATA2/TEMFDATA2(CNT)*1000)+0.03;
ELSE DATA3=(DATA2/TEMFDATA2(CNT)*1000)-0.035; -
END; : ) -
+ DATA4=TEMPDATAS(CNT)-TEMPDATA{ (CNT);
IF TEMPDATA1I (CNT)=0 THEN DATAS5=0;
ELSE
DO; IF DATA4)0
THEN DATAS=(DATA4/TEMFDATA1 (CNT)*1000)+0.05;
ELSE DATAS=(DATA4/TEMFDATA1 (CNT)*1000)-0.05;
END;
DATACI)=DATA1 | IDATAZ| IDATA3| IDATAA| |DATAS;
IF SUBRSTR(TEMFKEY(CNT),5,1)='0"' THEN
BODY(I)= SUESTR(TEHPKEY(CNT),',4)1]
HS | ITEMFTITLECCNT);

ELSE
IF SUBSTR(TEMPKEY(CNT)>,8,1)='0"' THEN
BODY(I)=(5) ' ' | |ISUBSTR(TEMFKEY(CNT),5,3)11

HS | ISUBSTR(TEMPTITLECCNT) , {,25);
END; ELSE I=I-4%,
CNT=CNT+1;
END;
EXEC CICS SEND TEXT FROM(SCREEN) NUEDIT LENGTH({1928) ERASE;
SELIO=" ';
EXEC CICS: SEND MAP('YSMAPA3') MAPSET('YSMAP4');
- EXEC CICS RECEIVE MAP('YSMAF43') HAPSET( YSMAF4 '),
END RIGHT_RTN;

PRINT_RTN: PROC;

DCL SCREEN : - CHAR({130),
BLANK CHAR(130) INIT(' '),
DCL 1 RLIST, ‘
2 RTERM CHAR(4),
2 Fi CHAR(12) INITC' 'y, .
2 ENDLIST FIXED EBIN({I5) INIT(-1);
DCL (DATA4,DATA2,DATA3,DATA4,DATASL,DATAB) FPIC' ~—-, =~ , -9,
(DATAS5,DATA7,DATA?) PIC'~,--9.9",
(YYEAR,I,.J) PIC' 99",
LIN® FIC'?29' IN1T(0O);
IF SURSTR(EIBTRMID,1,2)= 'MC THEN RTERM="MFT{ "',
STRING(SCREEN)=" ',
EXEC CICS ROUTE LIST(RLIST);
SCREEN=(34) ' '[[HSIIHEAD(1) |}’ ' IHEAD(3) | |

LHEAD(S) | 1*  *1IHEADCAdX 11 ‘' |IHEADGI2)|I' ' IHEADC10);
SUBSTR(SCREEN 130,1),SUBSTR(BLANK, 130, 1)=E0L; )
‘EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM,; .
SCREEN=(409) ' '|IHSIIHEADC(B)I|IES] ' '||MS||IHEAD(®);
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SUBSTR(SCREEN, 130,1), SUBSTR(BLANK, 130, 1)=EOL;

EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM; )

EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(i30) ERASE
FAGING FPRINT HONEOM;

EXEC CICS SEND TEXT FROM(HBLANK) ACCUM LENGTH(130) ERASE

’ ' PAGING PRINT HONEOHM;

YYEAR=YEAR-1;

SCREEN=(40) ' "IIYYEARI]' (A)'f1' ' 1IHS]ISUBSTRCHEADCH2), 1, 4) 11
ESII'CBY'I1' " 1IHS|ISUBSTR(HEAD(12),41,4) | IESTI
YCC) IO T ITE-ATTICTY K TTIGe) T TR
()7 IS T e-AT _
(7) L ll'!

SUBSTR(SCREEN, 130, 1) SUBSTRCELANK, 130, 1 )=EOL :
EXEG CICS SEND ,JEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
FAGING PRINT HONEOHM;
DO CNT=1 TO SCNT;
IF TEMPCHECK(CNT)™='%' THEN
DO,;*DATA1=TEMFDATAS (CNT) ;
DATA2=TEMFDATAZ(CNT);
DATA3=TEMPDATA3(CNT);
DATA4=TEMFDATA2 (CNT)~TEMFDATA{ {CNT) ;
DATA&=TEMPDATAZ(CNT)~TEMFDATAZ(CNT);
DATAB=TEMPDATAZ(CNT)-TEMFDATAS (CNT) ;
IF TEMFDATAY (CNT)>=0 THEN DATAS=0;
ELSE
DO; IF DATA4)0
a THEN DATAS=(DATA4/TEHFDATAT (CNT) %1000} +0.05
ELSE DATAS=(DATA4/TEMFDATA{ (CNT)*1000)-0.05;
END;
IF TEMPDATA2(CNT)=0 THEN DATA7=0;
) ELSE
DO, IF DATA&)O"

THEN DATA7=(DATA4/TEMFPDATA2(CNT)*1000)+0.03,

ELSE DATA7=(DATA4/TEMFDATAR(CNT)I*1000)-0.05;
END; :
IF TEMFDATA{(CNT)>=0 THEN DATA9=0;
. ELSE ’
DO; IF DATA8)>0
THEN DATA9=(DATAB/TEMPDATA1(CNT)*1000)+0.03;
ELSE DATA9=(DATAS8/TEMFDATA1(CNT)*1000)--0.05;
END;
IF SUBSTRC(TEMPKEY(CNT),5,4)='0" THEN
DO; EXEC CICS SEND TEXT FROM(EBLANK) ACCUM
LENGTH(130) ERASE PAGING PRINT HONEONM,
LINS=LINZ+{ ;.
IF LIN#=50 THEN CQLL TITLE_RTN;
. SCREEN=SUBSTR(TEMFKEY(CNT),4,4) 1 [HS || .
TEHPTITLE(CNT)!IES||DATA1|ID TAZI
DATA3| IDATAA1 IDATAS| IDATAGII
DATA7| IDATABI| IDATA?,
I=0; . :
END; ELSE
IF SUBSTR(TEMPKEY(CNT},8,1)="'0" THEN
DO; IF I=3 THEN
D0O; EXEC CICS SEND TEXT FRDH(HLQNK) ACCUM

LENGTH(130) ERASE FAGING FRINT HONEONM,

LINS=LINF+1;
IF LIN%=50 THEN CaALL TITLE_RTN;
I1=0;
END;
, SCREEN=(5) ' '] |SUBSTRC(TEMPKEY(CNT),5,3) 1 IHSHI

_J
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SUBRSTR(TEMPTITLE(CNT), 4 ,26) | IESIIDATAYY ]

DATAZ| | DATA3| IDATA4] IDATAS | IDATASL]]

DATA7| | DATAB] | DATAY,;

I=I+4; :
END;
SUBSTR(SCREEN, 130,1), SUBSTRC(BLANK, 130, 1)=E0L;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130)

ERASE PAGING PRINT HONEOM;
LIN®=LINS+9;
IF LIN#=50 THEN CALL TITLE_RTN;
END;
END;
PO J=1 TO 3; .
EXEC CICS SEND TEXT FROM(EBLANK) ACCUM LENGTH(130) ERASE
o FAGING FRINT HONEOM;

END;

SELIO=" *;

EXEC CICi SEND FAGE RETAIN;

TITLE_RTN: PROCEDURE;
DO J=1 TO 13;
EXEC CICS SEND TEXT FROM(EBLANK) ACCUM LENGTH({i30) ERASE
" PAGING FRINT HOMNEOM;

"

END; .
YYEAR=YEAR-1;

SCREEN=(40) ' '1IYYEAR}I' A"}’ FHIHSHISUBSTRC(HEAD(IZ2) 4,40 1
CESIECCBYULYY ‘TIHS I SUBSTRCHEADCI2) , 11,4 HIESTI
CCEYTEIETY,  CHLTE-AT LT % CLEKE) T I C-R T
€7Y " "PIY C1I(5Y O YpitC-At .
S TR B

SUBSTR(SCREEN,130,1), SUBSTR(BLANK, 130, 1 )=EOL;
EXEC CICS SEND TEXY FROM(SCREEN) ACCUM LENGTH({30) ERASE
PAGING PRINT HONEOM,;
LIN#=0;
END TITLE_RTN;
END FRINT_RTN;

JOBEND : .
- . EXEC CICS ENDBR DATASET('YESAN');
EXEC CICS RETURN;
END YSPGM52;
/%
/7
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//"B17.86.325,13:38:03,B17APROGRAH.LIBRARY(YSPGHSJ)

/7B 7IARGH JOB  CLASS=G,MSGCLASS=X
//TESTH EXEC CICSFLI,MBR=YSFGH53
//TRN.SYSIN DD % -
*® PROCESS GS,NEST, INCLUDE,
YSFGMS3: FROC(F) OPTIONS(MAIN,REENTRANT);
DCL P POINTER,
§ COM_REGION KEASED(F),
2 SELYKEY CHARC({),
2 SEL2KEY CHARCY),
2 INKEY CHARC(12),
2 SAVEKEY CHAR(4);
PCL 1 INREC, B
’ KEY CHAR(13),
TFFLE CHAR(30),
DATAC10) PIC'(8)Z9',
YEARDATA PIC'(8)Z9".
CCHEK CHARC(1),
FILL CHAR(3);
EMPFILE(S500),
TEMPKEY CHAR{(13),
TEMPTITLE CHAR(30),
TEMPDATAL - PIC'(8)YZ9',
TEMPDATAZ PIC'(8)Z9',
TEMPDATA3 FPIC'(8)Z9',
TEMPCHECK CHAR(1);

DCL 1

SR RRARSEARMECESESRARSR RS

DEL (TOYEAR,YEAR,K) . FIC'99’,
(SONT, ONT , RONT,LCNTD FIC 999",
KK CHAR(4),

(NUJEK Y, NUJEK2,NUJEK3) PIC’{(8)Z9' IN1T(0);
DCL (MORE INIT('{'R),YES INIT('1'H),NO INIT('O'R))
DCL IOMSG CHAR(BO) ,,

LEN FIXED BINC4S) INIT(80);
ZINCLUDE YSMAPA,YSTITLE;
ZINCLUDE SFECIALS,BTLAST;
EXEC CICS HANDLE CONDITION ERROR(JOBEND);
EXEC CICS IGNORE CONDITION MAPFAIL. NOTFND ENDFILE;
EXEC CICS HANDLE AID CLEAR(JOREND);
KEY=' ';
EXEC CICS STARTER DATASET('YESAN') RIDFLD(KEY) GTEQ.

YEAR=SUBSTR(TITLE,5,2);
TOYEAR=SUKSTR(TITLE,$,2);
DO I= {§ TO 10, .
IF TOYEAR=YEAR THEN DO; K=I; 1I=40; END;
) : ELSE TUYEAR TOYEAR+S;
END; ) .
CALL SORT_RTN;
CNT=14,;"
CALL SCREEN_RTN; ]
DO WHILE(MORE=YES);
SELECT(SEL1I);
WHEN('R') CALL RIGHT_RTN;
WHENC'L') DO; CNT=LONT,; :
) CALL SCREEN_RTN;
R END;
WHEN('P') DO, CALL PRINT_ RTN:
MORE=NQ;
: END;-
WHENC'E')Y MORE=NO;
OTHERWISE CALL SCREEN._RTN; <
END; : ' . .
END;

-

BITC(EY

EXEC CICS READNEXT DATASETC('YESAN') INTGCINREC) RIDFLD(KEY);
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(/,V SORT_RTN: PROCEDURE;

DCL 1 PRODUCT BASED (CURRENT)
5 DESC CHAR(15),
5 DESCKEY CHAR({5),
5 LEFT FOINTER,
5 RIGHT POINTER;

DCL (MORE, YES) BIT(4) INITO'1'R),
NO BIT({) INIT('O'R),
NULL BUILTIN,

TEMP CHARK1S5)
TKEY CHAR(3),
P POINTER,
START POINTER;

START=NULL; KEY='1200";
EXEC CICS RESETER DATASET('YESAN') RIDFLD(KEY) GTEQ;
EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLDC(KEY),
DO WHILE CSUBSTR(EIBRCODE, 1, 1) "=RENDFILE); .
TEMP=SUBSTR(KEY,B,3) | | SURSTR(KEY, §,4) | | SURSTR(KEY,5,3);
ALLOCATE PRODUCT;
- DESC=TEMP;
DESCKEY=KEY;
LEFT=NULL ;
RIGHT=NULL ;
IF START=NULL THEN START=CURRENT)
ELSE CALL BUILD_TREE;
EXEC CICSKEADNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY);
END; .
CNT=0;
TKEY=" ',
CALL PRINT_TREE(START);
SCNT=CNT;
DO WHILE(CNTY0);
TEMPKEY(CNT)=TRANSLATE (TEMPKEY(CNT), 0", ' '),
KK=SUBSTR(TEMFKEY(CNTY, 4,4);
DO WHILE(KK=SUESTR(TEMPKEY(CNT),4,4) & CNT)0);
NUJEK 1 =NUJEK 4 +TEMFDATAS (CNT ;
NUJEK 2=NUJEK 2+ TEMPDATA2 (CNT)
NUJEK 3=NUJEK 3+TEMPDATAZ(CNT) ;
TEMPCHECK (CNT)='%'; -
. CNT=CNT-1, '
END;
TEMPDATAS (ENT+1 ) =NUJEKS;
TEMPDATA2 (CNT+1 ) =NUJEK2;
TEMPDATAZ(CNT +1 ) =NUJEK3;
TEMFCHECK (CNT+1)=" '
NUJEK1 , NUJEKZ , NUJEK3=0 ;
END;
CNT=SCNT,
CALL READRTN(4 .4,
RETURN;

BUILD_TREE: FROCEDURE;
P=START;
DO WHILE(P™=NULL);
IF DESC ¢ P -)> DESC THEN )
DO, IF P -> LEFT = NULL THEN
DO; F - LEFT = CURRENT;
F=NULL.;
END; ELSE FP= P -> LEFT,
- END; ELSE .
1E_DESC ».P -) DESC THEN
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DQ; IF P -) RIGHT = NULL THEN
DO; P -> RIGHT = CURRENT;
P=NULL;
END; ELSE FP= F - RIGHT;
END; ELSE
DO; F = NULL;
/% PUT LIST C('DUPLICATE KEY ON INFUT I8 IGNORED.').
END; .
END; /EExERrnxnnn DO WHILE END xxxuxxxx/
END RUILD_.TREE;

FRINT_TREE: PROCEDURE(R) RECURSIVE;
pcL 2 FOINTER,
TTKEY?* CHAR{15),;
IF Q=NULL TH&EMN RETURN;
CALL PRINT_THEE(R -2 LEFT);
KEY=Q 5) DESCKEY; . '
EXEC CICS READ DQTASET( YESAN') INTOCINREC) RIDFLD(KEY);
IF SUBSTR(KEY,B8,3)"=' ' THEN
DO; IF TKEYT=SUBSTR(KEY,8,32) THEN
DO; CNT=CNT+4i;
TEMPKEY{(CNT)=SURSTR(KEY,8,3);
TEMFDATA1 (CNTI=0;
TEMPDATA2(CNT ) =0;
TEMPDATAZ(CNT ) =0;
TKEY=TEMPKEY(CNT);
TEMPTITLE(CNT)=TITLE;
CNT=CNT+14;
TEMPKEY(CNT)=SUKSTR(KEY, 8, 3)!|SUBSTR(KEY 1.,4);
TEMFDATAZ(CNT)=DATA(K) ;
"TEMPDATAY (CNT)=DATA(K~1);
TEWPDATAZ(CNT)=YEARDATA;
TTREY=SUBSTR(KEY, 1,4}, .
EXEC CICS READ DQTASET( YESAN')
| INTOCINREC) RIDFLD({TTKEY);
TEMPTITLE(CNT)“TITLE;
END; ELSE
DO; CHT=LNT+4;
TEHPKEY(CNT)=SUBSTR(KEY 8, 3)liSUBSTR(KEY 1,4);
TEMPDATA3Z(CNT)=DATACK);
TEMPDATA1 (CNT)=DATA(K-1);
TEﬁPDATAZ(CNT)=YEARDATA;
- TYKEY=SUBSTR(KEY,$.,4);
EXEC CICS READ DATASET('YESAN')
* INTOCINREC) RIDFLD(TTKEY);
TEMPTITLE(CNT)=TITLE;
END;
TEMPFCHECK(CNT)="' *;
END;
CALL PRINT_TREE(Q -» RIGHT);
END PRINT_TYREE;

READRTN: PROCEDURE(CHEK,ZER); '
DCL {CHEK , ZER) FIC 99",
{(K1,K2) PIC'9Y,
NUJEK1 , NUJEK2, NUJEK3=0;
DO WHILEC(ONT»0);
TEMPKEY (CNT)=TRANSLATE(TEMFKEY (CNT) , BERD ¥
K4=SUBSTR(TEMFKEY(CNT) ,CHEK,1);
. K2=SUBSTR(TEMPKEY(CNT) ,ZER, 1) ;
IF TEMPCHECK(CNT)™='x' THEN
DO; IF Ki™=0 & K2=0 THEN
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(/’f DO; NUJEK{=NUJEK{+TEMPDATAY (CNT) ;
NUJEK2=NUJEK2+TEMPDATAZ(CNT) ;
NUJEK3=NUJEK3+TEMPDATAI(CNT) ;

END; ELSE °
IF Ki=0 & K2=0 THEN
DO, TEMPDATA1 (CNT)=NUJEK1,;
TEMPDATA2(CNT) =NUJEK2;
TEMPDATA3(CNT ) =NUJEK3;
NUJEK S ,NUJEK2,NUJEK3=0;

END;
END;,
CNT=CNT-1;
END;
CNT=SCNT;
END READRTN; 5.
END SORT_RTN; /xnnxn® SORT ROUTINE END  sxexxx/

SCREEN_RTN: PROC;
PCL 4 SCREEN,

2 LINE{ CHAR(88),
2 LINE2 CHAR(80),
‘- 2 LINEZ CHAR(88),
2 LINE4(20),
4 BODY CHAR(3?7),
4 ESIGN CHAR(2),
4 DATA CHAR(44),
4 BLANK CHAR(1);
DCL (DATA1,DATA2,DATA3,DATA4) PIC' ==, ===, =9,
YYEAR ) PIC'99"';
STRING(SCREEN)=' '; ’
LINE1=¢8) ' 'IIHSIIHEAD(3)i|' '|}{HEAD(1)|IHEAD(5)]}
' 'IJHEADCAY 1" 'FIHEADCI2)|1' ' IIHEADCIOY|1¢i0) * ‘]
HEAD(8) [ IESI|*: ') IHSIIHEAD(P) | IES;
YYEAR=YEAR~1; o
LINE3=(38) ' 'JIYYEARII' (A)'1}" "L HS | ISUBSTR(HEAD(12),4,4) | ES )|
(B EEY "1 IHSISUBSTRC(HEADC(i2), 14, 4) LIESHI'(CY ' 1
L} I'IIB_AI) .
ELANK="' *;
ESIGN=ES;

DO I=1 TO 20 WHILE(SCNT)>=CNT);
IF TEMPCHECK (CNT)™='%' THEN
DO; DATA{1=TEMPDATAT(CNT);
DATA2=TEMPDATAZ2(CNT) ;
DATA3=TEMPDATA3(CNT);
DATAA=TEMPDATA2(CNT)-TEMFDATA1 (CNT) ;
DATA(I)=DATA1 | IDATA2]| |DATA3]| |DATAS;
IF SUBSTR(TEMPKEY(CNT),4,1)='0"' THEN
BODY(I)=SUBSTR(TEMPKEY(CNT),4,3) (]
HS 1 1 SUBSTR(TEMPTITLECCNT) , 1,28
ELSE ]
BODY(I)=(5) ' '} |SUBSTR{TEMFKEY{(CNT),4,4)1]|
’ HS | | SUESTR(TEMFTITLEC(CNT )Y, 1,24);
END; ELSE I=I-f%; .
IF I=1 THEN RCNT=CNT,
CNT=CNT+4;
END; .
EXEC CICS SEND TEXT FROM(SCREEN) NOEDIT LENGTH(1936) ERASE;
SELIO=" ';
EXEC CICS SEND MAF('YSMAP43') MAPSET('YSHAFA4');
EXEC CICS RECEIVE MAF('YSMAF43') MAPSET('YSMAF4');
EyD SCREEN_RTN;

\__ , ' _J
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RIGHT _RTN: PROC;
pCL 1 SCREEN, .

2 LINE{ CHAR(B8),

2 LINE2 CHAR(BO),

2 LINE3 CHAR(80) ;

2 LINE4(20),
4 BODY CHAR(3Y),
4 ESIGN CHAR(2),
4 DATA CHAR(44), .
4" BLANK CHAR (1) ;

DCL CREASE FLOAT(16),
(DATA2,DATA4) PIC! ===, ==, =9 ",
(DATA1, DATA3, DATAS) PIC! —===9.9",

YYEAR FIC 99",
STRING(SCREEN)="' ', :
LINE{=(8) ' ’|IHSIIHEAD(Z) ]| CLIHEADC(E Y T THEADC(S) 1

" OUIHEADCA) |1’ ' LIHEADGA2) 11 [ IHEADCSO) 11450) ' ]
HEAD(8) | {ESI|': '{IHS[IHEAD(9)|[ES
YYEAR=YEAR-1;
< LINEZ=(39) ' *11* % Hi47) * *J1'C-B'11€6) * 11 %' Fie?y * 1y
B 1168 1y % .
ELANK=' *;
ESIGN=ES;

CNT, LCNT=RENT;
DO I={ TO 20 WHILE(SCNT>=CNT);
IF TEMPCHECK(CNT) ™='%' THEN
DO; CREASE=TEMPDATAZ(CNT)-TEMFDATAT (CNT);
IF TEMFDATAY (CNT)=0 THEN DATA1=0;
, ELSE
PO, IF CREASE>® ]
THEN DATA4=(CREASE/TEHPDATAT (CNT)*1000)+0.05,
ELSE DATA{=(CREASE/TEMPDATA! (CNT)*1000)-0.05
END;
DATA2=TEMPDATAZ(CNT) ~TEHPDATAZ(CNT) ;
IF WSHPDATAZ(CNT)=0 THEN DATA3=0;
: ELSE
DB: IF DATA2)0
. THEN DATA3=(DATA2/TEMFDATAZ (CNT)*§000)+0.05;

ELSE DATA3={DATAZ/TEMPDATAZ(CNT)%*1000)- 0 035,
END,

DATA4=TEMFDATA3(CNT) - TEHPDATAi(CNT).
IF TEHPDQTQ1(CNT)~0 THEN DATAS5=0;
ELSE

DO; IF DATA40.
THEN DATAS=(DATA4/TEMPDATA1 (LNT)%{000)+0.05;
ELSE DATAS=(DATA4/TEMFDATAL (CNTI*1000)~0.05;
END; :
DATA(I)=DATA4 | IDATAZ| IDATA31 |DATA4] | DATAS,
IF SUBSTR(TEMFKEY(CNT),4,i)='0* THEN

BODY(I)=SUBSTR(TEMPKEY(CNT),1,3)}}

HSLITEMPTITLECONT);
ELSE

BGDY(I)=(5) ! ‘}lkUBSTR(TENPKEY(CNT),4.4)1!
HS | I SUBSTR(CTEMPTITLE(CNT), 1 ,24);
END; ELSE I=I-1; . .

CNT=CNT+1 ;
END;
EXEC CICS SEND TEXT FROM(SCREEN) NOEDIT LENGTH({4928) ERASE;
SELIO=" ¢,
EXEC CICS SEND MAF (' YSHAF43') HAF»LT( SEHAFA")

EXEC CICS RECEIVE MAF('YSHAFA4Z') MAPSET('YSMAF4');
END RIGHT RTN;

\
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//'V PRINT_RTN: PROC; .

DCL SCREEN CHAR(130),
BLANK @ CHAR(130) INITC(' '3,
DCL 4 RLIST, ’ : '
2 RTERM CHAR(4),
2 Fi CHAR(12) INITC'® ',
2 ENDLIST FIXED RINCi135) INIT(-91),
DCL (DATA4,DATA2,DATA3,DATAA4,DATAS, DATAB) FPIC ~—m,———,~~9",
(DATAS,DATA7,DATA?) pIC'~,-~9.9",
{(YYEAR, I, ) FIC'?9",
LING CRIC'?9' INIT(O);
IF SUBSTR(EIETRMID,4,2)='MC' THEN RTERM='MFT{',
STRING(SCREEN)=' ', ‘
EXEC CICS ROUTE LIST(RLIST);
SCREEN=¢40) * 11JHSIIHEAD(3) 11" ' IHEAD(1)}]
HEAD(S)11' " LIHEADC4AY 11 " JIHEADGI2) 11" ' 1 IHEAD(1O), |

SUBSTR(SCREEN, 130,1), SURSTR{ELANK, 130, 1)=EOL;
EXEC CICSe SEND TEXT FROM(SCREEN) ACCUM LENGTH¢130) ERASE
PAGING PRINT HONEOHM;
SCREEN=(109) * '{IHS{IHEAD(B)ILIESII': ‘1 IHSIHEAD(?);
- SUBSTR{SCREEN,{30,1),SUBSTR(BLANK, 130, {)=EOL;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
: PAGING PRINT HONEOM;
EXEC CICS SEND TEXT FROM(ELANK) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM;
EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(1303 ERASE -
» PAGING PRINT HONEOM;
YYEAR=YEAR~1 ;

SCREEN=(40) ' '}IYYEARIL' (A)' 11’  '[IHS|ISUBSTR(HEAD(12),4,4) 1}
ESI{'CRY LY "LHIHSHISUBSTR(HEAD(12),14,4) L IESLI
PECYTEICTY Ot CHICE-ATLILTY O OTHIYE LY R
C7y 0 YRETE OCTEGS)Y O THPTC-AT IO Y R .

SUBSTR(SEREEN, 130, 1), SURSTR(ELANK, 130, 1)=EOL;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE’
PAGING PRINT HONEOM;
DO CNT=1 TO SCNT;
IF TEMPCHECK(CNT)7='x' THEN
DO; DATAY=TEMPDATAI (LUNT);
DATA2=TEMFDATA2(CNT) ;
DATA3=TEMPDATAZ(CNT) ;
DATA4=TEMPDATA(CNT)~TEMFDATA1 (CNT);
DATAS=TEMPDATAZ(OUNT)-TEMFDATA2(CNT)
DATAB=TEMFDATAZ(CNT)-TEMFDATATI (CNT);
IF TEMPDATAS(CNT)=0 THEN DATA5=0;
. ELSE
DO; IF DATA4>0
THEN DATAS=(DATA4/TEMPDATA{ (CNT)*1000)+40.05;
ELSE DATAS=(DATA4/TEMPDATA{ (CNT)*1000)-0.0%5; .
END; : ’
1F TEMPDATA2(CNT)=0 THEN DATA7=0;
ELSE
DO; IF DATAL)O
THEN DATA7=(DATA4/TEMPDATAZ(CNT)*1000)+0.05,
ELSE DATA7=(DATAS/TEMFDATAZ(CNT)%$000)-0.05;
END; S
IF TEMPDATA1(CNT)=0 THEN DATA9=0;
ELSE
DO; IF DATABYO
THEN DATA9=(DATAB/TEMPDATA{ (CNT)%1000)+0.05;
ELSE DATA9=(DATAS/TEMFDATAS (CNT)%1000)-0.05;

. END; €
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IF SUBSTR(TEMPKEY(CNT),4,1)="'0"' THEN
DO; EXEC CICS SEND TEXT FROM{BLANK) ACCUM
LENGTH(130) ERASE FAGING PRINT HONEOH,
LINS=LINS+,
IF LIN$=30 THEN CALL TITLE_ RTN;
SCREEN=SUBSTR(TEMFKEY(CNT), 1,3 | [HS |1
TEHPTITLE(CNT)iJESiI’ ‘1IDATAY
DATA2) IDATAZ| IDATA4I | )
: DATAS iDATAG] IDATA? IDATABI | DATAY;
END; ELSE

IF SUBSTROTEMPKEY(ONT),8,1)='0" THEN
SCREEN=(4) ' '||SURSTR{TEMFKEYC(CNT) ,4,4) [ iHS|I
SUBSTR(TEMFTITLE(CNTY 1,260 1 JEST
. DATA1 L IDATAZI IDATAZIL |
. DATAAIIDATA5IIDATA6IADATA?|IDATAQI!DATA?
SUBSTR(SCREEN, 130, 1), SUBSTR(ELANK, 130, 1 )=E0L, ’
EXEC CICS SEND TEXT FhOﬂ(SCREEN) ACCUN LENGTH(130)

” . ERASE PQGING PRINT HONEOM;
LIN =LINS+Y
IF LIN$=50 THEN CALL TITLE_RTN;
. END; . :
END;
DO J=1 TO 3,

EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE
PAGING FRINT HONEOM;
END;

SELfO=" 7
EXEC CICS SEND PAGE RETAIN;

TITLE_RTN: PROCEDURE; .
DO J=1 TO 3;
EXEC CICS SEND TEXT FROM(HELANK) ACCUM LENGTH(130) ERASE
© PAGING PRINT HONEOH;

END;
YYEAR=YEAR-1 ;
SCREEN=(40) ' '|IYYEARI1' CA)' 1|’ ‘|IHS|ISUBSTRCHEAD(12),1,4) 11
ESII'(BY'{1' *|IHS|ISUBSTR(HEAD(12),11,4) | ES]|
PO HTCTY 7 CHICB~ATTICTY O TR THiCeY B
C7) ' "HPE N HIS) O HETC-ATEICTY A

SUBSTR(SCREEN 130,1), SURSTR(ELANK, 130, 1 )=EQL; .
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH({30) ERASE
“: PAGING FRINT HONEOM;

LINS=0; )

END TITLE_RTN,
END PRINT_RTN;

JOREND : .
EXEC CICS ENDBR DATASET('YESAN® i
EXEC CICS RETURN; '

END YSPGM53;

Ve
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(//V B17.86.325,13:38:35,B17.PROGRAM. LIBRARY {YSPGM54)

//BITJAPGH JOB CLASS=G,MSGCLASS=X
//TESTH EXEC CICSPLI,MEBR=YSPGM54
//TRN.SYSIN DD =
* PROCESS GS,NEST, INCLUDE;
YSPGEMS54: PROC(P) OPTIONS(MAIN,REENTRANT);
DCL. P POINTER,
t COM_REGION BASED(P),
2 SELYKEY CHAR(1),
. 2 SELZKEY CHAR (1),
2 INKEY CHAR(12),
T2 SAVEKEY CHAR(4);
DCL 1 INREC,
2 KEY CHaR(15),

2 TITLE CHAR(30),
2 DATA(10) FPIC'(8)Z9",
2 YEARDATA  FIC'(8)Z%',
* 2 ¢rehek CHAR(1),
2 FILL CHAR(5) ;
DCL 1 TEMFFILE(500),
. 2 TEMFKEY CHAR(13),
2 TEMPTITLE CHAR(30),
2 TENFDATAY FIC'(8)Z9°',
2 TEnFPDATA2 PIC' (829,
2 TEMPDATAZ PIC'(8)Z9',
2 TEMPCHECK CHAR(1); .
DCL. (TOYEAR, YEAR,K) i PIC' 99",
(SCNT,CNT,CCNT, RCNT,LCNT). PIC 999",
KK i CHAR(T7), :
(NUJEK 1 , NUJEK2, NUJEK3) PIC'(8)Y29' INIT(O);

DCL (MORE INIT('41'B),YES INITC('1'E),NO INITC('O'R)) RIT(4);
XINCLUDE YSMAFP4,YSTITLE;
ZINCLUDE SPECIALS,BTLAST; .
EXEC CICS HANDLE CONDITION ERROR(JOBEND);
EXEC CICS IGNORE CONDITION MAPFAIL NOTFND ENDFILE;
EXEC CICS HANDLE AID CLEAR(JOBEND);
KEY=' ',
- EXEC CICS STARTER DATASET('YESAN’) RIDFLD(KEY) GTEQ;
‘ EXEC CICS READNEXT DATASET('YESAN') INTO(INREC) RIDFLD(KEY),
YEAR=SUBSTR(TITLE,S5,2); :
TOYEAR=SUBSTR(TITLE. 4,2},
DO I= 4 TO 10,
IF TOYEAR=YEAR THEN DO; K=I, I=10; END;"
ELSE TOYEAR=TOYEAR+1%;
END; .
- CALL SORT_RTN;
ENT=4;
CALL SCREEN_RTN;
DO WHILE(MORE=YES);
SELECT(SELII;
WHEN('R') CALL RIGHT_RTN;
WHEN('L') DO; CNT=LCNT;
. CALL SCREEN,.RTN;
END;
WHEN('P') DO; CALL PRINT_RTN;
: MORE=NOQ;
END;
WHEN('E') MORE=ND;
OTHERUWISE CALL SCREEN_RTN;
END;
END;

SORT_RTN: PROCEDURE;

-
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PCL § PRODUCT BASED(CURRENT) ,

5 DESC ) CHAR(15),
5 DESCKEY. CHAR(45),
5 LEFT POINTER,
5 RIGHT POINTER;

DCL (MORE,YES) BIT(4) INITC'4'RY,
NO BIT(4)Y INITO'O'RD,
NULL BUILTIN,

TEMP CHAR(I5),
TKEY CHAR(3),
P FOINTER,
START POINTER; -

START NULL; KEY='41200';
EXEC CICS RESETER DATASET('YESAN' ) RIDFLD(KEY) GTEQ,
EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLO(KEY),
DO WHILE(SUBSTR(EIBRCODE,{, 1) "=RENDFILE);
TEMPgSUBSTR(KEY,S,E)IISUBSTR(KEY;1,4)IISUBSTR(KEY,S,z);
ALLOCATE FRODUCT,
DESC=TENF;
DESCKEY=KEY;
LEFT=NULL;
RIGHT=NULL ;
IF START=NULL THEN START=CURRENT;
ELSE CALL BUILD_TREE;
EXEC CICS READNEXT DATASET('YESAN') INTOCINREC) RIDFLD(KEY);

END;

CNT=0; }

TKEY=' *;

CALL PRINT_TREECSTART);
SCNT=CNT;

CALL READRTN(B,11);
CALL READRTN(4, S).
RETURN;

BUILD _TREE: PROCEDURE;
P=START;
DO WHILE(P™=NULL);
IF DESC ¢ P -> DESC THEN
DO; IF P -) LEFT = NULL THEN
DO; P ~-> LEFT = CURRENT;
P=NULL; .
END; ELSE f= P -) LEFT;
END; ELSE
IF DESC > P - DESC THEN
DO; IF P -) RIGHT =°NULL THEN
DG; P ~-» RIGHT = CURRENT,

P=NULL ;
END; ELSE F= P =) RIGHT,
END; ELSE
DO; P = NULL;
END;
END; /urrxnnexnrrx DO WHILE END RN R KRR,

END BUILD_TREE; A
PRINT_TREE: PROCEDURE(R) RECURSIVE;

DCL @ POINTER,
(TTKEY, TTTKEY) CHAR(15),

- {DATY,DAT2,DAT3) PIC(BIZ9’,
(KEY{,KEY2) CHAR(1S);

IF Q=NULL THEN RETURN;
CALL PRINT_ TREE(Q ~) LEFT),
KEYmQ =5 DESOMEY.

L]

e
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EXEC CICS READ DATASET(’YESAN') INTOC(INREC) RIDFLD(KEY);
KEY$=SUBSTR(KEY,8,3) | |SUBSTR(KEY,{,4);
KEY2=SUBSTR(KEY,8,3) | | SUBSTR(KEY,1,4) | | SURSTR(KEY,5,3);
DAT3=DATA(K);
DATi=DATA(K~-1);
DAT2=YEARDATA;
IF SUBSTR(KEY,8,3)7=' ' THEN
DO; IF TKEY =SUBRSTR(KEY,8,3) THEN
DO; TTKEY=SUBSTR(KEY,{,4);
TTTKEY=SURSTR(KEY,1,7);
CNT=CNT+4 ;
TEMPKEY(CNT)=SUBSTR(KEY,8,3);
TEMPDATAS (CNT) , TEMPDATAZ2(CNT) , TEMFDATA3(CNT)=0;
TEMPTITLE(CNT)=TITLE;
MKEY=SUBSTR(KEY,8,3);
CNT=CNT+1{;
TEMPKEY(CNT)=KEY1 ;
. TEMPDATA1 (CNT), TEMFDATA2(CNT) = 0,
EXEC CICS READ DATASET('YESAN')
INTOCINREC) RIDFLD{(TTKEY);
TEMPTITLE(CNT)=TITLE;
CNT=CNT+14;
TEMPKEY(CNT)=KEY2;
TEMPDATA{ (CNT)=DATHY;
TEMPDATA2(CNT)=DAT2;
TEMPDATA3(CNT)=DAT3;
‘EXEC CICS READ DATASET('YESAN')
INTOCINREC) RIDFLD(TTTKEY);
TEMPTITLE(CNT)=TITLE; .
END; ELSE .
DO; IF SUBSTRC(TEMPKEY(CNT),4,4) =SURSTR(KEY,1,4) THEN
DO; TTKEY=SUBSTR(KEY,{,4);
TTTKEY=SURSTR(KEY, 1, 7),
CNT=CNT+1{;
TEMPKEY{(CNT)=KEY{;
TEMPDATAY (CNT) , TEMPDATA2(CNT) , TEMFDATA3(CNT)=9;
EXEC CICS READ DATASET('YESAN')
INTOCINREC) RIDFLDC(TTKEY);
TEMPTITLE(CNT)=TITLE;
CNT=CNT+1;
TEMPKEY{ENT)=KEY2;
TEMFDATA1 (CNT)=DAT1;
TEMFDATA2(CNT)=DAT2;
TEMPFDATAZ(CNT)=DAT3,;
EXEC CICS READ DATASET('YESAN')
INTOCINREC) RIDFLD(TTTKEY);
TEMFTITLE(CNT)Y=TITLE; .
END; ELSE
DO; CNT=CNT+1%; -
TEMFKEY (CNT)=KEY2; .
TEMFDATA1 (CNT)=DATH ;
TEHFDATAZ(CNT)=DAT2;
TEMPDATAZ(CNT)=DAT3;
TTKEY=SUBSTR(KEY,1,7?);
EXEC CICS READ DATASET('YESAN')
INTO(INREC) RIDFLD(TTKEY)
TEMPTITLEC(CNT)=TITLE;
. END;
END;
TEMPCHECK(CNT)="' ';
.END;
CALL PRINT -TREE(Q > RIGHT);

N
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//’i END FRINT_TREE;’ . AV—‘\\

READRTN: PROCEDURE(CHEK,ZER);
DCL (CHEK , ZER), FIC'99",
{K$,K2) PIC'?Y,

NUJEK{ , NUJEK2, NUJEK3=0;

DO WHILE(ENTO);
TEMFKEY{(CNT)STRANSLATE(TEMPKEY(CNT), '¢', " '),
KA1=SUBSTR{TE®KEY(CNT),CHEK, 1) ;
K2=SUBSTR(TEMFKEY (CNT)Y ,ZER, 1) ;

IF Ki™=0 & K2=0 THEN
DO; NUJEKI=NUJEKI+TEMPDATATI(CNT),
NUJEK2=NUJEK2+TEMFDATA2(CNT) ;
NUJEKI=NUJEKI+TEMFDATAZ(ENT) ;
END; ELSE ’
IF Ki=0 & K2=0 THEN
DO;4TE"FDRT31(CNT)“NUJEK‘i
TEMPDATAR(CNT Y =NUJEKZ;
TEMFDATAS(CNT ) =NUJEK 3,
NUJEK$ , NUJEK2, NUJEK3=0;
END;
CHT=CNT~4;

END;

CNT=SCNT; :

END READRTN; -
END SORT-RTN}‘ /Rxk%x% SORT ROUTINE END wxxxxx/

SCREEN_RTN: PROC;
DCL %1 SCREEN,

2 LINEY CHAR(88),
2 LINE2 CHAR(80),
2 LINES3 CHAR(88),
2 LINE4(206),
4 RODY ’ CHARCIT),
4 ESIGN CHAR(2),
4 DATA CHAR(44),
4 ELANK CHAR(1) .
pPCL (DATA1,DATA2,DATA3,DATA4) FIC ~m~, o ==9 ",
YYEAR . - FIC'99;
STRING(SCREEN)="' ', .
LINE4=¢12) ' *[{HS]IHEADC3)||* ' 1IHEADCI) 1" ' 1IHEADC2) I IHEAD(S) |
OV PIHEADCAY [EY *TIHEADCE2) 1Y ' L IHEADC(EOX 1 1C80Y * ‘1
HEAD(8)Y L{ESI1': "1 {HSIIHEAD(FI | IES;
YYEAR=YEAR~1; .
LINE3=(38) ' '[JYYEARII' (M) "1IHS | | SURSTR(HEADC(12) , 1,421 1EST
CRYCELY "1 THSTISUBSTR(HEADCI2) 44, Y JIESHI (O 1
) x“vﬂ__—ﬁu; " ) -
ELANK="' '; )
ESIGN=ES;

DO I=1 TO 20 WHILEC(SCONT»=CNT);
IF TEMPCHECK(CNT)™='»' THEN
DU; DATA1=TEMPDATAT (CNT);
DATAZ=TEMFDATAZ{(CNT);
DATAZ=TEMPDATAZ(CNT) ;
DATA4=TENFDATAZ(CNT)~TEMFBATAL(LNT) ;
DATA(I)=DATAt | IDATAZ| |DATA3! I DATAS,
IF SUBSTR(TEMPKEY(CNT),4,1)="90"' THEN
BODY(I)=SUBSTR(TEMFKEYU(CNT) , 1,301
HSLITEMPTITLE(CNT) ;

. ELSE
IF SUBSTR(TEMPKEY(CNT),8,1)='0% THEN
_BODY(I)m(4) ' *||SUBSTR(TEMPKEY(CNT),4,4)1|
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-

(//V : HS| | SUBSTR(TEMPTITLE(ONT), 4,25);

ELSE
IF SUBSTR(TEMPKEY(CNT),11,1)='0"' THEN
BODY(ID=(¢9) ' ' | ISUBSTR(TEMPKEY(CNT),8,3011

HSHISUBSTROTEMPTITLE(ONT), 4, 24);
END,; ELSE I=I-%;
IF I=1 THEN RCNT=CNT,
CNT=CNT+1;
END; .
EXEC CICS SEND TEXT FROM(SCREEN) NOEDIT LENGTH(1934) ERASE;
SELYO=" .
EXEC CICS SEND MAF('YSMAFA43') MAFSET('YSMAP4');
EXEC CICS RECEIVE MAP('YSMAFA3') MAPSET('YFMAFA'),
END SCREEN_RTN;
RV 2
RIGHT_RTN: PROC;
DCL. 1 SCREEN,

2 LINEY CHAR(88),
2 LINE2 CHAR(BO),
2 LINE3 CHAR(80),
2 LINE4(20),
© 4 BODY CHAR(37),
4 ESIGN CHAR(2),
4 DATA CHAR(44),
4 HLANK CHARC4 )

DCL CREASE FLOAT(16),
(DATA2,DATA4) PIC! wmmr w0,
(DATAY,DBTA3, DATAS) PIC! —~—=~9.9",
YYEAR FIC'99';

STRING(SCREEN)=' ';

LINE§=(§2) * *{IHSIIHEAD(3)}1* ‘IIHEADCIY{1* '1IHEAD(2) | IHEAD(S) |1

* CITHEADC(4X 11 CHIHEADUIOY (2 ' i
HEAD(8) 1 1ES||': '1IHSIIHEAD(?) I IES;
YYEAR=YEAR-1 ; ‘ . :
LINEZ=(39) * '11' %'H1C7) * "L{'C-B'JICa) ' "HE* Z'4¢?y ' '
'C’Q']‘(é) i) ll‘l z.;

BLANK=' ';

ESIGN=ES;

CNT,LCNT=RCNT;

PO I=1 TO 20 WHILE(SCNT>=CNT);
IF TEMPCHECK(ONT) ='#' THEN:
DO; CREASE=TEMPDATA2(CNT)-TEMPDATA1 (CNT);
IF TEMPDATA4(CNT)=0 THEN DATAI=0;
ELSE
DO; IF CREASE>O
THEN DATA4=(CREASE/TEMFDATAY (CNT)®%1000)+0.05;
ELSE DATA{=(CREASE/TEMPDATA{ (CNT)%1000}-0.05;
END,; - .
DATAZ=TEMFDATAS(CNT ) -TEMFDATAZICNT);
IF TEMPDATAZ(CHT)I=0 THEN DATA3=0;
ELSE
DO; IF DATA2)>0
THEN DATA3=(DATA2/TENPDATAR(CNT)*{000)+0.05,
EL.SE DATAZ=(DATA2/TEMFDATAZ(CNT)I*1000)-0.05;
END; '
DATA4=TEMPDATAZ(CNT)~TEMPDATAL (CNT);
IF TEMPDATA1(CNT)Y=0 THEN DATAS=0;
N ELSE
DO; IF DATA4)0
! THEN DATAS5=(DATA4/TEMPDATA1(CNT)»*{000)+0.05,
ELSE DRTA5=(DATA4/TEMPDATQ1(CNT)*iOOO)"G‘OS;/
END; : - :

J
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DATA(1)=DATA{ | IDATA2| IDATA3| | DATA4] IDATAS;
IF SUBSTRCTEMPKEY(CNT),4,1)='0' THEN
BODY(I1)=SUBSTR(TEMPKEY{(CNT},.1,3) 11
HSITENPTITLEC(CNT);
ELSE
IF SUBRSTR(TEMPKEY(CNT),8,1)='0' THEN
BODY(I)=(4) ' '||SUBSTR(TEMFKEY(CNT),4,4)}!
HS | | SUBSTR(TEMPTITLE(CNT)Y, {,25);
"ELSE
IF SUBSTR(TEMPKEYC(CNT),11,1)='0"' THEN
BODY(I)=(9) ' | |SURSTR(TEMFKEY(CNT),8,3)}|
HSIISUBSTR(TEMPTITLE(CNT) 1,24)
END; ELSE I=I-%;
CNT'CNT+?;
END;
EXEC CICS SEND TEXT FROM(SCREEN) NOEDIT LENGTH({928) ERASE,
SELIO=" '
EXEC CICS :SEND MAF('YSHMAF43') MAFSET('YSMAFP4');
EXEC CICS RECEIVE MAP('YSMAF43') MAPSETC! YSMQF4 ¥
END RIGHT_RTN;

FRINT_RTN: PROC;

PCL SCREEN CHAR(130),
BLANK CHAR(136) INIT( '3,
DOL .4 RLIST, .«
2 RTERW CHAR(4),
2 Fi CHAR(12) INIT(! ",
2 ENDLIST FIXED BINC{5) INIT(-1);
DCL (DATA1,DATA2,DATA3, DATA4, DATAS, DATAB)  PIC’ ===, ~-n, ~=9",
(DATAS, DATAT.DATAD) PIC'~,~~9.9",
(YYEAR, I, : FIC'99",
LIN% ) FPIC'99’ INIT(O);
IF SUBSTR(EIETRMID,{,2)='MC' THEN RTERM='MFT{ ',
STRING(SCREEN)=" ';
EXEC CICS ROUTE LIST(RLIST)Y; _
SCREEN=(40) * *[IHS}IHEAD(ZI)|1' 'IIHEAD(I)|}' '} IHEAD(2)1} .
JHEADCS)Ei® ' §IHEADCA) i 1' ' [IHEADCI2)[|' ' IIHEAD($0); _

SUBSTR(SCREEN, 130,1), SUBSTR(BLANK, 130, 1 )=EOL;

EXEC CICS SEND TEXT FROH(SCREEN) ACCUM LENGTH(130) ERASE
FAGING PRINT HONEOM;

SCREEN=(109) * | IHS{IHEAD(B)Y{{ESI|': '1|HS|IHEAD(9);

SUBSTR(SCREEN, 130,1), SUBSTR(KLANK, 130, 1 }=EOL;

EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130) ERASE
PAGING FRINT HONEOM; '

EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE
PAGING PRINT HONEOM;

EXEC CICS SEND TEXT FROM(BLANK) ACCUM LENGTH(130) ERASE
PAGING FRINT HONEOHM;

YYEAR=YEAR-1 ;

SCREEN=(40) ' '"IIYYEARII' <A)' 1}’ JIHS||ISURSTR(HEAD(12),4,4)11
ESII'CBY ' F1Y " IHS|ISUBSTR(CHEADC(I2) ,44,4) ) |EST|
l(c)l"(?) » ll'lB_A"'(?) L l'llz 5'1(6) ¥ l"QC,A.‘BXl‘
€23 P PR ONHIABY Y I C-ATICTY e,

SUBSTR{SCREEN, 130,1), SUBSTR(BLANK, 130, { )=EOQL
EXEC CICS SEND TEXT FRDM(SCREEN) ACCUH LENGTH(130) ERASE
PAGING PRINT HONEOM,

Do CNT 1 TO SCNT;

IF TEMPCHECK(CNT)='%' THEN

DO; DATA1=TEMPDATA{(CNT);
. DATA2=TEMFDATAZ(CNT ), [
DATAZ=TEMFDATAZ(CNT); .
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(//i DATA4=TEMFDATA2(CNT ) -TEMPDATAT (CNT) ;
DATA6=TEMFDATAS(CNT)-TEMPDATA2(CNT);
DATAB=TEMFDATAZ(CNT)-TEMFDATA$ (CNT);

IF TEMFDATA4(CNT)=0 THEN DATAS=0,
ELSE
DO; IF DATA4>0
THEN DATAS=(DATA4/TEMFDATA{(CNT)®1000)+0.05,
ELSE DATAS=(DATA4/TEMFDATAY (CNT)*1006)-0.0%5,
END;
IFf TEMPDATA2(CNT)=0 THEN DATA7=0;
’ ELSE
DO; IF DATA&0
THEN DATA7=(DATA6/TEMPDATAZ(CNT) #4000)+0.05;
. ELSE DATA7=(DATASL/TEMPDATAR{(CNT)*1000)-0.05;
END;
IF TEMPDATA{(CNT)=0 THEN DATA9=0;
ELSE

* 'DD; IF DATAB)®

THEN DATA9= (DATAS/TEMFDATQ%(CNT)*1000)+0 95 ;

. ELSE DATA9=(DATAS8/TEMFDATA1 (CNT)I*4000)-0.05;

- END;

IF SURSTR(TEMPKEY(CNT),4,1)='0"' THEN
DO; EXEC CICS SEND TEXT FROM(ELANK) ACCUM
LENGTH(130) ERASE FAGING FRINT HONEOM,
LINS=LINS+1;
IF LIN$=56 THEN CALL TITLE_RTN.
’ SCREEN=SUBRSTR(TEMFKEY(CNT),1,3) | IHS I

TEMPTITLECCNT) FIESTTY "1

DATAY | IDATAR] IDATAZ IDATA4 LY

. DATAS] IDATAS) I DATA7I IDATABI I DATA?,

END; ELSE

IF SUBSTR(TEMPKEY(CNT),8,1)='0"' THEN

DO; EXEC-CICS SEND TEXT FROM(BLANK) ACCUM
LENGTH(130) ERASE PAGING PRINT HONE.OM

LINS=LINS+1;
IF LIN$=50 THEN CALL TITLE_RTN;
SCREEN=(4) ' ’IISUHSTR(TEMPKEY(CNT) 4, 4)IIHSII

. SUBSTR(TEMFTITLE(CNT), 1,28 1 IESTH
DATAillDATA“llDATﬁBIIDATA4|l
DATAS| IDATAS{ IDATA7{ IDATABL IDATAY;

END; ELSE
IF SUBSTR{TEMPKEY(CNT),i1,1)="0"' THEN
SCREEN=(9) ' '} |SUEBSTR{TEMPKEY(CNT),8,3)1INHSI|

SURSTRCTEMPTITLE(CNT) ,1,22) 1 1ES I
DATA1{ IDATAZI IDATAZIIDATA4[
DATAS| IDATAG| IDATA?| IDATAB| | DATA?,
SUBSTR{SCREEN, 130, 1), SUBSTR{(RLANK, 130, 1)=E0L,
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGTH(130)
ERASE PAGING PRINT HONEOM;
LINS=LINS+4;
IF LIN2=50 THEN CALL TITLE_RTN;
. END; ~ , 4
END; .
DO J=1 TO 3;
EXEC CICS SEND TEXT FROH(BLANK) ACCUM LENGTH(130) ERASE
FAGING PRINT HONEOM;
- END;
SELiO=' ',
EXEC CICS SEND PAGE RETAIN:

TITLEL.RTN: FROCEDURE,
DO J=i TO {5,

N

—152—



-

EXEC CICS SEND TEXT FROM(EBLANK) ACCUM LENGTH(130) ERASE
FAGING PRINT HONEOHM;

END; .

YYEAR=YEAR-1

[

SCREEN=(40) ' 'JIYYEARI|' (A)')I' *]{HS||SUR TR(HEAD(12),4,4) 11
ESII'CEY' 11" "1 IHS| [SUBSTRCHEAD(12) 4 F ) 11ESI I
TCEITHECT) C U LE-ATTECTY  HECE L) T T C-B
(7Y Y% THICS) O HIE-ATI Ty et

SUBSTR(SCREEN, 130.,4), SUBSTR{RBLANK, 130, 4 y=EOL;
EXEC CICS SEND TEXT FROM(SCREEN) ACCUM LENGIH(130) ERASE
FAGING PRINT HONEOM; \
LINF=0, g
END TITLE_RTN;
END FRINT_RTN;

JOBEND :
EXEC CICS ENDBR DATASET('YESAN');
EXEC CICS RETURN; '

END YSPGM54;

/%

14

\
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//’ﬁ B17,86.325,13:33:48, B1,7.PROGRAM.LIBRARY (YSMAFO)

//7B1 7 JAMAFP JOB CLASS=F,MSGCLASS=X
//HAPY EXEC BMSRUN, LMER=YSMAFPO,REGION=40946K
//BMS.CARD DD *
PRINT NOGEN
MAP DFHMSD TYPE=ASYSPARM, MODE=INOUT, LANG=PLI,
CTRL=(FREEKB,FRSET), STORAGE=AUTO, TIOAPFX=YES,
EXTATT=YES,PS=X"'00"
YSMAFO DFHMDI SIZE=(2%,80),LINE={, COLUMN=1
DFHMDF POS=(4,15) ,LENGTH=32,ATTRB=PROT,
INITIALY 3963630365 36 3 3056 3636 36 36360 36 20 0 36 160696 36 3% 34 96 36 36 36 e 3¢
DFHMDF POS=(4,78) ,LENGTH={ , ATTRB=PROT
DFHMDF POS=(S,15) ,LENGTH=60,ATTRB=PROT ,PS=X'FB",
#HGA33 ° INITIAL= ' %™ WHTK XHDRARNR D&TKS DJQRAN ™#™’
DFHMDF POS=(5,78) ,LENGTH={ ,ATTRB=PROT
DFHMDF POS=(4,15),LENGTH=32, ATTRB=PROT,
INTTIAL" 56 5006563636365 36 36 36 26 36 36 06 36 36 36 6 36 36 36 36 96 36 36 3¢ 24 96 3¢ ¢ !
DFHMDF POS=(4,78) ,LENGTH={ , ATTREsPROT
_ DFHMDF POS=(8,19),LENGTH=40,ATTRE=PROT ,PS=X'F8’,
*HG/16 . "INITIAL='1. D& TKS SO DUR’
DFHMDF POS=(8,78),LENGTH={,ATTRB=PROT
DFHMDF POS=(10,19),LENGTH=40, ATTRE=PROT ,PS=X'F8"',
#HG/16 ~ INITIAL='2. WK FY DLQ FUR'
DFHMDF POS=(10,78),LENGTH=1, ATTRE=PROT
DFHMDF POS=(12,19),LENGTH=40,ATTRB=PROT,PS=X"F8',
*HG/18 INITIAL='3., CHD RHKF WJD QH'
DFHMDF POS=(42,78),LENGTH=4,ATTRB=PROT
DFHMDF POS={(316,49) ,LENGTH=10,ATTRE=PROT,PS=X'FB’,
*HG /09 INITIAL='GKDAHR : °’
NO1t DFHMDF POS=(16,31),LENGTH=1,ATTRB=(UNPROT, IO)
DFHMDF POS=(416,78) ,LENGTH=1,ATTRB=PROT
DFHMSD TYPE=FINAL
END
/%
Vg4
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//MAPY

MAP

YSMAF1
#HG /25

#HG/28

*HG/19

#HG/48

*HG/27

#HG /09
NO

/%
144

. . . .
(/’7317.86.325.13:34:00.31T.PROGRAH.LIBRARY(YSHAPi)
//7BA7JAMAP JOR CLASS=F ,MSGCLASS=X

EXEC HBMSRUN,LMBR=YSMAF{, REGION=4096K

//BMS.CARD DD =

_PRINT NOGEN :

DFHMSD TYPE=ASYSPARM, HODE=INOUT, LANG=FLI
CTRL=(FRE§KB,FRSEf).STORAGE=AUTO,TIOAFFX:YES,
EXTATT=YES,PS=X'00"

DFHMDI SIZE=(24,80),LINE=¢,COLUMN=1

DFHMDF POS=(4,23),LENGTH=24, ATTRE=PROTY,PS=X'F8"*,
INITIAL="UWHTK XHDR&RNR TPCNF TPRGKD®

DFHMDF FOS=(4,35) ,LENGTH=1,ATTRB=PROT

. DFHMDF POS=(5,23),LENGTH=24,ATTRB=PROT,

INITIAL® ' amz== =’

DFHMDF POS=(5,55),LENGTH=1,ATTRB=PROT

DFHMDF POS=(8,24),LENGTH=50, ATTRB=PROT,FS=X'F8',
INITIAL='4, XHDR& RLRHKS DNSDUD(1211)'

DFHMDF POS=(8,78),LENGTH={,ATTRE=PROT

DFHMDF POS=(10,21),LENGTH=40, ATTRB=PROT,PS=X"'F8"',
- INITIAL='2, XHDR& WHTK(4212)!

DFHMDF POS=(1@,78),LENGTH=1, ATTRE=PROY

DFHMDF POS=(12,21) ,LENGTH=40, ATTRB=PROT,PS=X'F8",
INITIAL="3. WKFY CJFL(1213)*

DFHMDF POS={12,78) ,LENGTH=1,ATTRE=PROT

DFHMDF POS=(14,21),LENGTH=50,ATTRE=PROT,PS=X'F8"',
INITIAL="4. WLQKD XHDR& TKANTH(1214)*

DFHMDF POS=(14,78),LENGTH=1, ATTRB=PROT

DFHMDF POS=(20,21) ,LENGTH=10, ATTRExPROT,PS=X'F8°,
INITIAL='GKDAHR : '

DFHMDF POS=(20,33) ,LENGTH=2, ATTRE=(UNFROT, 1C)

DFHMDF POS=(20,55),LENGTH=4,ATTRB=FROT

DFHMSD TYFPE=FINAL

END
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B17,86.325,13:34: 14, B17.PROGRAM.LIBRARY(YSHAF2)

//B{7CIMTD JOB CLASS=F,MSGCLASS=X

//MTEST3H

EXEC BMSRUN,LMBR=YSMAP2, REGION=4096K

.//BMS,CARD DD =

MAF

YSHAF 214
*HG/23

YSHAFP22

-

*HG/15
YSHMAP23
*HG/14
YSMAF24
*#HG/22
YSMAFP25
*HQ/OS

*HG/08
-YEARY

YEAR2

YEAR3

CODEOY
TITLOS
DATAO4
DATBO4
DATCO4
CODEO2
TITLOZ
DATAO2
DATRO2
DATCO2
CODE®3
TITLOZ
DATAO3
DATBO3
DATCO3
CODEO4
TITLO4
DATAGA
DATEHO4
DATCO4
CODEGS
TITLOS
DATAOS
DATROS
DATCOS
CODEOS
TITLOS
DATAGS

PRINT NOGEN
DFHMSD TYFPE=&SYSPARM,
MODE=INQUT,LANG=FLI,
CTRL=(FREEKE,FRSET),
EXTATT=YES,FS=X'00",
STORAGE=AUTO, TIDAPFX=YES
DFHMDI SIZE=(04,80),LINE={ ,COLUMN=1
DFHMDF POS=(01, 30) LENGTH-EO ATTRE=PROT,PS=X'F8',
INITIAL!'XHDR&RLRHKSDNSDUD('Zi1)'
DFHMDF POS=(01,78),LENGTH=04 , ATTRE=PROT
DFHMDI SIZE=(01,80).LINE=1)COLUHN=1
DFHMDF POS=(01,30),LENGTH=30, ATTRE=PROT ,FPS=X'F8",
INITIAL="'XHDRAWHTK(§242)" .
DFHMDF POS=(01,78),LENGTH=01 , ATTRE=PROT
DFHMDI SIZE=(01%,80),LINE={,COLUMN=1
DFHMDF  POS=(01,30),LENGTH=30, ATTRR=PROT ,PS=X'F8',
INITIAL='WKFYCJFL(4243)"
DFHMDF. POS=(01,78) ,LENGTH=01 , ATTRE=FROT
DFHMDI SIZE=(0{,80),LINE={, COLUMN=1 <
DFHMDF POS=(60¢,30),LENGTH=30, ATTRE=PROT,PS=X'F8",
INITIAL= ’QLQKDXHDR&TKANTH(1”14)'
DFHMDF POS=(01,78),LENGTH=01,ATTRE=PROT
DFHMDI SIZE= g&,BO) LINE=3, COLUMN‘
DFHMDF POS=(01,04),LENGTH=04, ATTREB=PROT, PS»X Fg*,
INITIQL='ZH EM’
DFHMDF POS=(01,16),LENGTH=08, ATTRB= PROT PS=X'F8",
INITIAL= 'AUD cLp
DFHMDF POS=(01,46) ,LENGTH=02, ATTRE=FPROT
DFHMDF POS=(01,38),LENGTH=02, ATTRR=FROT
DFHMDF POS=(01,70),LENGTH=02, ATTRE=FROT
DFHMDF POS={01,78) ,LENGTH=01,ATTRB=PROT
DFHMDF POS=(02,02) ,LENGTH=11, ATTRE=UNPROT
DFHMDF POS=(02,14),LENGTH=26, ATTREB=UNFROT,PS=X'F8’
DFHMDF FOS=(02,42),LENGTH=09, ATTRB=UNPROT,
DFHMDF POS=(02,54) ,LENGTH=09, ATTRE=UNPROT
DFHMDF P(OS=(02,66) ,LENGTH=09, ATTRE=UNPROT
DFHMDF POS=(03,02) ,LENGTH=11,ATTRB=UNPROT
DFHMDF POS=(03,14),LENGTH=24, ATTRE=UNPROT,PS=X" FB’
DFHMDF POS=(03,42) ,LENGTH=07, ATTRB=UNPROT
DFHMDF POS=(03,%54),LENGTH=69, ATTRE=UNPROT
DFHMDF POS=(@3,66),LENGTH=Q9,QTTRB=UNPROT
DFHMDF POS={(04,02) ,LENGTH=11, ATTRB=UNPROT )
DFHMDF POS=(04,14),LENGTH=26, ATTRB=UNPROT,PS=X'F8"
DFHMDF POS=¢04,42),LENGTH=0%, ATTRE=UNPROT
DFHMDF POS=(04,54),LENGTH=0%9, ATTRB=UNPROT
DFHMDF POS=(04,64), LENGTH=0?, ATTRB=UNPROT
DFHMDF POS=(05,02) ,LENGTH=11, ATTRB=UNFROT

DFHMDF POS=(05,14) ,LENGTH=26, ATTRB=UNPROT,PS=X'F8"

DFHMDF POS=(05,42),LENGTH=07, ATTRB=UNPROT
DFHMDF POS=(05,54),LENGTH=09, ATTRE=UNPROT
DFHMDF POS=(05,66) ,LENGTH=09, ATTRB=UNPROT
DFHMDF POS=(06,02) ,LENGTH=11, ATTRB=UNPROT
DFHMDF POS=(06,14) ,LENGTH=26, ATTRB=UNPROT,PS=X"'F8"

.DFHMDF POS§S=(06,42) ,LENGTH=09, ATTRE=UNPROT

DFHMDF POS=(06,54) ,LENGTH=09, ATTRB=UNPROT
DFHMDF POS=(06,64) , LENGTH=0?, ATTREB=UNPROT
DFHMDF FOS=(07,02),LENGTH=11, ATTRR=UNPROT

DFHMDF POS=(07,14) ,LENGTH=26, ATTRB=UNPROT ,PS=X'F8'

DFHMDF POS=(07,42),LENGTH=09, ATTRB=UNPROT = [y
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DATEO6
DATCOS
CODEO7
TITLO?
DATAO?
DATEO?
DATCO?
CODEOS
TITLOB
DATAOB
DATEOB
DATCO8
CODEOS
TITLOY
DATAG?
DATRO®
DATCO?
CODE{0
TITLIO
DATA1O
DATE{ 0
DATC10O
CODE1 14
TITL{4
DATATY
DATE 4
DATCH 1
CODE+2
TITLY2
DATA12
DATBY2
DATCY2
CUDE{ X
TITL13
DATA1 2
DATRY 3
DATCi3
CODE{ 4

TITL14

DATA{I 4
DATE{ 4
DATCH4
CODELS
TITLYS

DATA{S

DATEIS
DATCHS
CODESS
TITLi6
DATA1S
DATBI4
DATCi &
CODE{ 7
TITL?
DATALY
DATE17
DATCH?
CODEYB
TITLYS
DATAIB
DATE{ B
DATC1 8

DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHNDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDP
DFHMDF

* DFHMDF

DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF
DFHMDF

POS=(07,54) , LENGTH=09, ATTRE=UNPROT
POS={07,66) ,LENGTH=0%, ATTRE=UNFROT
PQF=(08,02) ,LENGTH=11, ATTRE=UNFROT
FOS=(08,14) ,LENGTH=26, ATTRE=UNPRQT ,FS=X'F8'
POS=(08,42) ,LENGTH=0%, ATTRE=UNPROT
POS=(08,54) , LENGTH=09, ATTRE=UNFROT
POS=(08,64) , LENGTH=09, ATTRE=UNPROT
POS=(69,02) ,LENGTH=14 ,ATTRE=UNPROT .
FOS=(69,14) ,LENGTH=26, ATTRE=UNPROT,PS=X"F8’
POS=(09,42) ,LENGTH=0%, ATTRE=UNFROT
POS=(09,54) ,LENGTH=09, ATTRE=UNPROT
FOS=(0%,66),LENGTH=09, ATTRB=UNPROT
POS=(10,02) ,LENGTH=1{, ATTRE=UNPROT
BOS=(10,14) ,LENGTH=26, ATTRE=UNPROT ,PS=X'F8'
POS=(10,42) ,LENGTH=0%, ATTRE=UNPROT
PDS*(iO;SA),LENGTH=99.QTTRB“UNPROT
POS=(10,66),LENGTH=0%, ATTRE=UNPROT
POS=(14,02) ,LENGTH=11, ATTRE=UNPROT

POS= (41,144}, LENGTH=26, ATTRE=UNPROT,PS=X'F8'
POS=(11,42) ,LENGTH=09, ATTRB=UNFROT
POS=(11,54), LENGTH=0%, ATTRE=UNFROT
POS=(11,66),LENGTH=0%, ATTRE=UNFROT
POS=(12,02) ,LENGTH=11, ATTRE=UNFPROT
POS=(12,14) ,LENGTH=26, ATTRE=UNFROT ,PS=X"'F8"
POS=({2,42), LENGTH=0%, ATTRE=UNFROT
POS=(12,54),LENGTH=09, ATTRE=UNFROT
POS=(12,66) , LENGTH=09, ATTREB=UNPROT
POS=(13,02),LENGTH=11 /ATTRB=UNFROT
POS=(13,14),LENGTH=26, ATTRE=UNPROT,PS=X'F@8'
POS=(13,42) ,LENGTH=09, ATTRE=UNPROT
POS=(13,54),LENGTH=0%, ATTRE=UNFROT
POS=(13,66) ,LENGTH=09, ATTRE=UNFROT
POS=(14,02) ,LENGTH=11, ATTREB=UNPROT
PDS=(14,14),LENCTH=24, ATTRE=UNPROT, PS=X" FB’
POS=(14,42) ,LENGTH=09, ATTRE=UNPROT
PDS=(14,54),LENGTH=09,ATTREﬂUNPROT
POS=(14,464) ,LENGTH=0%, ATTRE=UNFROT
POS=(15,02) ,LENGTH=11, ATTRE=UNPROT
POS=(15,44) ,LENGTH=24, ATTRE=UNPROT, PS=X'F8"
POS=(15,42) ,LENGTH=09, ATTRE=UNPROT .
FPOS=(15,54) ,LENGTH=09, ATTRE=UNPROT
FOS=(15,64),LENGTH=09, ATTRE=UNFROT
POS=(146,02) ,LENGTH=11, ATTRE=UNPROT
POS=(16,14) ,LENGTH=26, ATTRB=UNPROT ,PS=X" F8'
POS=(16,42),LENGTH=09, ATTRB=UNPROT _
POS=(16,54) ,LENGTH=0%, ATTREB=UNPROT
POS'(16.66).LENGTH=09,ATTRB=UNPROT

POS=(17,02),LENGTH=11, ATTRE=UNFROT

POS=<17,14) ,LENGTH=26, ATTRB=UNPROT , PS=X"'FB8"’
POS=(17,42) ,LENGTH=09, ATTRB=UNFROT
POS=(17,54) , LENGTH=0%, ATTRE=UNPROT
POS=(17,66),LENGTH=09, ATTRR=UNPROT
POS=¢18,02),LENGTH=11, ATTRE=UNFROT
POS=(18,14), LENGTH=24, ATTRB=UNPROT, PS=X"FB*
PDS=(18.42).LENGTHﬂO?.ATTRB=UNPROT
POS=(18,54),LENGTH=09, ATTRE=UNFROT
POS=(18,468) ,LENGTH=09, ATTRE=UNFROT
POS=(19,02) ,LENGTH=11, ATTRB=UNPROT
POS=(19,14) ,LENGTH=26, ATTRE=UNPROT ,FS=X'F8"
POS=(19,42) ,LENGTH=09, ATTREB=UNFROT
POS=(19,%4) ,LENGTH®09, ATTRE=UNFPROT
FOS=(19,664) ,LENGTH=09, AT TRE=UNFROT
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DFHMDF POS=(20,02) ,LENGTH=06,A1TRB=PRO, PS=X'F8’,

*HG/07 INITIAL="TJSXOR:’
NUM DFHMDF POS=(20,10) ,LENGTH=12, ATTRE=(UNFPROT, IC)
DFHMDF FOS=(20,24),LENGTH=50, ATTRE=PROT,PS=X'F8",
*HG/36 INITIAL='"M="CJFL “U="DNL “B="DKFO “Da""TKRWF'
DFHMDF POS=(21,24),LENGTH=50,ATTRR=PROT ,PS=X"'F8',
#HG/37 INITIAL=""K="ZHEM “I="DLQFUR "Y="SUSEH “E="¢MX"'

ERMIG DFHMDF POS=(22,02) ,LENGTH=40 , ATTRE=UNPROT
DFHMSD TYPE=FINAL
END

Ia.
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317,06.325,13?34:21,3175PRUGRAM.LIHRARY(YSMAPJ)

//BiTJANAP JOB’ CLASS=F,MSGCLASS=X
//HAPY EXEC BMSRUN, LMER=YSMAP3,REGION=4096K
//BM8 .CARD DD »*
PRINT NOGEN
MAF DFHMSD TYPE=ASYSFPARM, MODE=INOUT, LANG=PLI,
: CTRL=(FREEKB,FRSET) , STORAGE=AUTO, TIOAFFX=YES,
EXTATT=YES,PS=X'00*.
YSMAP3 DFHMDI SIZE=(24,80),LINE=1,COLUMN=1
DFHMDF POS=(2,23) ,LENGTH=26, ATTRE=PROT ,PS=X'F8*,
#HG/15 INITIAL='CHD RMKF WJD QW' .
DFHMDF POS=(2,55) ,LENGTH={ , ATTRB=PROT
DFHMDF POS=(3,23) ,LENGTH=14,ATTRB=PROT,
INITIAL= 'saznzexsassasnes ! :
DFHMDF POS=(3,55) ,LENGTH={ ,ATTRB=PROT
: DFHMDF POS=(5,10),LENGTH={2, ATTREB=PROT,PS=X'F8',
*HLG/ 44 INITIAL='TLUWKRSUS +
FROMY DFHMDF. POS=(5,30),LENGTH=2, ATTRB= (UNPROT, IC)
DFHMDF POS=(5,78) ,LENGTH=1, ATTRB=PROT
DFHMDF POS=(4,10),LENGTH=12,ATTRB=PROT,PS=X'F8",
*HG/10 . JINITIAL='GUS SUS : '
YYEAR DFHMDF POS=(6,30) ,LENGTH=2, ATTRE=UNFPROT
. DFHMDF POS=(4,78),LENGTH=1, ATTRB=PROT
DFHMDF POS=(7,10), LENGTH*‘2 ATTRB=PROT, PS“X F8°',
#HG/12 INITIALa'CHLUHDSUS t !
TOY DFHMDF P0OS=(7,30),LENGTH=2, ATTRE=PROT
DFHMDF POS=(7,78),LENGTH=1 ,ATTRE=PROT
DFHMDF POS=(95:10) LENGTH=12 ﬁTTRB'PROT PS‘X’FS'
RHG/14 INITIAL='GHKS DBF : °*
DFHMDF POS=(08,78) ,LENGTH=1 , ATTRE=PROT.
~YEAROS DFHMDF POS=(10,14) ,LENGTH=2, ATTRB=PROT
DOLLOY DFHMDF POS=(10,24),LENGTH=?, ATTRB=UNPROT
YEARO2 DFHMDF POS=({1,14),LENGTH=2,ATTRB=PROT
DOLLOZ2 ~ DFHMDF POS=({4,24),LENGTH=9, ATTRE=UNPROT '
YEAROZ DFHMDF POS=({13,14),LENGTH=2,ATTRE=PROT
DOLLe3 DFHMDF POS=(43,24) ,LENGTH=9, ATTRB=UNPROT
YEAROA4 DFHMDF POS=(14,44),LENGTH=2, ATTRE=PROT .
DOLLOA DFHMDF PDS'(14,24) LENGTH=9, ATTRB=UNPROT &
YEAROS DFHMDF POS=(14,14), LENGTH=2,RTTRB=PROT ’
DoL.LoOS 'DFHHDF_PDS$(16,24),LENGTH=9.ATTRB=UNPRDT .
YEARGS DFHMDF POS=(17,14),LENGTH=2, ATTRB=PROT
DOLLOS DFHMDF POS=(17,24),LENGTH=9,ATTRB=UNFROT .
YEARO7 = DFHMDF POS={(19,14),LENGTH=2,ATTRB=PROT .
DOLLO7? DFHMDF POS=(419,24) ,LENGTH=9, ATTRE=UNPROT
YEARGSB DFHMDF P0OS=(20,44) ,LENGTH=2, ATTRB=PROT
DpoLLO8 DFHHDF POS=(20,24),LENGTH=?, ATTRB=UNPROT
YEARO® DFHMDF - POS=(22, 14) ,LENGTH=2, ATTRB=PROT .
DoLLo? DFHMDF POS={22,24),LENGTH=9, ATTRE=UNPROT
YEAR{ O DFHMDF POS“!23,14)fLENGTH=2,ﬁTTRB=?RBT
boLLie DFHMDF POS=(23,24),LENGTH=9, ATTRB=UNPROT
DFHMDF POS=(23,55),LENGTH=1, ATTRB=PRO?
DFHMSD TYPE=FINAL
END
/% -
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B17,86.325,13:34: 31,47, PROGRAM.LIBRARY (YSHAPA)

//BY7CIMTD JOB CLASS=G, MJGCLASS=X

//HTEST3

EXEC BMSRUN,LMBR=YSHAF4,REGION=4096K

//BMS.CARD DD =

MAP

YSMAP4 4

*#HG/19

*HG/18.

*HG/33
*HG/25
*HG/25
*HG/33
#HG /31
#HG/23
*HG/22

*HG/31
YSMAPAZ
#HG/10
SEL

*HG/10
SEL2
YSMAFPA43

SEL

/
144

FPRINT NOGEN

DFHMSD TYPE=&SYSPARM,
MODE=INOUT,LANG=FLI,
CTRL=(FREEKB,FRSET),
EXTATT=YES,PS=X'00",
STORAGE=AUTO, TIOAPFX=YES

DFHMDI S1ZE=(23,80),LINE=4,COLUMN=1

DFHMDF POS=(03,07),LENGTH=40, ATTRB=PROT, PSuX'F8",
INITIAL='"A.~ DYRN ALC WHWJD'

DFHMDF POS=(03,78),LENGTH=01, ATTRE=PROT

DFHMDF POS=(04,07),LENGTH=40, ATTRE=PROT ,PS=X'FB’,
INITIAL='"B." GHKRWJD D&TKS'

DFHMDF POS=(04,78),LENGTH=01, ATTRE=PROT

DFHMDF POS=(06,13),LENGTHu38', ATTRE=PROT, PS=X'F@',
INITIAL="4. TPGKD TPTPGKD AHRQUF CHDRHKFVY!'

DFHHDF POS=(06,79),LENGTH=01, ATTRB=PROT

DFHNDF POS=(07,13),LENGTH=40, ATTRB=PROT,PS=X'F8",

' INITIAL='2, TPGKD AHRQUF CHDRHKFVY'

DFHMDF P0S=(07,7%) ,LENGTH=01, ATTRB=PROT" :

DFHMDF POS§=(08,13) ,LENGTH=40, ATTRB=PROT,PS=X'F8",
INITIAL="3, AHR TPGKDQUF CHDRHKFVY'

DFHMDF POS=(08,79) ,LENGTH=01 , ATTRE=PROT

DFHMDF POS=(09,13) ,LENGTH=40, ATTRB=PROT, PS=X'F8’,
INITIAL='4. AHR TPGKD TPTPGKDQUF CHDRHKFVY'

DFHMDF POS=(09,79),LENGTH=01, ATTRB=PROT

DFHMDF POS=(10,{3),LENGTH=40, ATTRB=PROT,PS=X'F8"',
INITIAL='5. TPGKD TPTPGKD AHRQUF SODURVY'

DFHMDF POS=(10,79),LENGTH=01, ATTRB=PROT

DFHMDF POS=(11,13),LENGTH=40,6ATTRB=PROT,PS=X"'FB",
INITIAL='6. TPGKD AHRQUF SODURVY'

DFHMDF POS=(11,79),LENGTH=01, ATTRB=PROT

DFHMDF POS=(12,13),LENGTH=40, ATTRB=PROT, PS=X‘F8'.
INITIAL='7. AHR TPGKDQUF SODURVY'

DFHMDF POS=(12,79),LENGTH=04 , ATTRE=PROT

DFHMDF POS=(13,13),LENGTH=40,ATTRB=PROT, PS=X'F8',
INITIAL='8. AHR TPGKD TPTPGKDQUF SODURVY'

DFHMDF. POS=(13,79),LENGTH=04, ATTRE=PROT

DFHMDI SIZE=(01,80),LINE=24,COLUNN=1

DFHMDF POS=(01,07) LENGTH=12,ATTRB=PROT, PS-X'FB'
INITIAL="TJSXORY @ *

DFHMDF P0S=(01,21) ,LENGTH=01 , ATTRB=(UNPROT,IC) «~

DFHMDF POS=(01,23),LENGTH=01

DFHMDF POS=(01,29),LENGTH=12, ATTRB=PROT,PS=X'F8’,
INITIAL="TJUSXOR2 : '

DFHMDF POS=(01,43),LENGTH=01, ATTRB=UNPROT

DFHMDI SIZE=(01,80),LINE=24, COLUMN=1

DFHMDF POS=(01,05),LENGTH=064, ATTRE=PROT,
INITIAL= ' ===zzs) :

DFHMDF POS=(04,13),LENGTH=01, ATTRE= (UNPROT, IC)

DFHMSD TYPE=FINAL

END

e
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